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308 XXM SOIA 14,000 0 14,000
13 SO 2SS & X 2AS A I 14,000 0 14,000
OEEsrdsai=x
14,000,000+ 13 14,000 0 14,000
SE EsY 1,242,058 783,520 458,533
= 419,500 185,500 234,000
= 822,558 598,020 224,538
HsHE FHNE 1,242,058 783,520 458,538
< 419,500 185,500 234,000
= 822,558 598,020 224,538
HAsHE SN2 260,058 256,520 3,533
201 Zet2d] 16,320 12,240 4,080
2 s5=234l 4,080 0 4,080
Ootsg 2Xl2el HI(EhH, & W)
170,000& x24 % 4,080 0 4,080
307 212+0l1H 10,500 14,700 A4,200
02 LB HAIHE X 10,500 14,700 24,200
OHsHEL S5E a0l A3
ZE 3,000,000 <44 A%70% 8,400 12,600 24,200
405 THaHE S| 3,658 0 3,658
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S QIPHENE
Hu: =& 0l2Sy
ool AsHE FHA (el mel)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
01 RAUSZF S| 3,658 0 3,658
OotEY JHE 7Y ¥ A 3,658 0 3,658
O 0Hl0421 620, 00024%2CH 1,240 0 1,240
ONIE] 649,000+ 1CH 649 0 649
OdmD 499, 00024 +1CH 499 0 499
OJtAIRIX 300,002 1CH 300 0 300
o= 970, 00024 1CH 970 0 970
=0l HHEH 2Y 207,000 182,000 25,000
401 AlEHIL L] 3,000 7,000 25,000
01 Al 3,000 7,000 25,000
OYANSET BEHY DA
25,000,000+ 15} 25,000 0 25,000
HLE 012 NIZIGHRA (S0} XIRAIY 280,000 0 280,000
= 84,000 0 84,000
2 196,000 0 196,000
401 AlEHIL L] 280,000 0 280,000
= 84,000 0 84,000
2 196,000 0 196,000
01 Al&tt] 280,000 0 280,000
OMZBI2A(RIE 22282 X
70,000,000 +45 280,000 0 280,000
= 84,000 0 84,000
2 196,000 0 196,000
= X% A0r2II(SHI) 150,000 0 150,000
= 150,000 0 150,000
401 AlEHI L2 CHH] 150,000 0 150,000
= 150,000 0 150,000
01 Al 150,000 0 150,000
O X% &0K2I| 012 Z&(ZH)
50,000, 000%4+13] 150,000 0 150,000
= 150,000 0 150,000
HPES(Q12H T2 180,634 0 180,634
EEN 180,634 0 180,634
SHNE 180,634 0 180,634
802 BI&1 2| El 180,634 0 180,634
NEREEETEE 2,540 0 2,540
O3 ASHE SAKBAY 24| D
o 9! O|Xt 2,530,83021%18] 2,540 0 2,540
@ Al- SHIEESEES 178,004 0 178,004
O3 AESL - OREIIE 22Xl X
ArR SHI ZEEes 9 0|Xt
2,002, 12021%18] 2,08 0 2,08
020234 FE HIX FHY| VA SH|
Zazroy 9 0|Xf 6,254,830%1+13] 6,255 0 6,255
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2A:

HE: HRES(PHEANUDY)
Sl 2HAE EERE)
SA-ZE - SA(FAH) - NISAY - BES Oi &F2H N3 A Hws2
020233 MEE 2e=XE NAY &
bl AR o O|Xt 79,093,2902! %13 79,004 79,094
O3 i 5IYCIYE STAIY CHl &
Zro4 gl 0| Xt 2,138,01024%15] 2,139 2,139
OB HERS HEX0E VA EH|
@AM QO R 11,574,0102 %18 11,575 11,575
O3 Ms HATSH A3 AIY EH|
Zgxion o OfRt 10,077,800 %13 10,078 10,078
O M8 HATSH B3 AFY S
SRSV PY 4,013, 12021%13] 4,014 4,014
02022 2A0{Y BXMAF XA TH| Dz
% 9l O|R 1,715,26021%13] 1,716 1,716
02023 2018 BEMAF XA TH| D
% 9l O|Xt 10, 158,52024%15] 10,159 10, 159
02023 HsHE SAXBAL TH T
% 9l O|Xt 507,96021%15] 508 508
OB ASA0IE LSS NVAY S8l &
#xal g o| Xt 16, 1602 %13] 17 17
O3 PSL0IE HSOLS LAY &
bl AR & O|Xt 15,0402 %13 16 16
O3 FLUIN AOHRI| A TH DR
% 9l O|Xt 1,309,0702%13] 1,400 1,400
02244 AS0{AHZQ 24 HES} N
APR) TH| ZBEH Q0K
38,719,70024 13 38,720 38,720
O3 XIAS3IEHIX F=OFX AL
S ZEIo 9 OR
10,309, 40024 %15 10,310 10,310
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H £ 0l & AF & S

Al A

0248 =g 2 3| LBta &Ml 2024-09-09 15:24:17
2L Z28EZ0
M FHEE L3t
SRt Algl 2EH2 MHIA 23 (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
THEZ N 5,799,701 5,474,971 324,730
£ 28,600 28,600 0
S 24,008 16,133 7,875
s 5,747,093 5,430,238 316,855
THEE 23 2,145,679 2,109,079 36,600
Atal 2HAHI2E MBI 25t 379,368 342,768 36,600
NSEE E435t 347,968 320,968 27,000
201 Let2 ] 190,668 183,668 7,000
01 AFS2t2ltl 168,400 161,400 7,000
Olger==8Hl] 157,400 150,400 7,000
o=z & F2E 25(82) 4 W
7,000,000 13! 7,000 0 7,000
308 XXM SOOI 70,000 50,000 20,000
13 S 2 SONHEHE & E A A 70,000 50,000 20,000
ONd== tsE28 M
20,000,000& =13 20,000 0 20,000
NS NEEHZE 29 31,400 21,800 9,600
301 LEEEZ 26,400 16,800 9,600
14 J|EtE &S 26,400 16,800 9,600
ONS MIEZEHZ s XS (U0
Z& 110,000 202! 122 26,400 16,800 9,600
FESH olxei=x 1,083,491 950,441 133,050
= 19,062 11,187 7,875
= 1,064,429 939,254 125,175
FESA D&t 991,493 905,693 85,800
FESHAE |2l 241,460 209,960 31,500
401 AIEHIZL 2 OHYI 21,500 0 21,500
01 AlZHI 21,500 0 21,500
OSYH IASOAAE “SZH(2E) wil
2,687,500 +8JH 2 21,500 0 21,500
405 KHAHF SH 48,400 38,400 10,000
01 AR EEFSHI 48,400 38,400 10,000
OHHLAAX ¥ HASSARIX WA
2,000, 0002 *5CH 10,000 0 10,000
F2SAY 29 2l 675,246 620,946 54,300
201 LBt 622,961 568,661 54,300
02 2324l 622,961 568,661 54,300
O[2Z2=LHIAl] 622,961 568,661 54,300
OSEHAIMAAE 0182
2 & 5,500,000& 122 66,000 48,000 18,000
OB ELHNHIA MBS
8,250& 1, 100CH =42 36,300 0 36,300
St =4 91,998 44,748 47,250
= 19,062 11,187 7,875
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FA 2EE2
g JESA olEeta=R
el SeEd &4 (Gt H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
= 72,936 33,561 39,375
sHENS ZUSY 2= 47,250 0 47,250
T 7,875 0 7,875
[ 39,375 0 39,375
402 21I2HXH2 01 & 47,250 0 47,250
& 7,875 0 7,875
= 39,375 0 39,375
01 QIZIXHZ2 AL 2 (KM TH ) 47,250 0 47,250
Os0ESHUY 2EAY
5,250,000 90 & 47,250 0 47,250
= 7,875 0 7,875
z 39,375 39,375
2018t 25 1,110,148 1,151,648 A41,500
s 28,600 28,600 0
T 4,946 4,946 0
= 1,076,602 1,118,102 A41,500
dHIE 29 1,022,732 1,064,232 A41,500
s 28,600 28,600 0
= 994,132 1,085,632 A41,500
S&0I0IE € CIOIE DIt S 260,300 301,800 A41,500
207 A1 ] 236,500 300,000 63,500
02 H&HHEH] 236,500 300,000 63,500
ogez HoIHZAE 2=
38 236,500,000 %12 236,500 300,000 63,500
401 AlZHIL 2 0HY] 22,000 0 22,000
01 Al 22,000 0 22,000
OZeT HOIHSRE 75 JI= SAF
22,000,000 12 22,000 0 22,000
DEARZ JIRH 2l 389,400 370,820 18,580
JEAE JIFH 243 389,400 370,820 18,580
UEAY JIFH 29 389,400 370,820 18,580
201 LeH2aY| 268,920 253,920 15,000
01 At 2teltl 268,920 253,920 15,000
Of«et+=2dl] 15,000 0 15,000
OLSANEIIFH 423 7L
20,0002 *55*503] 5,000 0 5,000
Ogax USMIIFH =S 82
1,000,000 102 10,000 0 10,000
202 0| 10,800 4,800 6,000
01 2oL 10,800 4,800 6,000
OUEMNHIIFS HFFE 0l
23 30,0002 *321x120& 10,800 4,800 6,000
207 A EH] 19,580 22,000 A2,420
01 ¢35l 19,580 22,000 N2,420
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2L Z28EZ0
S JSAE JIFH 2t
Selr DAY JI1RH 2435t (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
OLEAZIIRH 23 838 =
Z & 19,580,000&+12 19,580 22,000 A2,420
Hees(Zgs2) 1,004,743 826,743 178,000
LIRHHXKIS(DEAZI IS E2E) 1,004,743 826,743 178,000
HEHHRIS(LEANZIIS2E) 1,004,743 826,743 178,000
UVAPI=ESE4=] 1,004,743 826,743 178,000
01 JISdE=2 1,004,743 826,743 178,000
OLEANZIISHES
ZE 1,004,743,0002+13] 1,004,743 826,743 178,000

_17_



20248 =Z 2 3| LEta|H &

A 2 o & A

2024-09-09 15:24:17

Al A

A MR H
3 SFotl SZE HAE =29
ol SEot FYe NE=2E (SH9 H2)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
NI 3] H 6,109,947 5,970,605 139,342
= 73,027 73,027 0
< 110,000 70,000 40,000
s 5,926,920 5,827,578 9,342
4ot SEE HAE 29 1,015 898,015 43,000
= 73,027 73,027 0
[ 110,000 70,000 40,000
= 757,988 754,988 3,000
S&otn Fdet NE=2g 794,315 751,315 43,000
= 73,027 73,027 0
< 110,000 70,000 40,000
s 611,288 608,288 3,000
HEHQI NYME2Y 231,421 188,421 43,000
[ 60,000 20,000 40,000
= 171,421 168,421 3,000
101 QI24H| 40,000 20,000 20,000
< 40,000 20,000 20,000
M IRNZZ2NSE S 40,000 20,000 20,000
OXIZAl At=2te| EAF 12
& 11,729.8R+8AI2Hx2H+1802 33,782 16,891 16,891
[ 33,782 16,891 16,891
OXIZAl At=2te] ZAHY 401 288
23 31,813,332 *12% 3,818 1,909 1,909
(= 3,818 1,909 1,909
OXIZAl At=2t2] ZAFY O]
Z& 10,0003 28120 2,400 1,200 1,200
& 2,400 1,200 1,200
202 Ot 24,600 4,600 20,000
< 20,000 0 20,000
o 4,600 4,600 0
04 =XIS+0IH] 20,000 0 20,000
O XNLAME =2 HHHA
2,000,000 * 10 20,000 0 20,000
[ 20,000 0 20,000
303 ZA=2 3,000 0 3,000
01 Z&Z 3,000 0 3,000
Os2HMag=z & 8 ME =+ 24
= 3,000,000 13 3,000 0 3,000
SEXOI THatae| 3,036,503 2,940,297 9,206
3% Matze] 1,037,546 998,340 39,206
SEMAt2e 1,037,546 998,340 39,206
201 fet= 3| 36,546 31,340 5,206
01 AtR2t2l] 33,736 29,850 3,886
Olget+=3tl] 28,336 24,450 3,886
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M N3
M SEFOI THar2te]
o2l 3R THat2e| (SH9 H2)
SA-ZE - SA(FAH) - NISAY - BES Ofl kel N3 A Hwsz2
OZBRMLH I 2EHE I} =2
28 400,000 »3221 12,800 10,000 2,800
O XX M R01AH H =22
165,000 *4JH 2 660 0 660
OZZEH SZHEH CTIV 88 =52
106,330 *4IH & 426 0 426
02 E324H| 2,810 1,490 1,320
Olz=23 ¢ HAl 2,810 1,490 1,320
OEZEH gEHy MIIRS
300,000 & x4 & 1,200 0 1,200
OGEH SYHH &2
30,000 *4H & 120 0 120
401 AlEHIL20HY] 985,000 965,000 20,000
01 AI&HI 978,000 958,000 20,000
O3 F M A FY|
Z& 4,000,000 73] 28,000 8,000 20,000
405 XHobE S| 14,000 0 14,000
01 AL =S SH = 14,000 0 14,000
OSXEH sddy E017L
14,000,000 *1JH 2 14,000 0 14,000
WES HALR2ZE 1,998,957 1,941,957 57,000
EAAIEE 22 1,995,237 1,938,237 57,000
201 LBr23| 1,488,071 1,480,071 8,000
01 ArR222lt| 178,590 170,590 8,000
olger==gdl] 178,590 170,590 8,000
O EAL A2l - AL & &4 o
LHER M2 2,000,000 *4JH 2 8,000 0 8,000
405 XHAHESH 119,000 70,000 49,000
01 AL S SH =S| 119,000 70,000 49,000
OARA &I 2 (YY)
Z& 170,000 15004 25,500 15,000 10,500
OAIR4! &I 2 OHBIR)
Z & 250,0002 10004 25,000 13,000 12,000
OAIRAl JI| R (EX S)
Z& 415,000& %1004 41,500 15,000 26,500
HRES (MBS H D) 136 0 136
BEXE 136 0 136
BAXE 136 0 136
802 Btz DJ|E 136 0 136
01 =z NEASEES 87 0 87
020233 & HEFEZAIDIE AL =4I Ol Xt
86,330&*13] 87 0 87
02 Al - THIEZ3EE= 49 49
O20283E3 T XILAE SEEI AAIEHl &HI
Ol Xt 48,4303 %13] 49 0 49
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0248 =g 2 3| LBta &Ml 2024-09-09 15:24:17

H & 0l & AHS B Ml A

A QLS
M F0HO RIRAMHIA HB
Cel: DHSAO| CIAEH (CH9: &S1)
SA - B BR(S) - HRAY - BAS o v o H o HmS2
QIRASDH 3,421,017 3,118,018 302,999
= 518,155 518,155 0
& 9,500 9,500 0
= 2,893,362 2,590,363 302,999
F0IHo QIAMHIA HIB 814,933 814,133 800
= 42,650 42,650 0
= 772,283 771,483 800
DAMSHO| DIAHF 334,410 333,610 800
= 42,650 42,650 0
= 291,760 290,960 800
NEsge=s 155,838 155,038 800
405 AHAHESH 44,990 44,190 800
01 TR ESF SHI 44,990 44,190 800
OIZXIs(Al) SHAD| 7
400,000 +2JH 2~ 800 0 800
A=5dE 29 72,7% 72,7% 0
=610 SEHA 47,625 47,625 0
201 L2 45,385 45,385 0
01 AtR22te|Hl 24,800 34,000 A9,200
Olger==gHl] 24,800 34,000 29,200
OAU=5IIt HEXRAL A2
Z& 200,000 1002 %20% 4,000 10,000 26,000
OAMEBSQ SEXZA BAle2
ZE 200,000 13024 *80% 20,800 24,000 23,200
02 S22l 20,585 11,385 9,200
os22%tl] 20,585 11,385 9,200
Od=QI5I SAl RE=
ZE 2,5003#8,2341 20,585 11,385 9,200
345t §8Hel EX2el 1,890,821 1,590,821 300,000
= 405, 160 405,160 0
= 1,485,661 1,185,661 300,000
AP =X HAE2E 1,873,581 1,573,581 300,000
= 405, 160 405,160 0
= 1,468,421 1,168,421 300,000
OXgX® 2= 1,113,871 813,871 300,000
401 AIEHIZL 20HY 1,000,000 700,000 300,000
01 Al&H| 1,000,000 700,000 300,000
OXNETHEAMMNY ZEZ =N
Z& 1,000,000,000&*13] 1,000,000 700,000 300,000
Hes(AAS 2,19 0 2,19
BHEXE 2,19 0 2,19
SENS(LUFASEN) 2,19 0 2,19
802 g+&t=JIEt 2,19 0 2,19
01 2 NBxIPHE= 2,178 0 2,178
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H £ 0l & AF & S

Al A

248 =8 2 2 LRSI A 2024-09-09 15:24:17
A HEALRL
M 2 RS
ol 2FEE 0BHE EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
AR} 37,060,028 34,784,444 2,275,584
= 260,683 154,983 105,700
) 1,720,513 1,720,513 0
< 6,044,257 5,634,257 410,000
CH 200,000 200,000 0
= 28,834,575 27,074,691 1,759,884
2 AS 6,481,168 6,172,168 309,000
Jl 36,000 36,000 0
< 323,016 123,016 200,000
CH 200,000 200,000 0
s 5,922,152 5,813,152 109,000
2ZEE OBIE 3,601,328 3,594,468 6,860
[ 88,016 88,016 0
CH 200,000 200,000 0
= 3,313,312 3,306,452 6,860
St &It 24 240,200 240,200 0
307 2IZto1 ™ 20,400 20,400 0
02 QIZHBAMAHEE 10,000 8,400 1,600
Ot Es2E3
Z& 2,500,000 42 10,000 8,400 1,600
05 BItRAEZ 10,400 12,000 21,600
O=2zt&Zoli &t A=
2 2,600,000 %43 10,400 12,000 21,600
2ot A 2d 18,840 21,980 23,140
405 AtatE = 1,860 5,000 23,140
01 Tt =S F=H 1,860 5,000 A3,140
Ot 2H2oHHA 29 HIZ 2
& 372,000&+53 1,860 5,000 23,140
ZETSAY XA 57,900 47,900 10,000
207 ARl 10,000 0 10,000
01 HESHI 10,000 0 10,000
Odgol 243 defg
10,000,000 13 10,000 0 10,000
SRS gt 22 A 200,000 200,000 0
< 60,000 60,000 0
= 140,000 140,000 0
201 fet= 3| 100,000 0 100,000
< 30,000 0 30,000
= 70,000 0 70,000
03 A2 I 100,000 0 100,000
OTZATE 6 2ZEA HE AL (A
29) 100,000,000& 12 100,000 0 100,000
[ 30,000 0 30,000
= 70,000 0 70,000

N
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2A:
X XH -
o e

=aak

[
1

=

iR
0F O OF
Ol > | >
HT 19 M
™
0l0k

o
N,
om

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
401 AIEHIZL 28I 100,000 200,000 A100,000
= 30,000 60,000 230,000
ik 70,000 140,000 270,000
01 AlIZHI 100,000 200,000 100,000
O2ZANE AT 22 AL
Z& 100,000,000& 13! 100,000 200,000 A100,000
= 30,000 60,000 230,000
= 70,000 140,000 270,000
N2t A 2t KR 5 2,820,840 2,527,700 293,140
| 36,000 36,000 0
s 235,000 35,000 200,000
i 2,549,840 2,456,700 93,140
oI2st=H XN& 1,572,840 1,579,700 6,860
401 Al&HIZ 20| 13,140 20,000 A6,860
01 A&l 13,140 20,000 26,860
O&os KA
Z& 13,140,000& +13! 13,140 20,000 26,860
My o2 9Es 29 200,000 0 200,000
= 200,000 0 200,000
201 et | 200,000 0 200,000
= 200,000 0 200,000
03 @At2ZH] 200,000 0 200,000
OFy Hyeats(48d M24s)
200,000,000 *12] 200,000 0 200,000
= 200,000 0 200,000
X702 =™ VEZ2O3 M 100,000 0 100,000
308 RXIHMSOIH 100,000 0 100,000
13 SI1 2SO & X2 AL I 100,000 0 100,000
OX70t2 86l TV Z2 0 M
100,000,000& *13l 100,000 0 100,000
N2 L= 59,000 50,000 9,000
AUH=SUHESE AHRAM X &Al 19,000 10,000 9,000
401 AlEHIZ 20| 19,000 10,000 9,000
01 AlIZHI 19,000 10,000 9,000
OZU=sUSE 8HSA Xt Al
Z2& 19,000,000&+13! 19,000 10,000 9,000
2 J|gt == 2 2el 10,552,903 9,982,903 570,000
= 5,250,000 5,250,000 0
= 5,302,903 4,732,903 570,000
e = PN 10,552,903 9,982,903 570,000
= 5,250,000 5,250,000 0
o 5,302,903 4,732,903 570,000
22X ZHIAIS 278,570 208,570 70,000
401 AIEHIZL 28I 244,400 174,400 70,000
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A HEALRL
g 2 J|g 2E & 22
ol 2 EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
01 AlZHI 243,000 173,000 70,000
OZ =4 MEOEAOIE et2X =4z =
ANEZE 70,000,000 x13] 70,000 0 70,000
FEL AHIOIEF DL (MEH(HEALY) 1,000,000 500,000 500,000
< 500,000 500,000 0
o 500,000 0 500,000
401 AlZBIL S CHY] 997,600 497,600 500,000
< 497,600 497,600 0
s 500,000 0 500,000
01 Al£ZHI 997,600 497,600 500,000
O &L AHIOIEF =4
ZE 997,600,000 * 10 &~ 997,600 497,600 500,000
< 497,600 497,600 0
= 500,000 0 500,000
23 2= 2 22| 1,193,273 1,167,453 25,820
[ 10,000 0 10,000
= 1,183,273 1,167,453 15,820
S}RAA2E 1,193,273 1,167,453 25,820
< 10,000 0 10,000
= 1,183,273 1,167,453 15,820
S X2el 28,398 29,998 21,600
201 er23| 28,398 29,998 21,600
01 At2teltl 20,178 21,778 21,600
Olger+=2tl] 2,098 3,698 21,600
O2 22 7 3F 0 0 1,600 21,600
SOIETAL S AL 159,004 171,324 A12,320
201 LEeH2 | 21,584 29,584 28,000
01 At22t2lt] 14,500 15,500 21,000
OFEN =2 228 I 7Y
2 50,0002 * 1074 500 1,500 21,000
03 A= SHI 4,700 11,700 27,000
OFHAl B2 E CHUiE M&
Z& 1,000&+1,0002 1,000 2,400 21,400
OM2= N Z& 20,0008 20 400 600 2200
OF&H 8Ag 2 2
& 300,000&4+13] 300 700 2400
O=gHM 28 2258 7Y
ZE 2,000,000 18] 2,000 3,000 21,000
OFBHAl BT SN 257 S
Z& 1,000,000 *12] 1,000 5,000 24,000
301 LEIEN S 55,020 62,720 N7,700
09 2RI =N 1,700 8,200 26,500
O == =& 0|
Z& 100,000& %10 1,000 6,000 £5,000
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A HEALRL
M 2o 2E 2 2el
el 2RAXN=2SE (SH9 H2)
SA - BB SLA(EH) - HSAY - BES 0fl v o D2
OFBHAl BHUE MAIRIR =S|
& 500,0008 %13 500 2,000 21,500
11 SAREIXES 8,320 9,520 21,200
OStAl S HARRIE & At
ZE 80,000&+6.25A1 2401 2,000 3,200 21,200
307 2IZtold 64,400 50,520 13,880
02 LB HAHE L 41,600 26,600 15,000
O QIFX &2t 15,0002 *1,0005% 15,000 0 15,000
04 DIRFHAIAISE X 22,800 23,920 A1,120
OStAIBRE S oL 2o 35 0 0 1,120 21,120
401 AlEBIYL LY 0 10,500 10,500
01 Al&HI 0 10,500 10,500
OSUHALRE AIEES EZI0IE MAHI
34 02 0 10,500 10,500
SEX AEEH 794,292 746,135 48,157
101 QI24H| 179,902 220,245 A40,343
M IRIHMZZ2S 2 179,902 220,245 240,343
ORAXZe| A2 (SHSLM & 0F|
H=z=xe 8)
B 214,202 +621+6 233 23,136 33,600 A10,464
OatthxEze| AR (ESHLM 2 oFO|
H=xg 8)
BE 214,202 +621+6 2L *33] 23,136 47,960 124,824
OolRd Bx(18 - &N
ZE 58,872,000&%12% 7,085 12,120 15,055
201 LEeH2 | 212,490 189,490 23,000
2 35244l 176,450 153,450 23,000
Ol=2223 ¢ HAl 120,800 97,800 23,000
OERIANE HIIR=s
& 6,000,000« 12& 72,000 58,000 14,000
OESRHANE ok 2=
3 4,000,000&*12& 48,000 39,000 9,000
401 AlZBIL S THYI 333,500 268,000 65,500
01 AlZHI 333,500 268,000 65,500
O[AI&HI] 333,500 268,000 65,500
OZQEANKAEX 24 24|
Z& 125,000,000& 12 125,000 100,000 25,000
O=AX2tel 240l
50024 +40,000m" 13| 20,000 0 20,000
OMUHEIASE A &X]
10,000,000& * 18] 10,000 0 10,000
O AIRAXl Sefrd &X
2,100,000 *57H 2= 10,500 0 10,500
Otet=3tsd 2l 194,579 200,4% »5,917
< 10,000 0 10,000
= 184,579 200,4% A~ 15,917
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AN 2EAI=
M 2 B& 2 22
el 2RAXN=2SE (SH9 H2)
SA-ZE - SA(FAH) - NISAY - BES Ofl kel N3 A Hlunsz
101 eI t| 51,661 62,854 211,193
04 I HZZ2NEES 51,661 62,854 211,193
Ottet2sta2 M= (uFI]) o2
ZE 214,2203+621 x6 2 *33] 23,136 33,130 A9,994
OeIfd B2 (0NE - &)
Z2& 31,656,000 *12% 3,79 4,998 A1,19
201 B2 AL| 57,118 68,842 A11,724
01 ArR22eltl 16,900 26,404 A9,504
Oolgers=8Hl] 14,860 24,364 N9,504
OOtetsii= Y M 43 03 0 9,504 29,504
03 @At2EH] 320 2,540 N2,220
OdfldIHl == 43 03 0 1,000 21,000
OHZ= HIE ZE 20,0002 1613 320 1,120 2800
Osla M= 433 o 0 420 2420
307 QI2HO| A 4,000 7,000 A3,000
04 CIZISHAIAIRIE & 4,000 7,000 A3,000
Ooli&lAL Hiel g At
Z& 4,000,000 *13] 4,000 7,000 A3,000
401 AIEHIYL20HY 70,000 50,000 20,000
= 10,000 0 10,000
= 60,000 50,000 10,000
01 AlEHI 70,000 50,000 20,000
OOtet=& EdlA 10,000,000 %13 10,000 0 10,000
(= 10,000 0 10,000
Ottetzst3 2 ZH0|
4003 *25,000m" * 13 10,000 0 10,000
Yol T™AIZ 2 17,000 19,500 22,500
201 B2 AL| 0 2,500 A2,500
01 AtR222ltl 0 2,500 A2,500
O=SFAIZ 23 M 43 03 0 2,500 22,500
dsa s4 16,132,864 14,801,339 1,331,525
= 148,700 43,000 105,700
| 1,684,513 1,684,513 0
(= 433,370 233,370 200,000
= 13,866,281 12,840,456 1,025,825
MEE =4 5,890,187 5,365,362 524,825
= 148,700 43,000 105,700
| 484,513 484,513 0
= 53,370 53,370 0
i 5,203,604 4,784,479 419,125
= S MU SX BEZAIY 606,700 101,000 505,700
= 148,700 43,000 105,700
[ 27,900 27,900 0




A 2ZAT=D
M HSAY 84
el MENS |4 (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
= 430,100 30,100 400,000
307 el2+old 591,700 86,000 505,700
= 148,700 43,000 105,700
= 12,900 12,900 0
[ia 430,100 30,100 400,000
04 QIZHHAIAIH 2 £ 591,700 86,000 505,700
Q2024 HBHEAF MEUSHI
505,700,000& %12 505,700 0 505,700
= 105,700 0 105,700
s 400,000 0 400,000
AEA2SEIIR 29 3,526,530 3,507,405 19,125
301 2 &= 3,388,785 3,369,660 19,125
2=t - 2sFSEH3 3,388,785 3,369,660 19,125
OMNEE tHalE®Y
23 102,500 x1721x52* 103 87,125 68,000 19,125
ISAE 2= 7,701,426 6,937,826 763,600
Il 1,200,000 1,200,000 0
(= 380,000 180,000 200,000
s 6,121,426 5,557,826 563,600
HEAIE &3 & HH| 1,139,450 1,227,850 88,400
401 AIEHIZL 2 0HY| 1,006,731 1,185,131 88,400
01 Al&HI 1,004,750 1,183,150 88,400
O[Al&HI] 1,004,750 1,183,150 88,400
OZ3ZHESALESAMY T 2A2/HE BE
HAEA(SEFIE @)
& 20,000&#18,500m 370,000 478,400 108,400
OZGAUEH2ST NEEHE LAY
20,000,000& *12 20,000 0 20,000
ANEHSAE == 230,000 30,000 200,000
= 230,000 30,000 200,000
401 AIEHIZL SR OHYI 230,000 30,000 200,000
S 230,000 30,000 200,000
01 A=l 230,000 30,000 200,000
OSUIAZTH J[AHAE EXISA
200,000, 0003 %14 A~ 200,000 0 200,000
= 200,000 0 200,000
A4S 022 SMSHH HE(NEEHE =4) 2,660,000 2,080,000 580,000
401 AIEHIZ SO 2,660,000 2,080,000 580,000
01 AlZH| 1,760,000 1,460,000 300,000
O[AI&HI] 1,760,000 1,460,000 300,000
O84S 028 SSHHISHH HE3A
Z& 1,760,000,0003 100 2 1,760,000 1,460,000 300,000
02 Zteltl 900,000 620,000 280,000
Ofzeldl] 900,000 620,000 280,000
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A HEALRL
M HSAMY |4
Rl HSAE &S EER=E)
SA - FE - SRA(3H) - MRAE - BES Off &K & A HusZ
Oz 0i=8 Z3MSHE HESA 2l
af Z & 900,000,000 *10H 2 900,000 620,000 280,000
AL JMMEA AXXME HEY 0 18,000 18,000
401 AlEHIKL =] 0 18,000 18,000
01 Al&HI 0 18,000 18,000
O[Al=HI] 0 18,000 18,000
OALH JtAEA ATRME A JI23HE
=8 L EtEE XA Z3 03 0 18,000 18,000
TATE2SH TLHTIL(HEAY) 90,000 0 90,000
401 AlEBIYL S CTHYI 90,000 0 90,000
01 Al£ZHI 90,000 0 90,000
oggss=sy 2 5%‘@ =N
2,500, 0002 *40H A 90,000 0 90,000
SIS MITSZEHEAAY 1,800,000 1,800,000 0
401 AlEHIZL 2] 1,800,000 1,800,000 0
01 Al&HI 1,800,000 1,800,000 0
O[AlI=HI] 1,800,000 1,800,000 0
OSHMAA TMIIASZE ZHMY X HY
af ZE 56,7003%29,982.36m 1,700,000 1,800,000 100,000
OSHMAS MIASZE ZHAY AAIEH
100,000,000 * 17 A 100,000 0 100,000
H=AE 29 2,541,251 2,498, 151 43,100
S EEE2SMSHEH2S 992,687 987,687 5,000
201 et 3| 633,628 628,628 5,000
01 At22t2l] 136,758 131,758 5,000
Odsdlii=gd A= IS
2,500,000 *23] 5,000 0 5,000
AUxs2, 22sl2 22 302,176 282,176 20,000
401 Al&BIL S CHYI 29,008 9,008 20,000
01 Al£ZHI 29,008 9,008 20,000
OdUMEZ S4L+SA
20,000,000& 12 20,000 0 20,000
SYAEXEI2HSAIE 22 399,7%4 381,694 18,100
201 fer= 3| 191,511 184,511 7,000
2 3522l 138,670 131,670 7,000
O[AZZHISXIHI] 58,680 53,680 5,000
OORIEHE RAEXHI(ZZF HILIAZ,
=7%) 2% 3,000,000 +50H 15,000 10,000 5,000
OAgrae|Xt Bs o] 500,000 4 2,000 0 2,000
401 AlEHIYL S THYI 75,920 64,820 11,100
01 Al&HI 75,920 64,820 11,100
O[Al=HI] 60,920 49,820 11,100
OZEAXXEIR2 SEE FIE &1
38 02 0 18,500 18,500
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SA BRATX)
I H4Y =4
Rl HsAE 282 (SH9 H2)
M- - SA(3) - MRAY - BES Ofl AroH J| ¥ o HnszZ
OZE2=& 20 FE 2ol DIIZ2 A
19,600,00024 %174 A 19,600 0 19,600
OZBSE=H Tt X2 A}
2,000,0002 %574 A 10,000 0 10,000
Hees 1,760, 164 1,724,635 35,529
SEX S (L) 20,529 0 20,529
EFSINES 20,529 0 20,529
802 BHet2J|E 20,529 0 20,529
01 2NBXR2era= 3,415 0 3,415
02023 201HE QIE100 2 NEEZ P2
Y Q| Xt 2,201,25024 %13 2,202 0 2,202
020234 QtalAle 29 X2IZ QI8 22 2
ol 7502 %13 1 0 1
O2023E O210] JISAIZ Metae|e 29 =
T BEZ2 OIX Lo 2,9102%13] 3 0 3
02023 O2I0ISAI 22 XM A% 2
2D BXZ 0|XrLA o oz
1,208,670 %13 1,209 0 1,209
2 Al - SHIEEZErE2 17,114 0 17,114
O2023E & =880l BIOIWIE AMY EH|
ZisHEoH 2 0| X} Bt
14,850,000 %13 14,850 0 14,850
O2001E L& 22 02 Xt2l AFY TH| TS
o4 g Q| 2,015,00024 %13 2,015 0 2,015
O2023 SAE 3 HZ2sE 28t 222
=lel 2102413 1 0 1
O3 SAE AMSZH oA SHE
HI 1,0102+13] 2 0 2
02023 UBSAIE AIHO0IE L HAZ &
Xl X 1,6402%13] 2 0 2
02023 otalAle 2 X2 QI8 22 2
ol 15024 %13 1 0 1
020234 0{210] J|SAIE Maele 29 &
Hl BXZ OIX Ao 55024 %13 1 0 1
O2023E (2I0lZA 2L XM AX.2Y
CH EXZ 0|Xrgaol o o1z
241,720 %13 242 0 242
LHEAN X = 1,739,635 1,724,635 15,000
HsrsEl|2 82 1,739,635 1,724,635 15,000
702 012852 1,739,635 1,724,635 15,000
PIErSE=] 1,739,635 1,724,635 15,000
OlHsrEIZ2 8E22] 1,739,635 1,724,635 15,000
OMSs| HE2gH BXX
Z2E 263,523,0002 * 13 263,523 258,523 5,000
OAZXZY XY HAAY BXXH
2& 197,000,002 * 13 197,000 247,000 A50,000
OX=, &, @ &2 XMIU3 A ALY
EEYNE] 27 404,000,000 %13 404,000 344,000 60,000
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0243 =& 2 3 LEtSIH &l

H & 0l & AHS B Ml A

2024-09-09 15:24:17

Fstl= 1
Fstils &8
2594 U HS2E Y |4 SRIED
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HlRE2
Zstoll=t 16,291,136 15,683,069 608,067
= 1,424,526 1,424,526 0
s 46,000 46,000 0
| 401,29 401,299 0
L= 2,663,266 2,463,416 199,850
CH 1,000,000 1,000,000 0
i 10,756,045 10,347,828 408,217
Fotils s 3,442,258 3,244,758 197,500
= 12,888 12,888 0
| 262,300 262,300 0
= 196,035 116,035 80,000
CH 1,000,000 1,000,000 0
i 1,971,035 1,853,535 117,500
FotRe & H=gs N |4 3,134,958 2,942,958 192,000
= 12,888 12,888 0
| 262,300 262,300 0
= 152,035 72,035 80,000
CH 1,000,000 1,000,000 0
i 1,707,735 1,895,735 112,000
3t ti=gs X 453,920 328,820 125,100
L= 60,000 0 60,000
= 393,920 328,820 65,100
307 QI2H0| A 418,920 293,820 125,100
= 60,000 0 60,000
i 358,920 293,820 65,100
02 QIRHHAAIHE X 186,120 61,020 125,100
OIS E ws X
& 03 0 4,900 24,900
Ogegd =& J1d g=20 2nmel
10,000,000&*13! 10,000 0 10,000
Q20248 =S 2| H=E0SH LA X2 At
jie 120,000,000 *12] 120,000 0 120,000
= 60,000 0 60,000
= 60,000 0 60,000
dS2st Hs 2H 60,000 52,000 8,000
307 212t01& 60,000 52,000 8,000
02 QIZHBAAIH E X 60,000 52,000 8,000
OdtdlzstaY NTus Y dXAS
8,000,000& *13] 8,000 0 8,000
Fatolz s K& 56,260 53,860 2,400
202 04l 2,400 0 2,400
01 =LHOILI 2,400 0 2,400
O=al=RF8 SZ0I
20,0002 4 +30 2,400 0 2,400
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2AN: 23t
g3 2sis ds
EstR4 L d=gs XS (EEEE))
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N BlunsZ
SHEUFHAFSEA HIZEXIR) 20,000 20,000
307 212told 20,000 20,000
02 QI EAIEE 20,000 20,000
OSHYHFEH &
20,000,000& *12] 20,000 0 20,000
A=2gdet 24 174,512 138,012 36,500
s 20,000 0 20,000
a 154,512 138,012 16,500
201 =3 129,012 132,512 23,500
01 At22t2l] 71,502 75,002 23,500
Olget=gtl] 53,198 56,698 23,500
OogaisA F=
Z& 3,5003+9,000& 31,500 35,000 A3,500
405 RHaks S| 40,000 0 40,000
= 20,000 0 20,000
i 20,000 0 20,000
01 ML ESFH S| 40,000 0 40,000
Oxegstat 228 UXNEZ 0 315
40,000,000 *10H 2~ 40,000 0 40,000
[ 20,000 0 20,000
T 20,000 0 20,000
g2 g ¢ 2 307,300 301,800 5,500
= 44,000 44,000 0
[ia 263,300 257,800 5,500
N2 MY 23 176,500 171,000 5,500
401 Al HIZ 201 5,500 0 5,500
01 AlZHI 5,500 0 5,500
O3 NE RAL=(3HE4A)
5,500,000 *12] 5,500 0 5,500
= E& 6,539,864 6,489,244 50,620
= 1,243,638 1,243,638 0
Jl 138,999 138,999 0
= 1,198,731 1,083,381 115,350
z 3,958,4% 4,023,226 164,730
ZaHEEL 2t 6,539,864 6,489,244 50,620
= 1,243,638 1,243,638 0
J| 138,999 138,999 0
< 1,198,731 1,083,381 115,350
T 3,958,4% 4,023,226 A64,730
HEZ3 25 2t 1,471,000 1,429,000 42,000
= 244,500 244,500 0
=S 371,350 256,000 115,350
= 855,150 928,500 AT73,350
207 AR 1,471,000 1,429,000 42,000
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2M: 23t
M RSN BEF
Chel: 2aHEEL 2t EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
= 244,500 244,500 0
< 371,350 256,000 115,350
i 855,150 928,500 273,350
01 H7ESHI 1,471,000 1,429,000 42,000
Ogg 2Hel 18 L2(A2) ZAH2024 O
AA2SHA TAKIE At)
489,000,000 %19 2= 489,000 489,000 0
= 244,500 244,500 0
< 73,350 0 73,350
= 171,150 244,500 173,350
Ogg otde| EsXARZ L2 AH2024 O
SIANZSIH AKX AMY)
42,000,0003 %1942 42,000 0 42,000
[ 42,000 0 42,000
NE28M S22 1,698,300 1,699,640 21,340
< 150,000 150,000 0
= 1,548,300 1,549,640 21,340
301 LEIEE S 2,500 3,840 A1,340
11 BARHIXES 2,500 3,840 21,340
O M AHE M2t X239 &+
Z & 80,0003+6.25H+53] 2,500 3,840 21,340
SEEZsFA B HH 293,440 282,220 11,220
201 Ler23| 18,040 15,820 2,220
01 At2teltl 13,600 11,380 2,220
O ESSIR ARG B4
d&d 80,000&+5&*11.153] 4,460 2,240 2,220
207 AR 67,000 57,000 10,000
01 H7EAHI 67,000 57,000 10,000
O&Y JAF 722 & WAl st=lig
10,000,000& * 18] 10,000 0 10,000
307 2Ito1d 8,400 9,400 21,000
04 RIZFHAIAIZ E = 0 1,000 A1,000
OzEel gdes =2 A
38 02 0 1,000 21,000
OtSHHALZSHEIH 2HE 24,400 4,400 20,000
401 AIZHIZL 20 20,000 0 20,000
01 Al&ZHI 20,000 0 20,000
OCIetHAIZ2SHIH HERX S& 4H
20,000,000& 18] 20,000 0 20,000
EStRAX 2 92,200 113,460 N21,260
101 Q1244 16,200 97,460 181,260
M IRIMZZAS 2 16,200 97,460 181,260
O7es2MEgd TIRISS 018D 2R
= ZE 84,0002 %12015L 5,040 14,112 29,072




2 23tz
3N KM 2&
Hel: SHEEH 2 (SH9 H2)
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
O AENXISE 01| I8
ZE 84,0002 1221102 10,080 16,800 16,720
OsHae ALY (oS8 M & CIFII Kl
Eckager ) 33 03 0 26,880 N\26,880
OIfY EHE (1S - &)
& 9,000,000 %12% 1,080 6,935 5,855
OLEZ OIFI M= =Y
34 03 0 29,580 ~29,580
OLNEzZ RY EEF(0S - &)
a3 02 0 3,153 13,153
401 AIEHIZL 2] €0,000 0 60,000
01 Al&ZHI 60,000 0 60,000
On=2z ¥ |AX Nx & 8Z8H|
7,500,000 *87H & 60,000 0 60,000
BMESHN 25 405,730 378,430 27,300
< 28,500 24,000 4,500
= 377,230 354,430 22,800
Bdsis=2dY 405,730 378,430 27,300
< 28,500 24,000 4,500
= 377,230 354,430 22,800
gdiss =g 68,770 56,770 12,000
301 LetE2NS 57,000 45,000 12,000
11 HAFHIXIRS 57,000 45,000 12,000
O&dtisstun JA=+g
& 60,0002 x5 *193| 103 57,000 45,000 12,000
gdstisdit 29 76,090 76,090 0
201 Zet=3hl 32,230 24,970 7,260
03 SAr2 I 29,260 22,000 7,260
Ogdsisly 29
3F 68,1503 %2008 23] 27,260 20,000 7,260
301 LetE2NS 43,860 51,120 NAT,260
B2 d= 660 7,920 NT,260
OEdstEHE UM &3l
38 30,000 x2H+113 660 7,920 NT,260
stessotel 29 19,270 14,770 4,500
< 4,500 0 4,500
= 14,770 14,770 0
301 LetEAZ 18,500 14,000 4,500
= 4,500 0 4,500
i 14,000 14,000 0
11 AN’ S 18,500 14,000 4,500
O&tEss0tel 2A =&
BE 115,625 169 2+ 102] 18,500 14,000 4,500
< 4,500 0 4,500
i 14,000 14,000 0




2A: 23t
A BUSIESHMN 2=
el: ilsisRd (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
TESSAFUFNE 29 83,170 72,370 10,800
301 LtENZ 75,600 64,800 10,800
11 EAIAHIXIRAS 66,600 55,800 10,800
Ox=SstZIMUSNE ZAE
ZE 90,000 x4F 122102 43,200 32,400 10,800
SEAMS &5 A 2S 3,956,324 3,921,124 35,200
= 168,000 168,000 0
[ 46,000 46,000 0
= 1,240,000 1,240,000 0
i 2,502,324 2,467,124 35,200
A2 23 lZet = 3,516,138 3,486,938 29,200
= 168,000 168,000 0
= 46,000 46,000 0
S 1,240,000 1,240,000 0
s 2,062,138 2,032,938 29,200
Y A2 A2 176,075 158,175 17,900
201 =3 136,442 118,542 17,900
01 ArR2eltl 35,147 32,747 2,400
Oofger==gdl] 21,962 19,562 2,400
OHAZRIRX 28 7 (XHDISTE )
Z & 750,000& 128 9,000 6,600 2,400
02 2324l 101,295 85,795 15,500
Ol3323 % HAl 55,470 39,970 15,500
O M A8 B3RS (MI], =5, 88}
) 2 & 4,000,000& 122 48,000 36,000 12,000
OGS A ALAIAE FHH|
3,500,000& #1790 & 3,500 0 3,500
LM N EE 71,500 54,000 17,500
405 KHAHH SH 71,500 54,000 17,500
01 ML ESFH SHI 9,500 0 9,500
Bt = 9,500 0 9,500
OXIE&IF Y MIF 2
600,000 *100H 6,000 0 6,000
OXISEIF DY AL
700, 00024 %501 3,500 0 3,500
02 =MLl 62,000 54,000 8,000
Ogge Mz A7
& 10,000&%3,5002 35,000 30,000 5,000
OgeeM 2Ues ZE= 2¢
Z & 4,000,000 *101 A22] 8,000 5,000 3,000
A2 M2 EHMA 2= 12,000 23,200 211,200
307 212t01& 11,200 22,400 A11,200
02 QI AANEE X 11,200 22,400 A11,200
OX2A2 4 At
Z& 1,400,000& +8IH A 11,200 22,400 211,200
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R
HE: DRCND 2B L 2Y
o9l SAB 23 et P (crol: m2)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
ST AR BALRL 13,048 27,048 5,000
201 2er2e| 65,915 63,915 2,000
2 ST 47,223 45,223 2,000
O[A&FEISRII] 16,600 14,600 2,000
OBHIZ A 2E A&E 2XI2E
A 12,000,0002+170 4 12,000 10,000 2,000
405 RHAHE S g 29,000 26,000 3,000
01 AL SZF S| 29,000 26,000 3,000
OSIMNENT A My U oAX 7Y
3,000, 00024124 & 3,000 0 3,000
HSCTHB S48 AYXT £4 240,000 240,000 0
2 168,000 168,000 0
2 72,000 72,000 0
201 Yur2 | 116,000 114,000 2,000
2 95,000 9,000 2,000
2 21,000 21,000 0
01 Al 22l 116,000 114,000 2,000
OBBCHBY HSTAHD 2 ASHZ H
ohg 2 10,0002 %2007H 2,000 0 2,000
2 2,000 0 2,000
207 SATHL b 18,000 20,000 22,000
2 18,000 20,000 £2,000
02 & AN b 18,000 20,000 22,000
OYYF S8 THH EHOIX 75
18,000, 00024 13! 18,000 20,000 £2,000
2 18,000 20,000 £2,000
SH2sIRIS ALY 312,310 308,310 6,000
ST AR SNNEDZIY 29 21,000 15,000 6,000
201 Yur2gy| 21,000 15,000 6,000
03 A2 20,000 14,000 6,000
OSINEN SHESTEIY 2|
2 2,000,00021%108] 20,000 14,000 6,000
THE A2CAl X4 XIg 127,680 127,680 0
201 Yer2ey| 103,280 101,280 2,000
01 Al 221t 59,100 57,100 2,000
Olger+gH] 59, 100 57,100 2,000
0¥ oI2x2t 2% 28 7Y
2% 2,500, 0002294 & 5,000 3,000 2,000
207 AN b 18,000 20,000 £2,000
SRR 18,000 20,000 22,000
OYY TH23 VE(SHUR S)
A 18,000,00021%13] 18,000 20,000 £2,000
YTl HBP 2N BH L HBHT 648,655 640,475 £820
2etED|J|BHAI & XIS 212,327 225,087 A12,760
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Ost=(aue) 74
d& 111,0002*30& 3,330 1,110 2,220
SYIIHAER 150,427 165,407 14,980
201 Let2d| 132,387 142,187 A9,800
01 At 2teltl 102,122 110,122 8,000
ODJ|gt=2 283 =81 012 25|
3 & 6,000,000 %23 12,000 20,000 8,000
03 A2 SHI 0 1,800 21,800
OgAI2EHI 0 1,800 1,800
ogsdyl aliz 38 0 0 1,200 A1,200
O#AIEH HE + 38 0 0 600 2600
301 LetEA=3 7,000 12,180 A5,180
09 2= 0| 0 5,180 25,180
OgrE2 A EF0 0 5,180 25,180
o=l 38 03 0 2,100 £2,100
ORI EFAM 34 03 0 1,400 A1,400
Ol SH] 23 02 0 1,680 A1,680
D=2 & us2t 29 436,328 424,388 11,940
s 29 18,098 21,098 3,000
201 Let2dy| 18,098 21,098 3,000
01 At 2teltl 8,940 11,940 3,000
Olaet+24l] 8,940 11,940 A3,000
O=&L &XISAt JIF Ol 25H|
3& 7,000,000&*12 7,000 10,000 3,000
DoEEa2d 418,230 403,290 14,940
201 LeH2 3| 155,005 149,065 5,940
01 At 2teltl 71,344 68,404 2,940
Olet+=8dl] 57,124 54,184 2,940
OFEII0F A8 HME =2 MA
70,0002 140132 2,940 0 2,940
2 s3234l 83,361 80,361 3,000
Olz3ga= « WAl 57,335 54,335 3,000
oLdlgt=a &I
& 4,200,0008 122 50,400 47,400 3,000
405 Rhaks S| 23,320 14,320 9,000
01 MM =S FSHI 23,320 14,320 9,000
ARA SAD 2 9,000,000 *1CH 9,000 0 9,000
dY 2 FHI (222t 137,920 137,920 0
23y 137,920 137,920 0
QI2TAIE JI23H 9,900 9,900 0
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SN 2B0EDt
HH: RS (2B
Sa . (EH9): ®2)
SA - B - G9I(30) - NIRAY - BES Ofl b ol & o SimE==t
O22EE ®g BOIEE 22FUIMY S
&y gl of% 5,085,00021*13] 5,035 5,035
O2-BEET 4R THLOHE B2 AR (O
2610 BRI O X e o
160,00024%13] 160 160
O2-BEE bR THLHOHE B2 AR (OHH
21 BIXI) Sl OIRHeheoy
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022,203 SXH PHSSM HLLE U
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H & 0l & AHS B Ml A

0248 =g 2 3| LBta &Ml 2024-09-09 15:24:17

S FRI=XID
Hu: FOIMBXRANYIA =T
CHol: FOINEE ZRIAIY (crol: m2)
SA - B S9(SH) - NIRAY - BES o ar o HIDS2
F0I=X Dt 33,242,797 31,579,035 1,663,762
2 17,478,033 17,067,571 410,462
2 1,616,001 1,575,618 40,383
P 67,000 67,000 0
= 3,004,478 2,997,633 9,845
2 0,987,285 9,871,213 1,116,072
DIMETIRAEIA FA 14,082,433 13,778,794 253,639
= 7,152,198 7,042,990 109,203
= 853,000 853,000 0
= 1,371,968 1,344,425 27,543
2 4,655,272 4,538,379 116,893
DIES =XIAY 1,319,318 1,096,318 23,000
= 853,000 853,000 0
= 66.7% 66,49 300
2 399,523 376,823 22,700
U 0ISAANRAY 7,500 7,500 0
2 6,000 6,000 0
= 750 450 300
2 750 1,060 £300
308 KXISHHI SOI® 7,500 7,500 0
2 6,000 6,000 0
= 750 450 300
2 750 1,060 £300
13 BI 2 SOICHEHZ A R ARSI 7,500 7,500 0
OFUADIS AL AL
AT 31,25024+20+ 12 7,500 7,500 0
2 6,000 6,000
= 750 450 300
2 750 1,060 £300
seiss 22,000 0 22,000
207 AP 22,000 0 22,000
01 eIREet| 22,000 0 22,000
OYYY SBES PES B AHTA
22,000,000/+13] 22,000 0 22,000
=NASH 22l 1,000 0 1,000
201 LBr2At| 1,000 0 1,000
2 B2 1,000 0 1,000
OSNASE At AAY B
1,000,000%/+13] 1,000 0 1,000
Zoel =X K2 12,390,852 2,160,213 230,639
2 7,152,198 7,042,990 109,203
= 1,305, 173 1,277,930 27,243
2 3,983,486 3,839,208 %, 193




M =S
M FOIMSTIAMEIA =8
Rl ZoHe! =X XE2el EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
ZHOHE! ALl 2t S XIR 178,773 184,373 25,600
201 er23 | 25,643 25,643 0
01 At2teltl 20,960 20,960 0
Ool2g=+¢l] 2,880 2,830 0
OISR &R S
33 03 0 2,880 A2,880
oFlEsSXE S HoAd F4=E
80,0002 x3& *123] 2,880 0 2,880
307 2Ito1d 152,050 157,650 25,600
11 AIEISTIAIEE X 65,050 70,650 15,600
Odg =012l MEis XA
38 02 0 1,400 21,400
Oggz o=z X
33 03 0 4,200 A4,200
=== (01=) X2 32,035 353,816 A11,781
= 239,424 247,671 N8, 247
< 30,783 31,843 21,060
i 71,828 74,302 N2,474
301 LEENS 342,035 353,816 A11,781
= 239,424 247,671 N8, 247
< 30,783 31,843 A1,080
= 71,828 74,302 N2,474
01 Al EE AT S (2 REERA) 342,035 353,816 A11,781
OFM==0Ix) X=
ZE 60,0003 #475.048% « 122 342,035 353,816 A11,781
= 239,424 247,671 N8, 247
< 30,783 31,843 A 1,060
= 71,828 74,302 N2,474
Z=E (X 8) K= 171,226 180,238 29,012
= 119,858 126,166 26,308
< 15,411 16,222 2811
= 35,957 37,850 21,893
301 LEENES 171,226 180,238 29,012
= 119,858 126,166 26,308
< 15,411 16,222 2811
= 35,957 37,850 21,893
01 AR E2EHSFS(RRNEERTHE) 171,226 180,238 29,012
OZM==E (a9 ) X3
2 60,000&#237.813~12& 171,226 180,238 29,012
= 119,858 126,166 26,308
[ 15,411 16,222 2811
= 35,957 37,850 21,893
gofelis 50 K= 2,137,728 2,080,533 57,19
= 1,496,409 1,456,373 40,036
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M =S
M FOIMSTIAMEIA =8
Rl ZoHe! =X XE2el EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
[ 192,3% 187,248 5,148
= 448,923 436,912 12,011
301 EtE NS 2,137,728 2,080,533 57,19
= 1,496,409 1,456,373 40,036
& 192,3% 187,248 5,148
s 448,923 436,912 12,011
01 AR 2EHSHS(RNEXRTH) 2,137,728 2,080,533 57,195
Oz =0 A=
2 269,9152+660.0001H~ 122 2,137,728 2,080,533 57,195
= 1,496,409 1,456,373 40,036
< 192,3% 187,248 5,148
s 448,923 436,912 12,011
Zopel Ex210] K& 6,250 2,334 3,866
= 5,000 1,907 3,093
= 1,250 ar7 773
301 LEIEEZ 6,250 2,334 3,866
= 5,000 1,907 3,09
= 1,250 ar7 773
01 Al EE A S (2 REXMA) 6,250 2,384 3,866
OFEOMIZ =D X
23 625000310 6,250 2,384 3,866
= 5,000 1,907 3,098
= 1,250 477 773
LETHENHIA XIS 382,484 369,600 12,884
= 267,739 258,720 9,019
< 34,423 33,264 1,159
= 80,322 77,616 2,706
308 XXM SOIA 382,484 369,600 12,884
= 267,739 258,720 9,019
< 3,423 33,264 1,159
= 80,322 77,616 2,706
13 SO [2SOHE B & EAS A 382,484 369,600 12,884
OoggMamMtlAs X
Z& 200,00024%159.368F 122 382,484 369,600 12,884
= 267,739 258,720 9,019
< 34,423 33,264 1,159
= 80,322 77,616 2,706
ZOHIEHO BRI |SXRHEH 22 70,710 67,710 3,000
< 14,062 13,462 600
s 56,648 54,248 2,400
307 2Itold 70,310 67,310 3,000
[ 14,062 13,462 600
= 56,248 53,848 2,400
02 LB HAHE L 70,310 67,310 3,000
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M =S
M FOIMSTIAMEIA =8
Rl ZoHe! =X XE2el EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
OFHAEASII = XNJHH 2SN
ZE 70,310,000 %10 &~ 70,310 67,310 3,000
< 14,062 13,462 600
= 56,248 53,848 2,400
ZOHQIFESHE 22 425,991 399,079 26,912
< 62,39 58,362 4,037
s 363,592 340,717 22,875
307 2IZtold 415,991 389,079 26,912
< 62,39 58,362 4,037
= 353,592 330,717 22,875
05 BItRAEZ 415,991 389,079 26,912
OZFoHel =AESHH 2E X (2)
ZE 415,991,000+ 10 & 415,991 389,079 26,912
< 62,39 58,362 4,037
= 353,592 330,717 22,875
ZOHRIOISAIE SAA SE+& 22,680 23,760 ~1,080
< 6,804 7,128 2324
= 15,876 16,632 AT5%6
307 2Itold 22,680 23,760 1,080
[ 6,804 7,128 2324
i 15,876 16,632 NT56
02 IHB A HE L 22,680 23,760 21,080
OZ0HQ! OIESAIE SAL SE=& X2
2 90,000&=21H« 122 22,680 23,760 A1,080
< 6,804 7,128 324
z 15,876 16,632 AT
ZOHAXSIHEAE 2 444,803 408,843 35,960
< 80,065 73,592 6,473
= 364,738 335,251 29,487
307 2I2to1 ™ 444,803 408,843 35,960
[ 80,065 73,592 6,473
s 364,738 335,251 29,487
02 2B HAHE L 444,803 408,843 35,960
OYMHAXNATHEAE 2SI
ZE 444,803,000 1002 444,803 408,843 35,960
< 80,065 73,592 6,473
= 364,738 335,251 29,487
oAU O0ISKHHE 29 198,500 190,205 8,295
< 39,700 38,041 1,659
o 158,800 152,164 6,636
307 2IZto1 198,500 190,205 8,29%
< 39,700 38,041 1,659
s 158,800 152,164 6,636
02 LB HANHEE 198,500 190,205 8,29




M =S
M FOIMSTIAMEIA =8
Rl ZoHe! =X XE2el EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
OZ I ME0ISXJEH 2L
ZE 198,500,000+ 100 & 198,500 190,205 8,295
< 39,700 38,041 1,659
= 158,800 152, 164 6,636
ZoHel FUESHEH 22 (2124 192,39%6 184,696 7,700
< 28,859 27,704 1,155
s 163,537 156,992 6,545
307 2IZtold 192,3% 184,6% 7,700
[ 28,859 27,704 1,155
= 163,537 156,992 6,545
02 LB HAHE L 192,3% 184,6% 7,700
OZ0HRl F=AZBSHEH 2 X (2124
ZE 192,396,000+ 10 & 192,39%6 184,696 7,700
< 28,859 27,704 1,155
= 163,537 156,992 6,545
ZEE L2 SESS(F2 Q8)MHIA NI 102,300 0 102,300
= 71,610 0 71,610
< 9,207 0 9,207
z 21,483 0 21,483
307 2I2to1 102,300 0 102,300
= 71,610 0 71,610
[ 9,207 0 9,207
= 21,483 0 21,483
11 AEISTIAIEE X 102,300 0 102,300
Ozl&E e sgss(=2 18) M
HIA K& 4,871,428 38«72 102,300 0 102,300
= 71,610 0 71,610
[ 9,207 0 9,207
= 21,483 0 21,483
=I)t2& =H K& 1,450, 100 1,411,500 38,600
< 226,220 187,620 38,600
s 1,223,880 1,223,880 0
Z2eHNs4 1,450, 100 1,411,500 38,600
[ 226,220 187,620 38,600
= 1,223,880 1,223,880 0
Helge 3EKRSA il 148,920 112,320 36,600
< 148,920 112,320 36,600
301 LEtENS 148,920 112,320 36,600
< 148,920 112,320 36,600
02 A2 XSG (FHAAHS, NLWE) 148,920 112,320 36,600
Odctdr: BMFEA Sll=g A&
ZE 50,00024%248.2F« 128 148,920 112,320 36,600
< 148,920 112,320 36,600
SHEL A 2,000 0 2,000




2A:

=aak

=
-
Hu: =
[=]
4

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
< 2,000 0 2,000
201 e 2,000 0 2,000
= 2,000 0 2,000
01 AFS2t2ltl 2,000 0 2,000
O3 S2A 2,000,000&*13] 2,000 0 2,000
= 2,000 0 2,000
Zofel =X s 657,706 553,518 104,188
= 103,957 92,294 11,663
= 553,749 461,224 92,525
ZoHel T2 2 397,633 333, 160 64,473
= 51,552 45,846 5,706
= 346,081 287,314 58,767
ZOHQ! Mg =20 393,633 329,160 64,473
L= 50,352 44,646 5,706
i 343,281 284,514 58,767
201 2Et2Z ] 135,535 97,495 38,040
= 19,622 13,916 5,706
i 115,913 83,579 32,34
01 AFS2t2ltl 29,600 15,100 14,500
Oolgets=gd| 29,600 15,100 14,500
O=X& A4 & eI2RH MH
Z& 5,000&*1,000% 5,000 2,500 2,500
= 750 375 375
= 4,250 2,125 2,125
oXeIEZ20d g8 =2 HA
A& 70,0002 *400H 2,800 1,400 1,400
T 420 210 210
= 2,380 1,190 1,190
OZOHI=X2 2208 2F 4257
ZE 100,000 =8I 2 +63| 4,800 2,800 2,000
= 720 420 300
= 4,080 2,380 1,700
O&Ofe! XME Z203 e Xtz
Z& 1,000,000 +62] 6,000 4,000 2,000
T 900 600 300
i 5,100 3,400 1,700
OZeI=A2 =& dF MoRA3 =
110,000 30 *23| 6,600 0 6,600
= 990 0 990
= 5,610 0 5,610
03 A2 G| 102,215 78,675 23,540
OFfeIsX2 Z2 ) 2HH|(MEH] S)
153,356 x222 £H+303) 101,215 77,675 23,540
= 15,182 11,651 3,531




2A: F2=K
g ool =X sa
elr ZoHel =28 29 (St &)
SA - A - S9I(E) - HIRAY - BES o &t 0l F o HIRS2
z 86,033 66,024 20,009
401 AlEHIZL 2] 48,433 22,000 26,433
01 Al&EHI 48,433 22,000 26,433
OZOHQ! XHEIHH EASA
5,060,000& *12] 5,060 0 5,060
OOl AH&ItH £
21,373,000& 12 21,373 0 21,373
ZoHel He et 260,073 220,358 39,715
< 52,405 46,448 5,957
= 207,668 173,910 33,758
Zopel=sia 2l 125,673 85,958 39,715
< 12,085 6,128 5,957
= 113,583 79,830 33,758
201 B2 ] 89,573 63,858 25,715
< 9,985 6,128 3,857
= 79,588 57,730 21,858
01 AlR2telHl 35,820 26,420 9,400
Ol«et+=2Hl] 35,820 26,420 9,400
g 28=3 7Y
38 500,000 +8IH A*23] 8,000 4,000 4,000
< 1,200 600 600
= 6,800 3,400 3,400
o&tgllst E= 74
& 500,000& 123 6,000 3,600 2,400
< 900 540 360
= 5,100 3,060 2,040
Odg =3 =2l 500,000 *62| 3,000 0 3,000
< 450 0 450
z 2,550 0 2,550
02 33234l 53,753 37,438 16,315
OINE EHISXIHI] 44,825 28,510 16,315
OSXZAIE AR24HH|
Z& 2,000,000&+83 16,000 8,000 8,000
< 2,400 1,200 1,200
z 13,600 6,800 6,800
OA=R= |FAl=cIH
& 15,0002 963m 14,445 9,630 4,815
< 2,166 1,444 722
= 12,279 8,186 4,093
OFSIF~{={RESONFE =] ]
3 500,000&#3=] 1,500 1,000 500
< 225 150 75
z 1,275 850 425
OHIAZ&I| & JIHEHl |X2elH
& 500,000& 42 2,000 1,000 1,000
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FA S0
3o ZoHe =X sd
Sl Hojel B ety (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
& 300 150 150
i 1,700 850 850
OSEAIE mAl2ell
38 500,000 #40H A #23] 4,000 2,000 2,000
= 600 300 300
= 3,400 1,700 1,700
401 AlZHIL 20 36,100 22,100 14,000
& 2,100 0 2,100
e 34,000 22,100 11,900
01 Al 36,100 22,100 14,000
OsA2 &I Hl&42EI| ATS WX
14,000,000 174 14,000 0 14,000
< 2,100 0 2,100
z 11,900 0 11,900
Zoiel S22 S48 XA 134,400 134,400 0
T 40,320 40,320 0
[ 94,080 94,080 0
301 LEtE XS 134,400 134,400 0
& 40,320 40,320 0
= 94,080 94,080 0
02 B2 RS (FAAS, NLHA) 131,600 132,600 1,000
OZ0HeI=X2 SAHl X2
38 8,0002+50E+320 131,600 132,600 1,000
< 39,480 39,780 A300
z 2,120 9,820 AT700
11 HAMHIXIE 3 2,800 1,800 1,000
OFMjeI=sX2F2m2 08 FHASA X
= & 8,000 *102*36F 2,800 1,800 1,000
= 840 540 300
[ 1,960 1,260 700
NASE daXd 2 14,013,393 13,581,241 432,152
= 10,304,903 10,003,644 301,259
z 407,099 366,716 40,383
Il 67,000 67,000 0
< 1,297,903 1,278,864 19,039
z 1,936,488 1,865,017 71,471
INE=INL! 2,104,558 1,806,548 208,010
= 1,723,960 1,490,365 233,59
< 106,118 98,107 8,011
i 274,480 218,076 56,404
22 A 1,422,124 1,164,843 257,281
= 1,279,911 1,048,358 231,553
5 42,664 34,945 7,719
= 99,549 81,540 18,009
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S SR
M NASE MRzl
chel: KR (St &)
SA -3 - A(3) - MISA - B85 Off &K N3 HusZ
101 e124d| 80,000 100,000 20,000
= 72,000 90,000 18,000
S 2,400 3,000 AB600
s 5,600 7,000 A1,400
04 JRHHZ2Z2REE S 80,000 100,000 20,000
OsY Atg22 22|
ZF 750,000 8~ 12 72,000 90,000 18,000
= 64,800 81,000 216,200
= 2,160 2,700 AB40
2 5,040 6,300 A1,260
OSW 22 AEl2E2
Z & 83,330&+8.00004Z 123 8,000 10,000 A2,000
= 7,200 9,000 A 1,800
= 240 300 260
[ias 560 700 2140
206 =4I 1,200 2,100 A900
= 1,080 1,890 A810
S 36 63 N7
2 84 147 A3
01 H2Hl 1,200 2,100 900
OXEZ2AIY TR
&% 300,000 4% 1,200 2,100 2900
= 1,080 1,890 A810
S 36 63 N7
2 84 147 AB3
307 212t01 & 1,340,924 1,062,743 278,181
= 1,206,831 956,468 250,363
S 40,228 31,882 8,346
i 93,865 74,393 19,472
05 BIZt2&r = 1,340,924 1,062,743 278,181
OXEZ 2 ALY 2IEH]
Z2E 1,340,924,0003 « 10 2 1,340,924 1,062,743 278,181
= 1,206,831 956,468 250,363
S 40,228 31,882 8,346
s 93,865 74,393 19,472
KNS TH&EEH 29 387,620 346,891 40,729
= 244,866 242,824 2,042
S 34,981 34,689 292
s 107,773 69,378 38,395
307 212+01& 387,620 346,891 40,729
= 244,866 242,824 2,042
= 34,981 34,689 292
= 107,773 69,378 33,3%
10 AlRISXAIEEHE 22X 387,620 346,891 40,729




S SR
M NASE MRzl
chel: KR (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
OXISXt2HHlE 22|
Z & 349,809,000 100 2 349,809 346,891 2,918
= 244,866 242,824 2,042
[ 34,981 34,689 29
[ias 69,962 69,378 584
OXIS T gdE 238 =0t X
37,811,000& 13 37,811 0 37,811
NASUEAA 11,083, 151 10,949,009 134,142
= 8,519,664 8,452,000 67,664
s 321,825 281,442 40,383
= 1,083,886 1,072,858 11,028
[ias 1,157,776 1,142,709 15,067
&= 2tc| =didl X2 41,664 38,000 3,664
= 41,664 38,000 3,664
301 LI 41,664 38,000 3,664
= 41,664 38,000 3,664
01 AR E2EHSFS(RRNEERTHE) 41,664 38,000 3,664
Og=2e| byl X
ZE 2,800& 1,240 +123] 41,664 38,000 3,664
= 41,664 38,000 3,664
222X X3AAMS 544,350 464,350 80,000
= 435,000 371,000 64,000
S 54,375 46,375 8,000
s 54,975 46,975 8,000
301 Et2 &= 543,750 463,750 80,000
= 435,000 371,000 64,000
S 54,375 46,375 8,000
s 54,375 46,375 8,000
01 Al EEHGIZS (2 DEXTHE) 543,750 463,750 80,000
O2Z2=X XA
ZE 06,2502 +600H 543,750 463,750 80,000
= 435,000 371,000 64,000
= 54,375 46,375 8,000
= 54,375 46,375 8,000
MBS ASIMHIA X2 (LSS MHIA AHY) 322,281 271,803 50,478
= 257,825 217,442 40,383
= 19,336 16,308 3,028
i 45,120 38,053 7,067
201 L= 9,654 15,654 26,000
[ 7,723 12,523 4,800
== 579 939 A360
= 1,352 2,192 2840
01 AFR2t2ltl 9,654 15,654 26,000
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S SR
M NASE MRzl
el MNASHEXIR (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
OgasEs MHlA EEEE M
Z & 10,0002 *23]*3007H 6,000 12,000 26,000
Fas 4,800 9,600 A4,800
(= 360 720 2360
[ias 840 1,680 AB40
307 212t01 & 0 17,49 A17,4%6
= 0 13,997 A 13,997
(= 0 1,050 21,050
T 0 2,449 A2,449
11 ARRIZXAIH 2= 0 17,49 A17,49%6
ONSel= 201 WA Al =0t XIE3
33 0¥ 0 17,4% A17,49%6
= 0 13,997 A 13,997
= 0 1,050 A1,050
T 0 2,449 A2,449
308 XXM SO0IA 311,427 237,453 73,974
s 249,142 189,962 59,180
S 18,685 14,247 4,438
s 43,600 33,244 10,356
183 SV 2SS & AET AL 311,427 237,453 73,974
OdaEs MHIA A
& 5,190,450 +60H 311,427 237,453 73,974
s 249,142 189,962 59,180
S 18,685 14,247 4,438
s 43,600 33,244 10,356
COIASIE O = 247,110 245,513 1,597
= 6,000 6,000 0
= 241,110 239,513 1,597
Lolwens 29 247,110 245,513 1,597
S 6,000 6,000 0
i 241,110 239,513 1,597
SA2 2el 117,260 115,663 1,597
101 @124H| 31,960 30,363 1,597
04 JRHHZ2Z2REE S 31,960 30,363 1,597
OF A2 JIZHNH22X JleEs
2% 84,0002 %262+ 1H+1200 2 26,208 24,611 1,597
YA HHI(= =X 1,010,147 976,883 33,264
= 20,937 20,937 0
s 214,974 214,974 0
(= 74,980 74,980 0
[ias 699,256 665,992 33,264
el 2 FH] 891,547 858,283 33,264
= 20,937 20,937 0
s 214,974 214,974 0
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2A: F2=SK
M HYRAZH(FLU=X1L)
el QIEE2E (SH9 H2)
S - B - SRA(3) - HIRAY - BES ol &y JE-R HIRS2
< 74,980 74,980 0
= 580,656 547,392 33,264
CHAEE 2 (XHA) 63,984 30,720 33,264
101 el4H| 56,973 29,250 27,723
08 SRA(PINAHL) 222+ 56,973 29,250 27,723
OOtSSEAtdIZ2IAL 212AH| =IHAI&
38 1,508,020 +58 5 39,973 12,250 27,723
U ASREESS 7,011 1,470 5,541
04 SRA(RIH)22N BE=2RYS S 7,011 1,470 5,541
OOtSSEAtIZIEIAL AR 282 =IHXIE
3 2,337, 00035~ 12%+5 7,011 1,470 5,541
=&l 118,600 118,600 0
s|¥=XE Jl=2l 19,040 25,920 6,880
201 Zet2d] 12,740 17,520 A4,780
01 AlR2telHl 12,740 17,520 N4,780
Olgets=2t| 7,140 9,520 2,380
03 L=XE FA2Y A A
48 85,000 +78« 122 7,140 9,520 A2,380
Ol=2€Hl] 5,600 8,000 A2,400
O3 L=XE FA2Y SN A4
3 8,000&*7E*1002 5,600 8,000 A2,400
202 04l 6,300 8,400 A2,100
01 A 6,300 8,400 A2,100
Ogd=XE A2 SH A
& 20,0002 %72 =453 6,300 8,400 A2,100
SSAITFE J1=24] 6,880 0 6,880
201 Let2a| 4,780 0 4,780
01 AlR2telHl 4,780 0 4,780
Olag+=2Hl] 2,380 0 2,380
OSEATFE FA2E SAAY
85,0008 x4 H+7& 2,380 0 2,380
Ol=2&Hl] 2,400 0 2,400
OSEATFE RA2E SHAY
8,000 x3Z *1002 2,400 0 2,400
202 04t 2,100 2,100
01 SLHA Y] 2,100 2,100
OSSATFE FA2E SAAY
0,000& x5 21 2,100 0 2,100
Heas(Fe=xm) 1,413,436 611,114 802,322
WeHeHXIE 593,728 611,114 A 17,386
ASNII=24d SEIANES(28 593,728 611,114 A 17,386
701 JIEtRIHISHES 593,728 611,114 A17,386
01 JIEtal AN ES 593,728 611,114 A17,386
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S FRI=XID
Hu: RS (FoI=X)

&2l LHEHAHXIE (SH &)

SN - BE - SRA(SIH) - NIRAY - B2 0 & ol & o HimEE]

OfzsWII=SE=H dE=

& 593,728,000& %12 533,728 611,114 17,386
SHEXE 819,708 0 819,708
EPSPNES 819,708 0 819,708
802 Btet=DIEt 819,708 0 819,708
01 =2 x=ttet= 697,555 0 697,555

(=

215,938,000& 12l 215,938 0 215,938
=2

020288 BEOISALXIAAIY 282X
ZeTon 9! S0|Xt

2,770,0002!+13] 2,770 0 2,770
020232 THAZALRLIUIOIE Q1218] X Ol
Tt 23,00021+13] 2 0 2
O3 TAZAT BE2 KA DS
o 9l 0| X 159,000+ 15] 159 0 159
02023 JIZMSHHBI BH| YT
259,610,920 2413 250,611 0 250,611
02023 JIZMSHAZHZON 20| Y
o 120,000+ 15] 120 0 120
O3 S UTBL|H| UXSHHRADE
FTErOl SHY| F T4 QU 0| XpE Al
6,888,0002 13| 6.888 0 6,868
O3 YASEMLIAANY 2WRES A
3 xrol 70,717,0002/+18] 70,717 0 70,717
O3 AASEHLIAAMY 2WRES 2
MOIR BHEr2 87,0001 +15] 187 0 167
02023 JMARFE SRR 2HI2ES
HTO 9 BAO| R}
18,134,00021+13] 18,134 0 18,134
O3 AZEXNE 20| Z R
23,140,0002/+18] 23,140 0 23,140
02023 MEXIRAH| 24| Tz
11,400,00021%13] 11,400 0 11,400

020283 MBI 2b 40|

46,0002113] 46 0 46

02028 SHE ADESTAFAHIA T
D N RAY F A

2,429,0002%13] 2,429 0 2,429

020288 SPIS AQIESTIHFALIA HA

2 JH2 XIRA OIX

62,0002 +13] 62 0 62

02028 ZooItZ 20 X2 2| HHz

31,774, 7602 %18l 31,775 0 31,775

020283 FO4H(OIE) X2 2b| Fyzs

1,204,002 13l 1,294 0 1,294

02028 ZoHIUT2l MUK 2| FEeY

2,030,0002%18] 2,030 0 2,030
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2A:
X XH -
(=

=aak

A - BE - SR (IH) - HIRAY - BES 0] a0t /IR HlRE2
020283 ZOHRILXIZI ARl =0l &S
208,000%4+13] 208 208
O34 FojeIUKtzl SXUXE bl Ze
ol 15,422, 0002413l 165,422 15,422
020238 ZOHIUTI2] AI2LEOHQIQIOHAL T
A 2| FFA o 0IX}
5,319,002 +13] 5,319 5,319
020234 HORANZAIL SSXRAS =2t
TR 18,709,00021+13] 18,709 18,709
020283 AlZel HLHAH HH (SRR
2IA 0I21H]) RHIBXS BRH L OIX
4,517,00024+13] 4,517 4,517
020224 FoHHE OISSEBAHIA XR 22
EEE 312,002 +13] 312 312
02028 FoHHS OISSBHHIA X2 =t]
EEE NI 6,345,000%/+13] 6,345 6,345
@ Al - CHIEZEZHES 119,086 119,086
O2023E XIHALSIMHIAS IS THIRES
Ha oy 15,933,0002/+13] 15,933 15,939
020234 XIHALSI MBI AS ALY SHIRES
20|t 263,00024+13] 263 263
020234 HEHOISASNAANY SHISES
R 206,000%4+13] 206 206
O34 HEHISASNAANY SHIZES
A0/ Xt 3,0002/+13] 3 3
O20224 5,188 FH0 45 ZBTO Bh
720,00024+13] 720 720
Q20224 5. IBYEXI A ST M Brt
840,000%1+13] 840 840
O20224 QIFSSSRAUR MEXIAH| 01X
Bre 1,00021%13] 1 1
O2022 51881045 OITHas0) Bh
25,0002 +13] 2 2
Q20224 5. 1BME XIS 0IXH Ao Bt
2,00021+13] 12 12
O22BE A 5.18 JISMBA Fot To4 hg
346,00024+13] 46 346
Q20234 AIZ 5.18 JIS&AH H&F OIXt Bt
4,00024%13] 4 4
OB SYRBN RE WS cHIREZ
SRR 1,577,00024+13] 1,577 1,577
O4 HHRTA Fo+Y SHEES &
3 o 7,170,00024+13] 7,170 7,170
OB MESEIPY RE PEYULY ©
HISESZ Do 5,580,002 +13] 5,580 5,560
020234 5. 180K B F0l+Y THISES
SEREEIY 231,00094+13] 231 231
020234 5182 FRB MEXAZ THIZE
2 230,00024+13] 230 230

|
&
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2 F0I=X2
HE: HRES(F=X)
Sl 2HAE CER-E)
SA-ZE - SA(FAH) - NISAY - BES Oi &F2H N3 A Hlunsz
O3 BIZTI2S Bkt N T2
Z2 Iy L OIR 394,000 %13 34 3
O2023 5. 18AFEK L AISE HHIAIY ZH|
BRI BT U OX
5,275,000 13| 5,275 5,275
ONBE SURBA RE 2EHH4Y 4|
PED eHErH 450,0002! %18 450 450
002244 ALBIZRIAIE SAR AoH2s K
= 95,0008 *13 % %
023 AFBISRIAIE SAR Ai2EE &
bl ZERU QU OR 331,00024%15] 331 331
O3 ALBI=RIA BEOR B2nsH| &
bl &R 863,00021%13] 863 863
020233 A2 XISAME 2% 245t X
=N 1,0002! 1 1
02023 I ZMBHABH Tl TEz
o 15,00024%15] 15 15
00233 ANESMEIAAY THEXS &
sz 5,079,00021*13] 5,079 5,079
02023 XIAAIS| R EBOH MYRA Q1A
H SHIEXZ2 Zaxo
48,00024%13] 48 48
02023 KIHAIS| 2 HBOH MYR Q1A
Hl SHISZXZ2 20| Xt 2,0002%13] 2 2
O23 JHARIHLS XA THIRES
SRR 1,331,0002%13] 1,331 1,331
02023 JIARIESS XA THEES
X Ab LMOIRE 30,0008 13 30 30
020233 21Z=XXNY TH| ez
2,893,00021%13] 2,693 2,893
020233 MEXI Y| TH Zg Ry
7,830,000 7,830 7,830
020233 XY T L0 X}
32,00024%15] k% 2
020233 ZOHRIIZ 204 XS EHl Mz
4,086,0002! 13| 4,086 4,086
023 Y42 (1) XD SHl Dz
167,000 13| 167 167
O3 ZOQ BEXR T =K S|
Zgxion o OfR 7,642,000 +13] 7,642 7,642
02023 CIAR0H! B AHIA A S|
AU 9 OfR 585,00021%13] 585 585
O2023 HOHQIAKXI2] UM FH| &gzt
609,0002/%13] 609 609
O2023 FOHQIA Xt AIZH EH| &gzto
62,00024%15] 62 62
O2023 FOjQIAX2| SXLR2] TH| e
rou 4,627,000 +13] 4,607 4,627




2 F0I=X2
HE: HRES(F=X)
Sl 2HAE EERE)
SA - B S(BH) - AIRAY - BAS 0l &y ol 8 o tmE==]
020233 ZONQILXI2] AI2HEOHQIOHOAL Tt
AN S FEIoH o OR
421,000 %13 421 0 421
020233 ZOHQIHFAIL SHXRAY EH|
SRS 2,406,0002! 13| 2,406 0 2,406
O3 HOQIHFAIL BAK SE4Z &
bl DAY 9 0|t 964, 0002 %13 964 0 964
02023 RONIFALBAIE 2 TH| T
Zro 9! 0|} 6,445,00021*13] 6,445 0 6,445
020233 ZOHQIOIBAIE BAX SE4E &
bl ZBRU QU OR 352,00021%15] 352 0 352
0023 ZOHIHATHEAIL 2% TH| &
Zro 9l 0|t 482,00021%13] 482 0 482
020233 ZOjQI DA RS T2 2
o CHl HBIY L 0|
848,000 #13] 848 0 848
0202243 AlZ FOHQI=XI2 SAH X2 EH|
Z gz ol 14,974,002 %13 14,974 0 14,974
O3 AFBI& Al 22A THIEES 0K
SHAON BhEt 12,00024%13] 12 0 2
023 A2 FOHQI=XI2 S4H X2 S|
T gz ol 10,272,000 %15] 10,272 0 10,272
00233 A2 HOHQI=X 2 2% T THF
o 5,331,000 %13 5,331 0 5,331
O223 At2ltel MLRH e (STARI
2IAF QI2IH]) SHIEZEZ Fa o
433,000/ %13 433 0 433
0223 Atelltel MSHH e (SeArD
2IAL QI21H]) SHIREZ LMOIR
19,0002 %15] 19 0 19
023 FHAHE OISSEAHIA XB(EY
AEIE) GH| BX2 T &0
478,00021%15] 478 0 478
020233 ZOjO!I BOIZEIIEXME 2
TH BES I L 0|}
61,00024%15] 61 61
B JIErEE2S 3,067 3,067
ONBE WSZ0 HIRA T 02 A2
BX XY BES FHEH
3,067,00021%15] 3,067 0 3,067
FHoRIZE Ol 25 228,462 230,462 £2,000
7 140,928 140,928 0
= 10,570 10,570 0
= 76,964 78,964 £2,000
Ots=XIALS 228,462 230,462 A2,000
2 140,928 140,928 0
= 10,570 10,570 0
= 76,964 78,964 A2,000
C2AAEIE 2 52,302 54,300 £2,000




SN oIS D
B HPE Ol 25
&2l OtSSKIANY
SA - B SA(3) - MRAY - BES ofl vy p/IE- -
201 22 1,250 3,250
01 AFS2t2ltl 1,250 3,250
OOIS=XDM(BLH) N2+ TS|
Z2& 03 0 2,000




H & 0l & AHS B Ml A

0248 =g 2 3| LBta &Ml 2024-09-09 15:24:17

M Lol 22X 58
el ==XIAIE X (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
IS 111,060,346 110,272,968 787,378
= 59,045,863 59,493,880 N448,017
z 4,404,335 4,408,742 22,407
2l 1,735,176 1,738,461 13,285
[ 11,439,640 11,599,297 159,657
= 34,435,332 33,034,583 1,400,744
Lol =X B8 74,527,809 74,326,701 201,108
= 48,957,436 48,957,436 0
= 2,873,018 2,873,018 0
) 127,850 127,850 0
< 4,385,556 4,381,797 3,759
= 18,183,949 17,986,600 197,349
LOIEXIAE K& 8,442,312 8,235,854 206,458
= 578,042 578,042 0
[ 1,582,763 1,577,564 5,19
= 6,281,507 6,080,248 201,259
RV MRMH = 123,480 108,000 15,480
307 2I2to1H 123,480 108,000 15,480
10 Al SXAIEEHE 22X 123,480 108,000 15,480
O MRML=H
Jd 30,0002 %343+ 122 123,480 108,000 15,480
COIMBIAIE AR S84 105,600 96,000 9,600
< 29,520 28,800 720
s 76,080 67,200 8,880
307 2Itold 105,600 9,000 9,600
[ 29,520 28,800 720
= 76,080 67,200 8,880
10 Al2ISTIAIEEE 22X 105,600 9,000 9,600
COIMEAIE SAL S8E
3 50,0002 %1642~ 122 98,400 96,000 2,400
< 29,520 28,800 720
= 68,880 67,200 1,680
OLQIMEAIA SAAF SEE(FI4)
Z& 50,000 +24H+62 7,200 0 7,200
NS 2t AY 308,667 280,000 28,667
401 Al&BIL S CHYI 308,667 280,000 28,667
01 AlZHI 308,667 280,000 28,667
OXIEERAH FXIHY
B3 254,667,000& 13 254,667 280,000 025,333
OXHNEG A A=)
& 54,000,000 %18l 54,000 0 54,000
Id2E 2Y 769,522 754,522 15,000
(= 143,221 143,221 0
s 626,301 611,301 15,000
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FA JIES
M Lol 2X &
el ==XIAIE X (SH9 H2)
SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS
307 2Ito1d 754,522 754,522 0
< 143,221 143,221 0
= 611,301 611,301 0
06 283 37,727 46,500 N8B, 773
OZzd HY=EEs
& 81,131.53 46500 A& 37,721 46,500 A8, 773
< 7,546 9,300 A1,754
i 30,181 37,200 27,019
10 Al2ISTIAIEEE 22X 678,375 669,602 8,773
OZz2d 24|
ZE 120,793.22 %4681 A 1200 2 678,375 669,602 8,773
< 135,675 133,921 1,754
= 542,700 535,681 7,019
401 AlEHIYL L THYI 15,000 0 15,000
01 Al&HI 15,000 0 15,000
OZLEZIhEX Z22Y FHAAIE EXI3At
Z& 15,000,000 *12] 15,000 0 15,000
d2E 2435 N 224,373 199,373 25,000
[ 7,715 7,715 0
= 216,658 191,658 25,000
301 EtE NS 35,240 30,240 5,000
14 IIEt2 8= 35,240 30,240 5,000
Odzg gdst 228 W=t
2 & 50,0002 *100H 5,000 0 5,000
402 RIZERHE01H 140,000 120,000 20,000
01 RIEN AL E X (XM THR) 140,000 120,000 20,000
otsZ24g His 7
ZA875,000& * 16004 A 140,000 120,000 20,000
429 22| X2 (Fh) 27,073 16,273 10,800
[ 4,882 4,882 0
= 22,191 11,391 10,800
301 EtE NS 27,073 16,273 10,800
< 4,882 4,882 0
= 22,191 11,391 10,800
02 ALRI2E A6 (FHAAHS, NSWE) 27,073 16,273 10,800
2 22| FIXIZ
dd 54,0003 %2002 10,800 0 10,800
ded ssHYy 28 A2 23,000 13,000 10,000
< 6,900 3,900 3,000
s 16,100 9,100 7,000
307 2Itold 23,000 13,000 10,000
[ 6,900 3,900 3,000
= 16,100 9,100 7,000
11 ALSISTIAIZEE X 23,000 13,000 10,000




FA OIESEL
A Lol =X BH
oels SOISXAE X2 (St &)
SA - B GR(31) - HIRAY - BES il &k ol @ o HimE=T
OZzd ssHUY 29N
B 4,600,000 «500 2 23,000 13,000 10,000
& 6,900 3,900 3,000
= 16,100 9,100 7,000
d2d HEFLdAE £X 17,200 15,000 2,200
= 4,500 4,500 0
= 12,700 10,500 2,200
402 2I2HXHE01H 17,200 15,000 2,200
< 4,500 4,500 0
= 12,700 10,500 2,200
01 QIZEXHZ2 AL 2 (KM E) 2,200 0 2,200
OZ2Y & 2H™AIE &X =0t X
ZE 2,200,000 %102 2,200 0 2,200
Hoe sg=s=8 2 173,782 89,000 84,782
307 212+0l1& 84,000 74,000 10,000
05 QItE =2 84,000 74,000 10,000
Ogtel SE=8=4 29
Z& 28,000,000 *30H A 84,000 74,000 10,000
401 AIEHIZL 20| 89,782 15,000 74,782
01 Al&ZHI 89,782 15,000 74,782
Ogte SE|=Y W2+
& 13,260,666 *30H & 39,782 15,000 24,782
O=82 sE==8 NE=+ SA
B & 50,000,000 100 2 50,000 0 50,000
SHESI=SEY 29 64,929 60,000 4,929
= 19,479 18,000 1,479
= 45,450 42,000 3,450
307 el2+old 64,929 60,000 4,929
< 19,479 18,000 1,479
= 45,450 42,000 3,450
05 QI2+2(E 2 64,929 60,000 4,929
OsHESSS=E 29|
& 21,643,0003«300 2 64,929 60,000 4,929
< 19,479 18,000 1,479
= 45,450 42,000 3,450
MNAS ol Maory 65,200,927 65,204,777 3,850
= 48,379,3% 48,379,3%4 0
= 2,873,018 2,873,018 0
2l 127,850 127,850 0
< 2,801,113 2,801,113 0
[ 11,019,552 11,023,402 3,850
A X3 60,000 61,650 A 1,650
201 ZBt=Ehl 0 1,650 A1,650
01 AlR2telHl 0 1,650 A 1,650
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SH: JIES=T
B2 Lol =X =3
&l MAS L0l MEory (EEEE))
SN - B SRA(BH) - HPAY - BES 0l Ary ol 8 o HimE=ET
BIEEEEEERTRE EEL: 0 1,650 A1,650
w0l 24 X8 2,099,010 2,102,810 3,800
201 ger2 | 29,010 32,810 3,800
01 AFR22IH| 25,010 28,810 3,800
O0lZal #= HIRMIIE HMN
EEE 0 3,800 3,800
B AS AHIAR =01=XD12 2623 1,600 0 1,600
307 212+0| M 1,600 1,600
11 A= XA S E 1,600 1,600
HHAMBIAHIAE SoI=XDI2 2019
3 A 1,600,008 142 1,600 0 1,600
ZAAIE 22 108, 100 109,600 A1,500
= 1,680 3,120 A1,440
2 106,420 108,480 A60
TAAL 22 Y 22 102,500 %,200 3,300
201 ek | 3,300 0 3,300
01 AFR22IH| 3,300 0 3,300
OBLEX 2¥s MY 22 UE M
A 3,300,0008%13] 3,300 0 3,300
SEEERS 5,600 10,400 24,800
= 1,680 3,120 AT,440
2 3,920 7,280 3,360
301 Lere A 5,600 10,400 4,800
= 1,680 3,120 A1,440
2 3,920 7,280 3,360
02 AFSI 2B EAHS(HHS, XILMR) 5,600 10,400 4,800
O32HY X AE 1,120,002 +52 5,600 10,400 4,800
= 1,680 3,120 A1,440
2 3,920 7,280 3,360
NS ol B35 8,573,334 8,505,782 67,552
= 1,749,528 1,749,528 0
= 1,004,483 980, 186 24,297
| 28,560 29,050 A490
= 1,391,236 1,365,926 25,310
2 4,399,527 4,381,092 18,435
NEETIS 7,008,715 6,941,163 67,552
= 1,745,643 1,745,643 0
= 1,004,483 980, 186 24,297
| 28,560 29,050 £490
= 1,223,133 1,197,823 25,310
2 3,006,8% 2,963,461 18,435
SRR 122,400 126,000 3,600
= 12,240 12,600 360




FA OIES
M HAAS Ots 2
s OlSS XA (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
= 110, 160 113,400 N3,240
301 LEENS 122,400 126,000 23,600
S 12,240 12,600 A360
i 110,160 113,400 23,240
02 ARSI SE AT S(FIANS, XLETHE) 122,400 126,000 23,600
OoEAse d=X2
23 300,000 +34H~ 122 122,400 126,000 23,600
[ 12,240 12,600 2360
= 110, 160 113,400 23,240
HEASOISHU flz2 NS 7,200 6,480 720
< 2,160 1,944 216
= 5,040 4,536 504
301 LEENS 7,200 6,480 720
< 2,160 1,944 216
o 5,040 4,536 504
02 ARSI SEHS(FIANS, XLETHE) 7,200 6,480 720
OJNEAGOISHU /2=
Z& 20,0003 308123 7,200 6,480 720
[ 2,160 1,944 216
= 5,040 4,536 504
JHEASOLSHITE SEM==8I 3,000 2,700 300
< 900 810 0
= 2,100 1,890 210
301 LEENES 3,000 2,700 300
< 900 810 0
= 2,100 1,890 210
02 A EE A S(FANE, XLETHE) 3,000 2,700 300
OJIELIEOtS It HE ==
Z& 50,00024+30H 23] 3,000 2,700 300
[ 900 810 0
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01 ArR2eltl 6,800 8,600 A1,800
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sy 240 800 A560
= 18 60 N2
i 42 140 AR

_62_




2A:
PSR
ool

SA - FE - SRA(3H) - MRAE - BES Off &4 I8N Hws2
ORE230ts A 32 03 0 1,000 21,000
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11 AR S XA E X 1,199,150 1,162,936 36,214
OXFotsHE a4 =<0 X
B 209, 710217 A+ 128 42,781 27,324 15,457
S 12,835 8,197 4,638
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< 5,088,913 5,282,125 A193,212
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< 413,497 534,871 N121,374
= 413,497 534,871 N 121,374
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= 1,535,845 1,986,662 2450,817
< 413,497 534,871 N121,374
= 413,497 534,871 n121,374
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OgRot = 2
3 196,903,2503 123 2,362,839 3,056,404 693,565
= 1,535,845 1,986,662 A450,817
< 413,497 534,871 N121,374
= 413,497 534,871 N121,374
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< 1,995,086 2,068,324 NT73,238
11 ARl S XA 1,995,086 2,068,324 173,238
OFetd 2 bSE Y/ FalNE-!
&2 220,088.80& 700!« 122 1,848,746 1,954,083 105,337
< 1,848,746 1,954,083 A 105,337
O3+4Hl s4181 X1
23 18,946R+333% 102 63,001 30,992 32,09
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= 14,900 13,500 1,400
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= 29,800 27,000 2,800
= 14,900 13,500 1,400
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HE=X 8 7,452,575 7,436,434 16,141
= 779,182 779,182 0
s 355,384 355,384 0
| 1,219,983 1,222,778 22,795
= 481,629 482,842 A1,213
= 4,616,397 4,596,248 20,149
NAS St2E2I0HE XK AIS 1,055,904 1,055,904 0
| 692,589 692,589 0
L= 137,474 137,234 240
= 225,841 226,081 A240
Fad S22 sXN=20 XE At 6,000 6,000 0
| 4,800 4,800 0
= 600 360 240
s 600 840 A240
301 LEtE2NF 6,000 6,000 0
| 4,800 4,800 0
= 600 360 240
s 600 840 A240
01 MBI EEHEGIZ2(2REXZTHRA) 6,000 6,000 0
OFAHSEREE XA

2 & 500,000& 128 6,000 6,000

| 4,800 4,800
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= 600 840 AN240
HyEEASE 921,215 924,484 A3,269
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< 6,626 7,000 N374
2 26,505 28,600 N2,005
11 AEEXAEEE 33,131 35,600 A2,469
OANE2Y FIIXE
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[ 6,626 7,000 N374
= 26,505 28,600 A2,095
FAUHN S JF0ISHIRH X 3,000 5,500 22,500
(= 900 1,650 AT50
2 2,100 3,850 A1,750
301 LetENZ 3,000 5,500 22,500
[ 900 1,650 ATH0
2 2,100 3,850 A1,750
02 MBI EZAGS(HAUAS, XLTHA) 3,000 5,500 A2,500
OZEENY HA0ISHILH N
AY 500,000 +6H 3,000 5,500 22,500
[ 900 1,650 AT50
= 2,100 3,850 A1,750
HMEZHUIIAIL XI2J=2EI20 2 1,700 0 1,700
(= 510 0 510
= 1,190 0 1,190
307 QI2+0| & 1,700 0 1,700
[ 510 0 510
2 1,190 0 1,190
11 AEXAMEER 1,700 0 1,700
OAZHYIIAL X232 EEJ% 29
,700,0002 1 2 1,700 0 1,700
[= 510 0 510
= 1,190 0 1,190
A2 |4 5,129,280 5,104,280 25,000
= 779,182 779,182 0
7l 275,105 275,105 0
(= 186,415 186,415 0
= 3,888,578 3,863,578 25,000
BSS0tLISH 29 25,000 0 25,000
101 QIAH| 4,000 0 4,000
04 JIZEHZ2Z2 XS 4,000 0 4,000
OZS20ILHSH SAHK Q124H]
ZE 2,000,000 101x22 4,000 4,000
201 LEtE Y| 1,000 1,000
01 Al22t2|H| 1,000 1,000
O3S|0lLlsH 29 22Z ¢
AE 20,0008 %25E+23] 1,000 0 1,000
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= 23,632 25,588 1,956
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= 1,437,887 1,479,0% 241,209
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M FAE B5 2 |4
ol Had =4 EER=E)
A -3 - SRA(3H) - ARA - Ofl &F2H I8N Hws2
Od=2 |2l
ZE 8,000&»877m 7,016 4,385 2,631
gz UAEIE Fad 28t N2 763,400 838,200 AT4,800
301 LEEES 761,200 836,000 AT4,800
02 A EEAHS(FANE, XLTHE) 761,200 836,000 AT4,800
OUXHIIE EaE 2atdte™d X
Z& 440,000 1,730 13 761,200 836,000 AT4,800
HaW XN@Z20Y 29 261,814 261,814 0
pJ 113,663 113,663 0
= 148, 151 148, 151 0
A4 gt= otoI0l 110,252 110,252 0
2l 55,126 55,126 0
= 55,126 55,126 0
201 er23 | 15,944 12,172 3,772
Jl 7,972 6.086 1,886
= 7,972 6,086 1,886
01 AtR2t2l] 13,802 10,002 3,800
Ognt=0BtdI0l 2208 28 &4
Z& 50,0008 *220H 1,100 300 800
) 550 150 400
= 550 150 400
Oog=0otuil 28 2= M
ZE 10,0002 *4000H 4,000 1,000 3,000
) 2,000 500 1,500
= 2,000 500 1,500
2 3522l 942 970 A28
O =01HI0] oty 2
Z& 11,8003 40 472 500 AV
) 236 250 A4
= 236 250 A4
206 =8I 4,700 6,400 21,700
2l 2,350 3,200 2850
= 2,350 3,200 2850
01 THZHI 4,700 6,400 21,700
OFse, MZHE S 2EMEH
dd 20,0002+37 .5 23] 1,500 3,200 21,700
) 750 1,600 2850
i 750 1,600 2850
301 LEIEN S 79,068 83,640 N4,572
pJ 39,534 41,820 22,286
= 39,534 41,820 N2,286
11 BARHIXES 79,068 83,640 n4,572
Ogu=0tHI0l Ots=4
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2 14,514 16,800 £2,286
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| 5,270 4,020 1,250
2 5,270 4,020 1,250
02 QRIFMAIEE 10,540 8,040 2,500
OYDSO0HEI0| AR HIHRIZE X2
2% §78,3332+102 10,540 8,040 2,500
| 5,270 4,020 1,250
Z 5,270 4,020 1,250
HSSHAASEOY YIS 0BT 2 117,074 117,074 0
| 58,537 58,537 0
2 58,537 58,537 0
201 Y2y 18,414 2,134 £3,720
| 9,207 11,067 A1,860
2 9,207 11,067 A1,860
REREET 8,280 12,000 23,720
OYDSOBIH0 M2HE T2y 2
A% 1,380,00024+63] 8,280 12,000 £3,720
| 4,140 6,000 ~1,860
Z 4,140 6,000 A1,860
307 212H01 11,760 8,040 3,720
| 5,880 4,020 1,860
2 5,880 4,020 1,860
(2 SRIFMARHE 11,760 8,040 3,720
OYDSOBHHI0I AR IR X2
2% 980,000+ 122 11,760 8,040 3,720
o] 5,880 4,020 1,860
2 5,880 4,020 1,860
EEEXE T IETER 983,077 1,002, 121 A19,044
2 166,450 183, 154 226,704
| 195,479 95,479 0
= 71,997 74,398 £2,401
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SEEET 913,857 98, 101 £22,244
2 156,450 183, 154 226,704
| 195,479 195,479 0
= 71,997 74,398 £2,401
z 489,931 483,070 6,861
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OOISESHEY 2R Al2teaH
A 75,0002 *1H*128 900 1,800 900
= 720 1,440 AT20
(= 54 108 N
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3 AIRHIS 3,418 3,980 NG
=z 2,734 3,184 A450
(= 205 239 A3
= 479 557 NT8
04 B2X(DIHL) 22X 22z8E= S 3,418 3,980 N5B2
OS2SR ABIEEREE Y &2
HEg3 EN 284,833 128 3,418 3,980 1562
z 2,734 3,184 A450
(= 205 239 A3
= 479 557 AT8
OlSEs Ao 29 15,914 15,332 582
34 23S 1,164 582 582
04 BRE(RI|HL) 22K HEH22Y= S 1,164 582 582
O0ISE5 HE0IA ABIEER SIS
A 2,530,434 %11 .54 2 1,164 582 582
HAUHE M2 2 (XHA) 90,555 78,675 11,880
101 QIAH 64,680 52,800 11,880
03 BRA(RIHA) 222+ 64,680 52,800 11,880
OFAUWE FR0I 0124H| 12
Y 510,000 %9« 12¢ 55,080 43,200 11,880
HAEXEI MM 2= 27,846 29,172 A1,326
(= 8,354 8,752 N3%8
= 19,492 20,420 1928
101 QIAH| 27,846 29,172 ~1,326
(= 8,354 8,752 A39%8
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03 BRH(RIHA) 2224 27,846 29,172 ~1,326
OF2EXET MM +=EH(2H)
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| | = 4,952 5,880 £928
o= 69,220 66,020 3,200
e ERIEEL 21,520 15,720 5,800
201 LEH2 | 15,920 10,920 5,000
01 AR 2218 15,920 10,920 5,000
OlgersgH| 1,120 6,120 5,000
OLQIZNE PASH S &
23 11,120,0008 14 11,120 6,120 5,000
202 01t 5,600 4,800 800
01 2L 01| 5,600 4,800 800
OLQI=XE SASY S H 4
A 20,000872 x40 5,600 4,800 800
OLE=XIE JI=3t| 24,160 29,160 5,000
201 LEH2 | 13, 180 18, 180 5,000
01 AlR2r2I8] 13,180 18,180 5,000
OlgersgH| 9,180 14,180 5,000
OOIS=XE SN2 ST
2 9,180,008 14 9,180 14,180 5,000
EREEIPIEET] 12,080 10,480 1,600
202 Ot 4,800 3,200 1,600
01 =LHo1H| 4,800 3,200 1,600
ON=FBE RA2SY SUNHA
AH 20,0008 6024 4,800 3,200 1,600
HAEE J|=A) 11,460 10,660 800
202 01t 3,200 2,400 800
01 =LHO1H| 3,200 2,400 800
OFAHE A2 SAHY
AT 20,0008 +42 =40 3,200 2,400 800
WP e (Oh= 8= 1) 1,315,933 0 1,315,933
ErSE 1,315,933 0 1,315,933
IIEHED 2HNE 1,315,933 0 1,315,933
802 Eret 2| E} 1,315,933 0 1,315,933
NERCESERSS 90,828 0 90,828
020233 J| =012 24| Ao
197,826,000 13} 197,826 0 197,826
020238 &I|220|2 #IIALLER N =2
DEXS FHmY 716,00024%18] 716 0 716
020233 FIILAI|2 BIIALLER XY =
DEEZ LMOIX} 3,0002x13] 3 0 3
020233 FI1L2I|2 (CVEX KI2AY 21
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O3 =oliel W ASIEE XA 2
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020233 Coliel U AIBIZS XA =
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o gl 0| R} 42,015,0002/+13] 42,015 42,015
020234 AZRISS X 2| LM40IK
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Zgzion ol 0Kt 13,0602 %13 14 14
O3 OFMS2EEICH OS] AlA
B 29 XISIAIY MK U 0|}
65,2802 %15 66 66
OB FHOMMSES EHTAZ XA
AU 9 OfR 3,173,47021%13] 3,174 3,174
O3 OFMSSHECH £Y2HS KA
o FEIoL ol 0K 84,8402 %13 845 845
0023 OFMS20l| 28t S22 S IIo)2at
AHRS EIBIOH 91 O X}
2,047,260+ 13l 2,048 2,048
O3 AIZTHF L HARIK2IAIY EEA
o gl O|Xt 1,620,0402!+13] 1,621 1,621
0023 MeIHE SASYTEN HUS
o TBEH U O R 273,67024 %18 274 274
O222 =H0IE X2l XA THIEED
Zgxiol ol 0K 19,620,310 %15 19,621 19,621
02023 MHYstEA 2P|y FHTY
Ol Xt 2,67021%13] 3 3
0223 XYota SAXZ0l 2 XA
Zgzon ol 0K 5,600,5002*13] 5,601 5,601




H £ 0l & AF & S

2024-09-09 15:24:17

0243 =& 2 3 LEtSIH &l

SA: LXRIZH D
MM MRS
ol XIGFRIEA S

Al A

SA - B S9(SH) - NIRAY - BES o ar o HIDS2
NSRSl 31,192,631 29,337,865 1,854,766
= 1,522,865 1,517,865 5,000
s 1,736,789 1,988,49% A251,707
= 2,970,390 2,832,782 137,608
o 3,500,000 3,500,000 0
i 21,462,587 19,498,722 1,963,865
AMARES 5,044,267 4,542,085 502,182
= 7,340 2,340 5,000
s 1,065,000 1,065,000 0
S 147,421 145,080 2,341
= 3,824,506 3,329,665 494,841
NS H&-st 3,885,872 3,812,372 73,500
2 5,000 0 5,000
s 1,065,000 1,065,000 0
= 143,520 143,520 0
i 2,672,352 2,603,852 68,500
XS Z M2t 1,486,272 1,471,272 15,000
307 212t01 & 211,000 191,000 20,000
08 OIXtEX S 160,000 140,000 20,000
OA4Z0 NAOINSH, BE44E)
Z & 2,000,000 *750H 2 150,000 130,000 20,000
308 KEXIEHMSOIH 14,718 19,718 25,000
13 SI1Z SOt E & X2 &AL 14,718 19,718 A5,000
OFBlLE TTHHLY FoIX S
Z& 5,000&+1,000& 5,000 10,000 A5,000
PN ek el 50,000 0 50,000
307 212t01 & 50,000 0 50,000
RIEI=PONSTEES 50,000 0 50,000
OSHARZEA N2 (ZHIXPXR)
50,000,000& *12] 50,000 0 50,000
NSAZAER LTS (B L 8,500 0 8,500
= 5,000 0 5,000
s 3,500 0 3,500
201 ZEeH23 ] 8,500 0 8,500
= 5,000 0 5,000
s 3,500 0 3,500
01 AFS2t2ltl 8,500 0 8,500
OXIGAZA BN LT A(HEIIHAL X
21) 8,500,00021*13] 8,500 0 8,500
= 5,000 0 5,000
i 3,500 0 3,500
THRHAIZ AL BITHEHAE] 1,128,570 699,838 428,682
= 2,341 0 2,341
i 1,126,229 699,883 426,341
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2A:

2 Atel Z Xl ot

I MRS
SRl THeHAIZAIE SUHEALE (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
S5EAY Edat & KXl 623,888 699,888 AT6,000
201 er23 | 126,400 112,400 14,000
01 At2teltl 42,800 34,800 8,000
Olger+=3tl] 42,800 34,800 8,000
O5ZANE 28 225 28
Z& 400,000 %50 A +43] 8,000 4,000 4,000
OXSAE L20l 2A2F & =8
3 1,000,000 x22] x4IH 2 8,000 4,000 4,000
02 S5=2g4l 63,600 57,600 6,000
O[A&EZBISXIHI] 42,000 36,000 6,000
OBESAE U A4 SRE=H
& 2,000,000 %500 & 10,000 4,000 6,000
207 AR 40,000 120,000 80,000
01 H7ESHI 40,000 120,000 80,000
Ogg = AIHB(SEXS AF)ZE
& 20,000,000 *12] 20,000 100,000 80,000
401 Al&BIL S CHYI 80,000 90,000 10,000
01 Al£ZHI 80,000 90,000 10,000
ONSAIE ATAIE WHISAH
ZE 20,000,000 %200 &~ 40,000 60,000 20,000
OSASLAIE MY D|=HE WX SAH
38 02 0 20,000 £20,000
OAIB5ZAIE HIJHEe Al X
2% 20,000,000 %10 &~ 20,000 10,000 10,000
OSHZAE ==AIE 2+ L QHEAIE &
Wy 20,000,000 * 100 2 20,000 0 20,000
HEAE SHSH 2SN 4,682 0 4,682
< 2,341 0 2,341
= 2,341 0 2,341
307 2Ito1d 4,682 0 4,682
[ 2,341 0 2,341
T 2,341 0 2,341
06 283 4,682 0 4,682
O20248 HSAIE stHSH 288 X
97,5403 4801 A 4,682 0 4,682
< 2,341 0 2,341
z 2,341 0 2,341
HSANE =4 500,000 0 500,000
401 AlEHIYL S THYI 500,000 0 500,000
01 Al&ZHI 500,000 0 500,000
Ot AIE EX H
500,000,000& x13] 500,000 0 500,000
nE =48 ¢ ¥ 12,015,534 12,282,220 N266,686
= 418,400 418,400 0
= 671,789 923,4% n251,707

&




SAT ARRIZH D
M D8 =X U oF
Chel: 40|25 LA EOIEALY (el mel)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
= 1,969,474 1,904,632 54,842
oy 3,500,000 3,500,000 0
2 5,465,871 5,535,602 769,821
E40125]YFH A A 396,820 293,000 103,820
< 156,720 87,900 68,820
2 240, 100 205, 100 35,000
Mg HE 22FA3 A 396,820 293,000 103,820
= 156,720 87,900 68,820
2 240,100 205,100 35,000
307 Q12H0| A 396,820 293,000 103,820
= 156,720 87,900 68,820
2 240,100 205, 100 35,000
02 BIRIZ A AN BE 396,820 293,000 103,820
OFY 2242 N
A 992, 05021002 #43] 396,820 293,000 103,820
= 156,720 87,900 68,820
2 240,100 205, 100 35,000
NEEPEERDEENTE 368,364 408,364 220,000
= 57,675 57,675 0
= 9,234 15,234 £6,000
2 31,455 335,455 A 14,000
MEIRBROIS Al - ZY 2 0 20,000 220,000
= 0 6,000 £6,000
2 0 14,000 A 14,000
402 QI2EXH=0IH 0 20,000 220,000
= 0 6,000 £6,000
2 0 14,000 A 14,000
02 BIRIXHE AL B X (OIFTHE) 0 20,000 220,000
OMBIHAHIIY AlLZHIXI
A% 02 0 20,000 £20,000
= 0 6,000 6,000
2 0 14,000 A14,000
ARRIHEN 10,057,899 10,408,406 350,506
= 418,400 418,400 0
= 614,114 865,821 ~251,707
= 1,641,520 1,649,498 ~T7,978
o 3,500,000 3,500,000 0
2 3,883,865 3,974,686 £90,821
S EERTEEE 79,040 79,040 0
201 Y2y 75,840 79,040 3,200
01 AR 22lt] 40,040 41,240 A1,200
Ol e8] 16,240 17,440 A1,200
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SA LXelZ M
g3 18 =0 € otd
ol Xl EEXNE (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
ozYd FYsS s=2=8 7
ZF 200,000 x25+23] 800 2,000 21,200
03 A2 I 20,000 22,000 22,000
Ogtel =gl AL 2|
Z& 20,000,000 *12] 20,000 22,000 ~2,000
202 Ot 2,000 0 2,000
01 =LH0i 2,000 0 2,000
O & LXeIXH F2 =& ol
20,0003 x4 26 2,000 0 2,000
405 THEFSHI 1,200 1,200
01 MMM ESFSHI 1,200 1,200
Oozd = ¥a)| 7Y
600,000 *1CH 600 0 600
OFY g2 E2ME IR (EZY A+
& 600,000 *1CH 600 0 600
A ATl XIR 296,000 326,000 A30,000
301 EtE NS 15,000 45,000 A30,000
14 IIEt2 8= 15,000 45,000 30,000
O=QXEE ANgssgsd A
38 02 0 30,000 30,000
dggdieldEds Nd 241,000 113,000 128,000
< 72,400 34,000 38,400
o 168,600 79,000 89,600
308 XXM SOIA 128,000 0 128,000
< 38,400 0 38,400
s 89,600 0 89,600
13 SI12S0He 4 A AS A 128,000 0 128,000
Odg 4 3% Xl N2 A
128,000,000 13 128,000 0 128,000
< 33,400 0 38,400
= 89,600 0 89,600
HIEFEUIeEHE X 532,113 597,212 65,099
z 222,718 233,986 ~11,268
< 2,718 108,968 216,250
= 216,677 254,258 A37,581
308 AHXIEMSOIH 532,113 597,212 65,099
as 222,718 233,986 A11,268
[ 92,718 108,968 216,250
i 216,677 254,258 A37,581
13 SIS0t 34 A A A 532,113 597,212 65,099
Odlg 4 == SdAAMY
2 263,841,000& 13 263,841 242,977 20,864
= 118,320 88,497 29,823
(= 43,556 46,344 12,788
= 101,965 108,136 26,171

B




A LRI Z L
M N A Y oHF
=t el EHEXE (CH9: &S1)
SA - BE - SRI(BH) - MRAR - BaS ol &t o H o HIDS2
OUXE "4l RS20t Xt
Z& 268,272,000 13 268,272 34,235 A85,963
= 104,398 145,489 A41,091
= 49,162 62,624 A13,462
= 114,712 146,122 A31,410
ANE=EE FHLTeAS 1,070,609 1,502,616 A432,007
= 346,549 586,988 A240,439
= 95,638 125,766 130,128
T 628,422 789,862 161,440
307 @I2tol ™ 448,186 660,289 A212,108
= 111,267 242,239 130,972
= 336,919 418,050 A81,131
02 QI EANEE X 448,186 660,289 212,108
O&®E UXNE Xl Z2RE
Z& 257,588,000 *13 257,588 477,600 220,012
= 55,414 190,800 135,386
s 202,174 286,800 N84,626
OXI¢Es #d LIXNE LXiel Z2ME
Z & 190,598,000& %12 190,598 182,689 7,909
= 55,853 51,439 4,414
= 134,745 131,250 3,4%
308 XXIHMSOIA 622,423 842,327 A219,904
= 235,282 344,749 109,467
= 95,638 125,766 130,128
= 291,503 371,812 /80,309
18 SV 2SS & AET AL 622,423 842,327 £219,904
OAITHAUUX SHM F I
Z & 86,536,000& %12 86,536 137,204 A50,668
= 13,3%4 43,053 A34,659
= 35,561 40,359 4,798
T 37,581 48,79 A11,21
OEAZEg AQEDR Z2RE
Z & 181,054,000& %12 181,054 234,408 A\53,354
= 65,612 103,928 138,316
= 34,632 36,144 1,512
= 80,810 4,336 N 13,526
Ody &4 FIAAAM
Z3 20,740,000 *13] 20,740 25,130 14,390
= 6,862 8,730 A1,868
[ 4,163 4,920 AT57
= 9,715 11,480 21,765
OZ=Z A HHAZ A
ZH 48,628,000 *13] 48,628 59,614 A 10,986
= 17,314 18,861 1,547
< 9,3% 12,226 N2,832
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S dXel 2t
g3 18 =0 € otd
ol Xl EEXNE (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
= 21,920 28,527 26,607
OJIYUES FE XA
Z & 57,989,000 *12] 57,989 158,49% 100,506
= 18,362 51,439 n33,077
< 11,888 32,117 120,229
= 27,739 74,939 247,200
He SHIWS MAKIE X (HEALY) 1,020,000 1,000,000 20,000
[ 1,000,000 1,000,000 0
T 20,000 0 20,000
201 el 5,000 0 5,000
01 At22t2lt] 5,000 0 5,000
O=HU%= 28 L 4HES
5,000,000& 13 5,000 0 5,000
207 ARl 15,000 0 15,000
01 = 15,000 0 15,000
O==HI== I (0EM) 15,000,000& x12] 15,000 0 15,000
HATH XA 462,000 457,400 4,600
= 418,400 418,400 0
s 43,600 39,000 4,600
307 2Itold 462,000 457,400 4,600
= 418,400 418,400 0
= 43,600 39,000 4,600
02 2IZHB A E & 462,000 457,400 4,600
OBECH XA
3E 462,000,000& 13 462,000 457,400 4,600
= 418,400 418,400 0
= 43,600 39,000 4,600
st sdds 243 XNE Mg 48,000 24,000 24,000
< 24,000 24,000 0
s 24,000 0 24,000
308 XXM SOIA 48,000 24,000 24,000
[ 24,000 24,000 0
= 24,000 0 24,000
18 SIS0t 4 A A A 48,000 24,000 24,000
Ot sidals g4dst AEAY
& 48,000,000 *12] 48,000 24,000 24,000
< 24,000 24,000 0
= 24,000 0 24,000
EXsX & IIgXH 682,719 840,649 A 157,930
[ 254,907 210,750 44,157
i 427,812 629,899 N202,087
SEXs X2l 682,719 840,649 A 157,930
< 254,907 210,750 44,157
= 427,812 629,899 ~202,087

8




M LXtelZ Mzt

g ENsA & X

tel: EXKXI2el EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
ENsX JIg 223 X 637,270 702,500 165,230
< 254,907 210,750 44,157
= 382,363 491,750 109,387
402 QIZERH201H 637,270 702,500 165,230
< 254,907 210,750 44,157
= 382,363 491,750 109,387
02 RIENZASEZ (01 THR) 637,270 702,500 265,230
OJIEE A=A S AE BEX3
ZZ 318,635,0002 200 &~ 637,270 702,500 165,230
& 254,907 210,750 44,157
= 382,363 491,750 109,387
EXN=X AE2el 45,449 138, 149 AR, 700
201 er23 | 40,049 32,749 7,300
01 At2teltl 37,740 26,440 11,300
Olget+=gtl] 20,900 12,600 8,300
OENRXl 2 22H]
Zd 550,000 +6IH A+32] 9,900 6,600 3,300
ORI N2 N2
250,000 x5 +43] 5,000 0 5,000
orgxgl] 3,000 0 3,000
OFNRXI HAES FA R
3,000,000 170 3,000 0 3,000
03 A2 HHI 2,309 6,309 24,000
OFNFX S28AL 2t 24
Z& 2,309,000 +12] 2,309 6,309 24,000
402 QIZEXH20IH 0 100,000 100,000
01 QI X2 AL E A (KHHITHE) 0 100,000 100,000
Ozd S EX0IY A8 BX2
38 02 0 100,000 100,000
Slalate 2E 2l 3,449,350 3,012,730 436,620
[ 147,000 113,000 34,000
= 3,302,350 2,899,730 402,620
Sl 3,449,350 3,012,730 436,620
< 147,000 113,000 34,000
= 3,302,350 2,899,730 402,620
SAMACT] 2H2e(Z AT X)) (HEALY) 2,651,950 2,315,330 336,620
307 2I2to1 58,750 0 58,750
02 2B YAIHE X 58,750 0 58,750
Ouretgexl+ =4
58,750,000& 12 58,750 0 58,750
308 XXM SOIA 1,543,200 1,265,330 277,870
13 SI[2SOHe & EAS A 1,543,200 1,265,330 277,870
OdY=s3EXl JgdXsd SaAZ A
& 75,000,000 *12] 75,000 45,000 30,000
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SA: LAl E Mot
I SAAEH 22
&l SasHEd EER=E)
SN - B - SA(B) - NIRAY - BES 0 & ol B o HIRS2
Ozlgd HPE A80H RHURST &SA
= EE 447,200,000 %12 447,200 320,330 126,870
OANIESE E5 HMAY
Z & 421,000,000& 13! 421,000 300,000 121,000
=22 =X A 310,000 210,000 100,000
[ 97,000 63,000 34,000
= 213,000 147,000 66,000
307 212t01™ 310,000 210,000 100,000
< 97,000 63,000 34,000
= 213,000 147,000 66,000
02 QI EANEE X 310,000 210,000 100,000
OX=dg A FHEXL OIS K&
23 17,916,6603 1204 = 215,000 135,000 80,000
L= 64,500 40,500 24,000
s 150,500 94,500 56,000
O22X 3=z NI (LA H263)
20,000,000&*12 20,000 0 20,000
[ 10,000 0 10,000
= 10,000 0 10,000
iU X & 2 25 e 5,773,040 4,497,671 1,275,369
= 1,097,125 1,097,125 0
= 461,588 459,320 2,268
= 4,214,327 2,941,226 1,273,101
oI Xl 2t 202,197 173,541 28,656
= 30,375 30,375 0
< 9,405 9,405 0
= 162,417 133,761 28,656
MNBIE JIAHNMEX] E5AHY 35,856 16,200 19,656
= 4,860 4,860 0
= 30,99 11,340 19,656
403 AXIEHMSAH=0ld 35,856 16,200 19,656
= 4,860 4,860 0
i 30,99% 11,340 19,656
02 S| 2S0ICHEH A= E 2 EFAHZ I 35,856 16,200 19,656
OMNBIE JIAQIMEX] BSAL (REMIAL)
63,0002 *31290 2~ 19,656 0 19,656
KNSUUXIAHE ==& 77,000 68,000 9,000
201 L2 9,000 0 9,000
03 A2 I 9,000 0 9,000
ORE100 HIX SIZA AL 2
9,000,000& %12 9,000 0 9,000
HUX HgE= 5,570,843 4,324,130 1,246,713
= 1,066,750 1,066,750 0
< 452,183 449,915 2,268
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2A:
X XH -
o e

=aak

2 Atel Z Xl ot
O X erd &

Q
OIHX HEE=S

=2 Hd

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
= 4,051,910 2,807,465 1,244,445
AU XI =S 2,723,043 1,732,000 991,043
= 1,045,750 1,045,750 0
= 186,326 186,326 0
i 1,490,967 499,924 991,043
402 QIZ2ERHE0IE 2,723,043 1,732,000 991,043
= 1,045,750 1,045,750 0
L= 186,326 186,326 0
i 1,490,967 499,924 991,043
02 QI TH2AIE EE(0IMTHE) 2,723,043 1,732,000 991,043
OATHAUWU X S=SSXIJA
ZE 6,946,538 *3R20H 2 2,723,043 1,732,000 991,043
= 1,045,750 1,045,750 0
L= 186,326 186,326 0
i 1,490,967 499,924 991,043
SAOtA BSAE X1 K 250,000 200,000 50,000
402 QI2HRHE0IH 250,000 200,000 50,000
01 QI T2 AIE 2R (RAMITHE) 250,000 200,000 50,000
OZAIINA B2 =2URE3 XA
Z & 1,000,0003 #2500+ 250,000 200,000 50,000
OILUXl HSHS HEHHl X2 AS 5,670 0 5,670
= 2,268 0 2,268
= 3,402 0 3,402
307 2I2+0l ™ 5,670 0 5,670
< 2,268 0 2,268
i 3,402 0 3,402
02 QIZHALAIHE X 5,670 0 5,670
O0URXl HAHES HEAUH XRAAIS
81,0002 *700H 2~ 5,670 0 5,670
T 2,268 0 2,268
= 3,402 0 3,402
EAE HIUXIRSXS 2lZet REAS(SHIEEXR 200,000 0 200,000
2)
403 XIS MS 201 200,000 0 200,000
02 B 2SHICHEH A2 X L EFAIZ I 200,000 0 200,000
OUSAE HIUXI MHSAF olmet 2=
200,000,000& *13] 200,000 0 200,000
HM2AZH(LX2IZ ) 75,880 67,520 8,360
gyl (Let) 75,880 67,520 8,360
NEZHE Jl=&| 31,800 31,880 A80
201 2et22 ] 19,300 21,380 A2,080
01 ArR2eltl 19,300 21,380 22,080
Ol=&Hl] 5,120 7,200 22,080
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M LXtelZ Mzt
M AAH2IAHI(LX2IZHD)

ool J1=2ddI(Ye) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
OXZEHN 2A2E SAH &
Z & 8,000&+x8H+80 5,120 7,200 22,080
405 KHAHH SH] 2,000 0 2,000
01 AL =S F =H| 2,000 0 2,000
ATIRILHD SBTY
2,000,000 *13] 2,000 0 2,000
SXA=XE J1=23| 23,120 14,680 8,440
201 23| 9,320 7,280 2,040
01 AFS2teltl 9,320 7,280 2,040
Oler+gHi] 6,120 4,080 2,040
OSBRI SASY SUH
Z& 85,000 +«6F 12012 6,120 4,080 2,040
202 (4t 9,600 3,200 6,400
01 =04 bl 9,600 3,200 6,400
OFXN=X BFA2E SHAH
Z& 20,0002 6% 803! 9,600 3,200 6,400
Heas(LBta ) 56,851 0 56,851
SERE(LetaA) 56,851 0 56,851
Xl ZHuA SN S 56,851 0 56,851
802 Bt JIEL 56,851 0 56,851
01 I NEXSEHES 29,525 0 29,525
020218 ASOHEXREAXNS =102L= 3
&ton 2 Ol A 23,581,620& 13l 23,582 0 23,582
O&SAIE ANLElist 2 D8xg HHUNH
PBOE*13 1 0 1
020223 LPGEI| AHEDI7 AEIE ALY =l
EEESEENV DN} 123,380& *12] 124 0 124
02023 XFeS LRe|Atg =l Ol XA
4,000& 12 4 0 4
@Z0Z ISP =P IS N Tl o RS oL PSR
B (MY GUHAE D2 UEE CIXIE LR
el Z2H 5,791,000& 13 5,791 0 5,791
0202833 & &AL A Bdet NJAMY =
gl OlXt 22,4403 13 23 0 23
02 Al - SHIEXZEHEZ 27,326 0 27,326
020232 CIXIE e80! 12HAEAY St &t
RLIE= DN 545,920 *13] 546 0 546
020238 -2tRABH JtEAdZ X2 A
SRS EEUNV DN} 3,378,370&*13] 3,379 0 3,379
O2023 & ZHehtAA XJAMY EH
L= UNVIDN 121,780&*12] 122 0 122
O2018E MSAIE BN 2= XJAY
Sati&ton gl Q| At 1,522,610&*13l 1,523 0 1,523
O2021d MSAIE SIHEN B8 S XIJA
SRS EEUNV DN} 2,116,790&*13 2,117 0 2,117
02023 MSAIE SN E8S XA
EEPSEEUNV DN} 301, 100&*12] 302 0 302
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A LXtel 3
Za: YRS
ool XIE(Lers) (EEEE))
- - SRA(3) - MIRAY - BES Off &K & A HnsZ
02023 MSAIE SN 28 XA
EEPSEEUNV DN} 301,540 %12 302 302
O2023F MBS JIAMEX] E5AIY ZHI
Sati&ton gl Q| At 592,900 *13l 593 593
O22~233 E-2H2IE| 2lAZT XIEAIY B2
2 Okt 807,670& 13l 808 808
02023 XIGMAXES UXeIZHE XA
JI=A R XIANS) 33,0502 12 K7 X
0202835 & =ehtAyAs 24ds NJAME =
HI Zai&ton b O At 30,540 * 13 31 31
02023 LXiel 20| ASME Ex3 &
Hl Ze&el 2 Of Xt 143,010 *13] 144 144
O2023@ MEE YLz SHIEE
= & &M Okt 8,777,880&*13] 8,778 8,778
02023F XNASSHLRCIAY SHIEXS
gati&ton gl Q| At 8,646,630 *13] 8,647 8,647
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H £ 0l & AF & S

2024-09-09 15:24:17

0243 =& 2 3 LEtSIH &l

Al A

=9 eraIIE EER-E)
SA - BE - G9I(30) - NIRAY - BES ol ko ol & o HImE2
A= 100,160,511 84,805,714 15,364,797
= 7,591,897 7,197,500 394,397
o 650,000 650,000 0
p] 43,705,343 39,087,780 4,617,563
= 12,004,503 10,106,991 1,917,512
z 36, 183,768 27,763,443 8,425,325
=0t AS OF 83,879,806 75,672,172 13,207,634
= 4,277,987 4,143,599 134,388
2 630,000 630,000 0
p] 43,520,479 33,932,916 4,587,563
= 10,591,268 8,708,821 1,887,447
2 29,860,072 23,261,8% 6,598,236
SItASOEED|BH PE 4,687,026 4,400,569 286,457
= 1,377,006 1,255,317 121,688
Il 609,986 609,986 0
< 488,856 487,823 1,033
2 2,211,179 2,047,443 163,736
SED| OIS2S 24! NFAY 496,100 418,000 78,100
= 124,025 125,400 A1,375
2 372,075 292,600 79,475
301 UBIE TS 496,100 418,000 78,100
= 124,025 125,400 A1,375
= 372,075 292,600 79,475
142 AR 496,100 418,000 78,100
Ose)| ie2s24 N
2T 2,420,002 x2057 A 496,100 418,000 78,100
= 124,025 125,400 A1,375
2 372,075 292,600 79,475
ZEEH NEH DAY 994,068 989,068 5,000
p] 487,502 487,502 0
= 97,500 97,500 0
2 409,066 404,066 5,000
301 YPHP 2 994,068 989,068 5,000
p] 487,502 487,502 0
= 97,500 97,500 0
z 409,066 404,066 5,000
14 JIEt2 AR 994,068 989,068 5,000
OZBBHNEH X2 (XHH)
2 1702x112, 14100 19,064 14,064 5,000
YA B SR N 0 50,000 50,000
307 QI1240|& 0 50,000 50,000
04 DIZFBHALAIRI B X 0 50,000 50,000
OFE4 JVTX SMUBEM X
25 02l 0 50,000 A50,000
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sg3ZALE 0 5,000 25,000
= 0 3,000 23,000
& 0 1,000 21,000
= 0 1,000 21,000
307 2Ito1d 0 5,000 25,000
= 0 3,000 /3,000
< 0 1,000 21,000
i 0 1,000 21,000
02 IHBAMAHEE 0 5,000 25,000
OsgZIALE N 35 0 0 5,000 25,000
= 0 3,000 23,000
< 0 1,000 21,000
= 0 1,000 A1,000
SE MEits s22 29 0 6,000 26,000
& 0 2,000 £2,000
= 0 4,000 24,000
301 LEEN S 0 6,000 26,000
[ 0 2,000 »2,000
= 0 4,000 24,000
1 BARHIXES 0 6,000 26,000
OsEXMEits 822 28
38 02 0 6,000 26,000
< 0 2,000 A2,000
= 0 4,000 24,000
SEME0S ATSHES HRE 5,548 5,823 D275
= 3,407 3,535 2128
< 653 690 AG7
= 1,488 1,598 2110
307 2I2t01 5,548 5,823 2275
= 3,407 3,535 2128
< 653 690 N7
= 1,488 1,598 2110
06 283 5,548 5,823 D275
OsSEHME0S SESHESE X
S E 866,870 +8IH A+80% 5,548 5,823 N275
= 3,407 3,535 A128
[ 653 690 N7
= 1,488 1,598 2110
sSENSF20IS 243 N 26,000 0 26,000
< 5,200 0 5,200
= 20,800 0 20,800
301 LEENS 6,000 0 6,000
< 1,200 0 1,200
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11 SBAREIXES 6,000 0 6,000
OsEMEits s22 29
6,000,000 174 2 6,000 0 6,000
< 1,200 0 1,200
= 4,800 0 4,800
402 I2HXH=201H 20,000 0 20,000
< 4,000 0 4,000
i 16,000 0 16,000
02 QI X2 AL EE(OIHTHE) 20,000 0 20,000
SEMS0IS NEHES
20,000,0003* 1042~ 20,000 0 20,000
< 4,000 4,000
= 16,000 16,000
sSEQE AHIA QHENE XIJAY 0 368 368
=2 0 184 g4
< 0 55 AB5
= 0 129 A129
201 ZBt=Eh] 0 368 2368
= 0 184 N84
== 0 55 VANG'S)
= 0 129 ~129
03 A2 I 0 368 A368
O=s&E0lE MHIA o= X
34 02 0 368 A368
=2 0 184 N84
== 0 55 VANG'S)
z 0 129 A129
sEdEsIIEs A 2,500 5,000 A2,500
301 LEENS 2,500 5,000 A2,500
“IIE2d= 2,500 5,000 A2,500
O2Q TASAK SAHI(Z AR
3 8,000 %1008 23] 1,600 3,200 A 1,600
OXESA FIEEs+Y
& 4,500 %100H+238] 900 1,800 900
SE del0oIFH SgAE 240,000 0 240,000
= 125,000 0 125,000
= 115,000 0 115,000
308 XXM SOIA 240,000 0 240,000
= 125,000 0 125,000
i 115,000 0 115,000
13 SI[2SOHe & EAS A 240,000 0 240,000
Os& A0 X3
240,000,000 *19H 2 240,000 0 240,000
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= 125,000 0 125,000
i 115,000 0 115,000
SHEQE AZOHMAIE 2 WE XJAY 1,500 0 1,500
& 300 0 300
= 1,200 0 1,200
201 et 1,500 0 1,500
= 300 0 300
= 1,200 0 1,200
03 &At2EH| 1,500 0 1,500
O=E01Y MHlA otd s X
38,4603 *390H A 1,500 0 1,500
L= 300 0 300
o 1,200 0 1,200
OIMEOLE | & 9,216,873 9,137,628 79,245
= 143,440 124,240 19,200
L= 3,110,176 3,096,076 14,100
= 5,963,257 5,917,312 45,945
=l DAL] 17,280 22,087 24,807
= 2,160 2,760 A600
i 15,120 19,327 24,207
307 QI2Hol A 17,280 22,087 24,807
T 2,160 2,760 A600
= 15,120 19,327 24,207
02 QIRHEAAIHE X 17,280 22,087 A4,807
OsHER0IXFAA
Z & 9,000 3 *5L1+8A| 2H602 *80% 17,280 22,087 24,807
= 2,160 2,760 AB00
= 15,120 19,327 A4, 207
et soel S 6,714,000 6,690,600 23,400
= 2,685,600 2,676,240 9,360
= 4,028,400 4,014,360 14,040
301 L2 Z 6,714,000 6,690,600 23,400
= 2,685,600 2,676,240 9,360
= 4,028,400 4,014,360 14,040
14 JIEt2 43 6,714,000 6,690,600 23,400
ONBILE 50i8 BU4+Y
Z & 600,000&*11,1909! 6,714,000 6,690,600 23,400
= 2,685,600 2,676,240 9,360
= 4,028,400 4,014,360 14,040
2= HEZZ2A XA 40,662 31,962 8,700
201 2E2 ] 10,400 6,500 3,900
01 AFS2t2ltl 10,400 6,500 3,900
O2=0l HEZZ2X d=+3H| XA
Z& 1,300,000 +83] 10,400 6,500 3,900
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301 EtE NS 7,200 2,400 4,800
1 BAHAHIXIE S 7,200 2,400 4,800
OL=e HE2ZX Z20Y 29
Zd 12,0003%3002+23] 7,200 2,400 4,800
SE 2EHA XA 33,600 0 33,600
= 19,200 0 19,200
s 14,400 0 14,400
307 21201 & 33,600 0 33,600
= 19,200 0 19,200
[Ea 14,400 0 14,400
02 2B HAHE L 33,600 0 33,600
Os=2dd A T
16,800,000 +20H A 33,600 0 33,600
= 19,200 0 19,200
= 14,400 0 14,400
Q=0 HE2Z2X 1ESS83 18,352 0 18,352
= 5,340 0 5,340
s 13,012 0 13,012
101 ©1AH| 5,152 0 5,152
= 1,380 0 1,380
[Ea 3,772 0 3,772
M ORNZZ2NSE S 5,182 0 5,182
OAAHASE=20| 22|
2,300,000 12 =201 2 4,600 0 4,600
= 1,380 0 1,380
= 3,220 0 3,220
OAAHAS R0 4UEE
2,300,000 *2)H 3 *12% 552 0 552
301 22N = 13,200 0 13,200
< 3,960 0 3,960
Ea 9,240 0 9,240
14 JIEt2 4= 13,200 0 13,200
A=l HE2 2 2SSl X
220,000 +60 13,200 0 13,200
= 3,960 0 3,960
o 9,240 0 9,240
EF ST Mt 12,702,840 11,829,503 873,247
= 548,000 562,000 14,000
= 2,579,932 2,583,292 A3,360
= 9,574,908 8,684,301 890,607
ot MaHixd us - A48 A 52,200 77,400 A25,200
= 29,000 43,000 214,000
[ 6,960 10,320 3,360
s 16,240 24,080 AT,840
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307 @I2tol ™ 52,200 77,400 N25,200
= 29,000 43,000 A 14,000
< 6,960 10,320 23,360
s 16,240 24,080 AT7,840
02 QIIHAANEE R 52,200 77,400 125,200
O34 MMHIIESE ws - 248 X
Z& 29,000,000 *2IH 2 *90% 52,200 77,400 n25,200
= 29,000 43,000 A 14,000
< 6,960 10,320 23,360
s 16,240 24,080 NAT7,840
=2 MlEE=X 6,814,847 5,846,400 968,447
< 2,044,454 2,044,454 0
= 4,770,393 3,801,946 968,447
307 @I2to1 & 6,814,847 5,846,400 968,447
< 2,044,454 2,044,454 0
= 4,770,393 3,801,946 968,447
06 28z 6,814,847 5,846,400 968,447
Oszs MolEgs X
ZE 420,0002%16,225.825ha 6,814,847 5,846,400 968,447
< 2,044,454 2,044,454 0
i 4,770,393 3,801,946 968,447
Jlsd & THHH =0t sXHH I 80,000 150,000 70,000
301 LENZ 80,000 150,000 270,000
14 DBt 2 a3 80,000 150,000 70,000
OJlsd & o st sXHH X
&3 1,600,000& *100ha*50% 80,000 150,000 A70,000
AENE UHMESE S4 312,300 83,800 228,500
= 22,100 14,600 7,500
< 53,404 6,504 46,900
= 236,7% 62,696 174,100
= EI&S THHHXI& 215,000 0 215,000
< 43,000 0 43,000
= 172,000 0 172,000
301 LEIEEZ 215,000 0 215,000
< 43,000 0 43,000
= 172,000 0 172,000
14 J|Et2 a3 215,000 0 215,000
O= Et&E MUK
215,000,000& %12 215,000 0 215,000
= 43,000 0 43,000
= 172,000 0 172,000
=4F U MAGT] W= - HALEE X3 39,780 26,280 13,500
= 22,100 14,600 7,500
= 7,404 3,504 3,900
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= 10,276 8,176 2,100
307 212t01 & 39,780 26,280 13,500
= 22,100 14,600 7,500
= 7,404 3,504 3,900
i 10,276 8,176 2,100
02 QIRHHAAIHEE X 39,780 26,280 13,500
O=4F U MAC] W= - 2488 XA
Z & 22,100,000 «2IH 2+90% 39,780 26,280 13,500
= 22,100 14,600 7,500
T 7,404 3,504 3,900
= 10,276 8,176 2,100
SYHAEH=M AS 46,851,551 38,581,068 8,270,483
| 42,147,493 38,322,930 3,824,563
= 1,778,368 0 1,778,368
= 2,925,690 258,138 2,667,552
Jlzd SAXNZHM X 36, 184,000 38,226,000 22,042,000
| 36,184,000 38,226,000 A2,042,000
301 LEENEF 36, 184,000 38,226,000 A2,042,000
| 36,184,000 38,226,000 22,042,000
14 JIEt2 43 36,184,000 38,226,000 A2,042,000
OJIZ283AX=H K&
2,000,000 +18,092ha 36,184,000 38,226,000 22,042,000
| 36,184,000 38,226,000 22,042,000
i =0t & S CH 2R | 4,445,920 0 4,445,920
s 1,778,368 0 1,778,368
i 2,667,552 0 2,667,552
301 LEHBHEF 4,445,920 0 4,445,920
= 1,778,368 0 1,778,368
= 2,667,552 0 2,667,552
14 J|EI2 43 4,445,920 0 4,445,920
Ot s ZFHE | X~
600,000& »7,409.866ha 4,445,920 0 4,445,920
= 1,778,368 0 1,778,368
= 2,667,552 0 2,667,552
M= HEs K 5,775,000 0 5,775,000
| 5,775,000 0 5,775,000
301 LEHEE S 5,775,000 0 5,775,000
| 5,775,000 0 5,775,000
14 JIEt2 43 5,775,000 0 5,775,000
OHANSHEZ X2
2,000,000&*2,887 .5ha 5,775,000 0 5,775,000
| 5,775,000 0 5,775,000
EASE T2 AIHAY X2 91,563 0 91,563
| 91,563 0 91,563
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307 lztol & 91,563 0 91,563
Jl 91,563 0 91,563
02 QB HANEER 91,563 91,563
OEHASE Z203 AHAY K&
310,0003 %295 364ha 91,563 0 91,563
7l 91,563 0 91,563
detdsg 2gerd X3 1,953,799 1,107,965 845,834
Jl 763,000 0 763,000
T 233,752 216,397 17,35
o 957,047 891,568 65,479
detZ s AT X=X 763,000 0 763,000
Jl 763,000 0 763,000
301 EtE NS 763,000 0 763,000
Jl 763,000 0 763,000
14 0Bt 2as 763,000 0 763,000
OzletZsE A =Hl 1,745,995 43721 763,000 0 763,000
7l 763,000 0 763,000
detdsits ASAE 630,238 547,404 82,834
= 122,960 105,605 17,355
s 507,278 441,79 65,479
301 22N = 630,238 547,404 82,834
& 122,960 105,606 17,355
Ea 507,278 441,79 65,479
B2 d= 630,238 547,404 82,834
OFEYsHBASKY
S 949,756 70024 x04% 624,940 542,106 82,834
= 122,960 105,605 17,355
o 501,980 436,501 65,479
detdsglle &5 11,884,767 9,260,899 2,623,868
= 2,163,242 2,163,242 0
= 630,000 630,000 0
= 2,180,615 2,147,564 33,051
T 6,910,910 4,320,093 2,590,817
SSAFsHHA =4 2,867,753 430,163 2,437,590
& 430,163 430,163 0
s 2,437,590 0 2,437,590
301 EtE NS 2,867,753 430,163 2,437,590
= 430,163 430,163 0
= 2,437,590 0 2,437,590
14 IIEt2 8 2,867,753 430,163 2,437,590
OTSF=sLX ZLEAE
38 972,119.63*2,950ha 2,867,753 430,163 2,437,590
LS 430,163 430,163 0

_103_




2A:
X XH -
o e

=aak

I Oif 12t
o S rige
e O
in %
0
(NS

2 0%

0
i
02
o
Ja
o

SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
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AEASMSTREAAANN 38,777 39,788 A1,011
= 9,604 9,947 £253
= 29,083 29,841 AT58
201 LEH2 S| 38,777 39,788 A1,011
= 9,694 9,947 ~253
2 29,083 29,841 AT58
01 AlR22I8] 38,777 3,788 A1,011
OFsASLE FRS A N
AH 180,35821%21521 38,777 39,788 A1,011
= 9,604 9,947 253
2 29,083 29,841 AT58
QISR NS AY 1,026, 162 956, 162 70,000
2 381,225 381,225 0
= 171,461 171,461 0
2 473,476 403,476 70,000
301 LerEE3 1,026, 162 956, 162 70,000
2 381,225 381,225 0
= 171,461 171,461 0
2 473,476 403,476 70,000
14 JIEH A2 1,026,162 956, 162 70,000
ORIISATT XA
2 1,486,66521%1,375.914ha50 1,022,762 952, 762 70,000
2 381,225 381,225 0
= 171,461 171,461 0
2 470,076 400,076 70,000
SIlsel e X 4,589 0 4,589
= 4,589 0 4,589
301 LEHER 3 4,589 0 4,589
= 4,589 0 4,589
14 JIEH A2 4,589 0 4,589
SIlsgel HEY X
4,589, 00024 +124 4,589 0 4,589
= 4,589 0 4,589
HgAsY 222 |4 50,950 0 50,950
= 10,190 0 10,190
2 40,760 0 40,760
301 LeHE A3 50,950 0 50,950
= 10,190 0 10,190
2 40,760 0 40,760
14 JIEH A2 50,950 0 50,950
OzsAsiE HatEs S
2,814,9178+18. 1ha 50,950 0 50,950
= 10,190 0 10,190
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| = 40,760 0 40,760
=t 220l Iah WX X 61,750 0 61,750
= 18,525 0 18,525
= 43,225 0 43,225
206 M2l 61,750 0 61,750
= 18,525 0 18,525
2 43,225 0 43,225
RETT 61,750 0 61,750
Ot 220! LI KX K&
250,000 *247ha 61,750 0 61,750
= 18,525 0 18,525
= 43,225 0 43,225
se Pm U 8,009,557 7,923,427 8,130
= 2,843,901 2,843,901 0
g 184,864 154,864 30,000
= 1,141,525 1,118,760 22,765
2 3,839,267 3,805,902 33,365
FOISE AL X 2 6,644,805 6,633,225 11,580
= 2,843,901 2,843,901 0
I 98,549 98,549 0
= 1,081,097 1,027,607 3,49
2 2,671,258 2,663, 163 8,09
A0S IRES HAHKIE 72,000 60,420 11,580
= 21,600 18,120 3,480
= 50,400 42,300 8,100
307 I2H0| & 72,000 60,420 11,580
= 21,600 18,120 3,480
2 50,400 42,300 8,100
VETRIERONEEES 72,000 60,420 11,580
OROIZS A= 22 H KA
23 3,600,000 *40hax50% 72,000 60,420 11,580
= 21,600 18,120 3,480
= 50,400 42,300 8,100
D] MAALBOIE KIS (HEAY) 30,000 30,000 0
= 9,000 8,99 10
= 21,000 21,010 A10
402 Q14X 0| 30,000 30,000 0
= 9,000 8,99 10
2 21,000 21,010 A10
2 DI EAI 2 E (OIF T 2) 30,000 30,000 0
OLI| MAAL SHIISHAS
AF 12,000,000 5570 Ax50% 30,000 30,000 0
= 9,000 8,990 10
= 21,000 21,010 A10
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rZEHM D 1,244,202 1,160,202 84,000
2l 86,315 56,315 30,000
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< 24,577 15,577 9,000
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301 LEENS 9,000 0 9,000
14 JIEt2 4= 9,000 0 9,000
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307 2Ito1d 100,000 100,000 0
04 DIZFHAIAIZSE X 100,000 100,000 0
ORstt ZMXH 100,000,000& 12 100,000 100,000 0
ASHSHS YA 80,000 110,000 230,000
2= Aot HEH N 40,000 20,000 20,000
301 LEIENS 40,000 20,000 20,000
14243 40,000 20,000 20,000
OZ = datsot Sl 2 2rAHl XA
AtE Z3 2,500&+16,0002 40,000 20,000 20,000
MAS SIS SEAY 20,000 70,000 A50,000
402 QI”FXH=201H 20,000 70,000 250,000
01 QIIN A EZ (XM THR) 20,000 70,000 50,000
OtAS S8F A
Z& 4,000,000 *10CH*50% 20,000 70,000 50,000
KHoH CHZRH| X2 40,550 20,000 20,550
< 10,275 0 10,275
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< 10,275 0 10,275
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< 3,770 1,970 1,800
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01 At2teltl 4,434 0 4,434
Ozlgd=¢dtE 25 MRES 7Y
4,434,000 13 4,434 0 4,434
= 4,434 0 4,434
301 LRIEEZ 255,575 0 255,575
= 255,575 0 255,575
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Ozled=dtE s HEM
25,557,500 * 1004 Ot 255,575 0 255,575
= 255,575 0 255,575
N0y B3etd XA 5,500 0 5,500
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= 127,014 129,971 N2,957
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i 127,014 129,971 A2,957
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bl E R Bt 13,408,00021%13] 13,408 0 13,408
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430,00024 %13 430 430
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TH| OIXt Bt 40,0002 *13] 40 40
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02003 Mt A HAIM 55 BHhiH| KR
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020283 CAANELSKIE CIRQIHEKI
RIZArS SHI Tazon sret
1,350,0002+13] 1,350 0 1,350
02028 SAANBRASHE KIISH2AH]
RIZAt! | Fa oY Bhet
864,0002113] 864 0 864
O223e MSAE BM Ys NAAY 0%
it 14,00021+13] 14 0 14
O34 =4S A8 NSNED ALY &
Bl Rgare vhy 2,159,0002%13] 2,159 0 2,159
O3 =42 EE HENED A €
Bl DEa s 31,500, 00024 +13] 31,500 0 31,500
02023 GAP OHEA A TIZAIR S| OIX
it 11,00024+13] 11 0 11
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9,513,0002i*13] 9,513 0 9,513
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6,807,002 +13] 6,897 0 6,897
020234 BIMBA AR OHE 2AAAIY &
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478,0002113] 478 0 478
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02023 YMS FEASLS 20| KA
o CHl HBFN U OIX BHt
602,0002113] 692 0 692
020238 45 B2 HPSMS P20l X
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020238 T4 SEOBIEY 2% XA S|
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05 ¢ 433 22| 4258 ¢
Z& 1,000,0002*19.2ha 19,200 15,000 4,200
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201 LEH2 | 10,500 0 10,500
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08 & BLXH IH LX2
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SIsst T4 22 100,000 100,000 0
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= 6,951 7,455 A504
2 16,219 17,39 A1,176
11 SALAIHIXI 22 23,170 24,850 1,680
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FA AES
3 MY s
el MY SEAE =4 (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
Os30 s Us ZA= Jl2+g
Z&E 80,0003 *1H*7 Al 2+322] 17,920 19,600 21,680
& 5,376 5,880 A504
z 12,544 13,720 A1,176
NSy =23 465,821 449,561 16,260
201 LetEaH| 156,002 142,252 13,750
01 At 2teltl 101,722 87,972 13,750
Olet+8dl] 62,442 48,692 13,750
OFE =AlE 223 7
38 85,000 56510523 8,500 6,000 2,500
ORYE =AlE =S5 7L
ZE 55,250 x85+10S+22 8,840 6,000 2,840
OFYE =2AE E283 7
24,1002 65 +105*23] 2,410 0 2,410
Osg &Il HIIBA
500,000 * 12 500 0 500
OFYE ==AIE JHHH 2+ M=
250,000+ 10 2,500 0 2,500
oFd Zele EH 7Y
1,500,000& 23] 3,000 0 3,000
301 LetE=3 10,000 5,000 5,000
BOBHEd= 10,000 5,000 5,000
OJIENHAZLE OISR 238 A
sd 7Y Z& 10,0002 *1,000H 10,000 5,000 5,000
405 KhakF S| 5,510 8,000 N2,490
01 AL =S FH S 5,510 8,000 A2,490
O=%d 3t= 22 48 QEHI0l 7
&8 5,510,0002*1CH 5,510 8,000 A2,490
FO0t=HE2 272 41,674 61,674 20,000
405 Xhaks S| 0 20,000 20,000
01 L =S F S 0 20,000 20,000
OO0{el0l =0lAle A8AIFD| 2L
38 03 0 20,000 20,000
S+FH TP 1,390 0 1,390
401 AlZHIL 2 CHY] 1,390 0 1,390
01 Al&HI 1,390 0 1,390
O[EXI0HHI] 1,390 0 1,390
OEXNZEHEI =&
695,000:2 204 2 1,390 0 1,390
JIERZ ZHI At 284,517 284,517 0
201 £er2aY| 17,339 17,339 0
01 Ak 2teltl 13,980 17,339 13,359
Olz3as ¥ WAl 0 1,440 A 1,440
OJ|&xd HUXE0D MIRS(OITHE,
HSM=X =) 34 03 0 1,440 21,440
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A SHES2 0
M A X s
=Rl MY FAAIE =M (EEEE))
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
O 2Hl] 0 1,919 1,919
oJjx &elg t=J| g=4|
34 02 0 1,919 1,919
02 324l 3,359 0 3,359
Ol232= ¥ HAll 1,440 0 1,440
OJIE= AXLO0D| EIQB(IIFME
HsM=X F=XHE)
60,0002 201 A 12002 1,440 1,440
O 2Hl] 1,919 1,919
OJ|Exz 228 M=JI| HaZH|
1,599%1%1,2002 & 1,919 0 1,919
Y ZHHA L3 4,127,677 3,936,677 191,000
= 1,156,406 1,156,406 0
= 450,000 450,000 0
< 592,622 540,122 52,500
= 1,928,649 1,790, 149 138,500
gats 7S N2 691,853 516,853 175,000
= 206,741 206,741 0
< 207,556 155,056 52,500
= 277,556 155,056 122,500
AME AAD IISRSAIE 175,000 0 175,000
< 52,500 0 52,500
= 122,500 0 122,500
402 QI2FXE01H 175,000 0 175,000
< 52,500 0 52,500
= 122,500 0 122,500
02 QI AH2AIS 2R (OIMTHE) 175,000 0 175,000
Ogdts ARE JIIBRSAE L A2l
te 87,500,000 *204 2~ 175,000 0 175,000
[ 52,500 0 52,500
= 122,500 0 122,500
AHHAE MAD|E &4 1,728,380 1,712,380 16,000
= 656,947 656,947 0
= 24,772 24,772 0
= 1,046,661 1,030,661 16,000
Ge JlgtEy 278,623 262,623 16,000
307 el2to| ™ 234,000 218,000 16,000
02 QI AANEE X 204,000 183,000 16,000
ouszg 4% 2& XA
20,000,000 * 121 +80% 16,000 0 16,000
A THOHEEXI 3,780,484 3,682,584 97,900
= 1,896,480 1,896,480 0
£ 100,000 0 100,000
< 509, 164 509, 164 0
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FA MEFS
M A THOHE X
Rl ME X EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
= 1,274,840 1,276,940 »2,100
thE A 1,288,629 1,190,729 97,900
= 268,377 268,377 0
s 100,000 0 100,000
< 162,737 162,737 0
s 757,515 759,615 A2,100
A= 0 2tel 204,471 206,571 22,100
201 Ler2 | 129,616 131,716 22,100
01 At2t2lt] 55,258 57,358 £2,100
Ol2EHI] 16,780 18,880 22,100
O4t=g Xl Zatad 221 S|
dd 8,000& x5 46 1,800 3,200 21,400
oz &=2d83s £8 =4
Z& 8,000&*10H*11.253] 900 1,600 2700
AH20l 28 02 JHRD| 100,000 0 100,000
£ 100,000 0 100,000
207 AR 15,000 0 15,000
= 15,000 0 15,000
01 H1E4H] 15,000 0 15,000
O4t=0ll 28 02 IR0l HEE(ZE A Tl
183) 15,000,000& 13 15,000 0 15,000
= 15,000 0 15,000
401 AlEBIL S THYI 70,000 0 70,000
s 70,000 0 70,000
01 Al&ZHI 70,000 0 70,000
O4t20il 28t OS2 JHRIN(ASE S)(8E
& H185) 70,000,000 x13] 70,000 0 70,000
£ 70,000 0 70,000
405 THHE S| 15,000 0 15,000
£ 15,000 0 15,000
01 ML ESFSHI 15,000 0 15,000
OdtE0e o EstEH (88 M18s)
15,000,000& 12 15,000 0 15,000
= 15,000 0 15,000
dAF2LFHI(LHaHL ) 66,220 64,220 2,000
Jl=&H 66,220 64,220 2,000
AEESE J123| 15,100 13,100 2,000
202 04l 6,000 4,000 2,000
01 =LH0i 6,000 4,000 2,000
Ot ESE RM2E é%”ﬁléi
ZE 20,000+ 60 6,000 4,000 2,000
Hees(agsen) 302,444 4,566 297,878
FSPNES 302,444 4,566 297,878
SFSONE 302,444 4,566 297,878
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SN A
M YRES(ALSAD)
o9l 28NS EER-E)
SA - B SA(B) - MRAY - BES (TPNET /iE- ClImE=T]
802 PHe2)|Ef 302,444 4,566 297,878
01 2DBX2PE2 153,982 4,566 149,416
ONREE MYHHSLH(MBHSSXZ
X)) 2NST2 AT U 0|t
97,7102+ 18| B 0 %8
OB P54 HEBRIAY 2DEES T
o4 g QKo 600,24021%13] 601 0 601
02084 £IIPII0IB) 2NBEZ FAXY
9 Of Rt 19,216, 720213 19,217 0 19,217
020238 £ PI|(=S BB) I02%E2 §
AREFOH 91 O] Kbl 20,505, 2402413 20,506 0 20,506
023 £ PI|(5S BY) 202x2 8
AREROH BI O] KpoK 20,898, 48021%13] 20,899 0 20,899
023 U - Agl BAXNTRZR A2l
2NPXZ YA U O K
2,271,660 *12] 2,272 0 2,272
020234 SRR (STHA2E2p2]) =
DEES IO 2 0|XHY
1,150,5802 % 13| 1,151 0 1,151
02028 STHAARR|(RSASTHAA) =D
BXZ MY U 0K
8,227, 402 *13] 8,228 0 8,228
022 NEAY 2NLX2 FeRH U 0
Xt 21,956,80021%13] 21,957 0 21,957
O35 AHNHIAZL0I(£0HE SIE2)
IDSX2 0N B2
21,9902 13 22 0 2
O3 ARMHIAZ20/(S0IEDS $IE
2%) DBX2 O/X P2
41,6302413| i) 0 I
OB HESLAAS HAZH U O] X}
48,141,002 18| 48,141 0 48,141
O3 ADIEILE TAAIY =H| Ta R
9 0| KpeH 6,281,9802*13] 6,282 6,282
2 Al- CHEX2ME2 148,462 148,462
0N B54 HHIAL THEES TH
Ol XfoH 65,70021%13] 66 0 66
O3 AZHHELH THSES Nz
o4 gl QKo 29,61024%13] 30 0 30
020234 AHSHRH(SHDSA) Fak g3
1,298,002 *13] 1,298 0 1,298
020233 AHZEIX| AlD TAS XRAAIY S|
BHetE & O XHoY 1,204, 7802 %15 1,206 0 1,205
O3 AFEF 20U ESHH(THI) SSRI(
HRM)AI CH| BHd2 L 0IXHeH
14,210,460 13 14,211 0 14,211
O2028E ASHSHLESHH(TH) grez &
Ol Xt 1,045,8402%13] 1,946 0 1,946
0208 £IPINOIB) THIRES FAXY
9 OIXt 3,847, 2002113 3,848 0 3,848
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A A
S T
S

o9 = (249119
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
O35 #IHRI|(5S B3) SHIZEZ
A4 B O] RpoA 5,888,74021 13 5,889 0 5,869
OBE I PI|(5S Z&) THEZES J
AbEOY 9 O] Kpod 6,268,800+ 15 6,269 0 6,269
O34 2TOPDIS FHXY CHI2ES
Zgroy 9! 0| XY 22,8702 +13] 2 0 2
O3 LAUMS BAT LENA THIR
£ ZTH I O
12,000,86021%13] 2,010 0 2,010
O3 S| (SWL2EAB)) ©
HlEtEE 2 OIR 230,52021+13] 231 0 231
02023 ST A2 (RSB SBTAL) SH|
SIEEZ YOIt 1,645,580%1+13] 1,646 0 1,646
OBY =oi& SSYAY THEES X
8 0l 12,64021%13] 13 0 13
O3 Al THM(DEHE TAS)
THIRES I U O[X
21,273,42021+13] 21,274 0 21,274
OB TAE ZLAY (DRSS IH2)
SHEEZ DT U 0%
1,200,6502 13 1,210 0 1,210

020234 HEH ZEAMY THIEES &

si&tol g oIkt 21,302,050 13 21,308 0 21,308
A

O

02023 AR MHIATR0(SAISXIZ2IR)
MY TH(DSHE) ZBIH U 0|XfY
18,3602 13 19 0 19
O3 LIRS THI2XE2 Fa
1,539,77024+18] 1,540 0 1,540
O2022 FOIEH &0i% ZSAY SH|etet
2 2 olxrod 18,675,800 *13] 18,676 0 18,676
O3 A=A CHIZZS FHTS
EIIPET 6. 189, 42021 +13] 6.190 0 6,190
Ofe2 22 T4 - PRAR(SAR BHI) &
HIZXS Zaaok 9 0|y
1,981,40024+18] 1,932 0 1,932
023 2 XM 2l ARI(SAZ FH) &
SRS aaok 2 0|k
27,003,5202/+18] 27,004 0 27,004
02023 ADIEIE =& TH MFo o
Ol ke 628, 19021+13] 629 0 629
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0243 =& 2 3 LEtSIH &l

H £ 0l & AF & S

2024-09-09 15:24:17

Al A

A oIt
33 MW - Mol ol & S7se Het
Rl QIETHE ol2tel EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
maslpelrS i} 19,279,151 16,964,427 2,314,724
= 952,638 952,638 0
= 1,862,000 1,000,000 862,000
< 3,368,025 2,246,985 1,121,040
= 13,096,488 12,764,804 331,684
Mt Mol o & S+ 23t 4,291,523 3,787,053 504,470
= 845,638 845,638 0
= 400,000 0 400,000
< 829,727 829,727 0
= 2,216,158 2,111,688 104,470
IR ollgt2e 1,118,678 1,072,560 46,118
= 1,050 1,050 0
[ 371,907 371,907 0
= 745,721 699,603 46,118
WSALD GIZAr 263,988 258,000 5,988
< 73,800 73,800 0
= 190, 188 184,200 5,988
201 er23| 17,988 12,000 5,988
2 s5=34l 14,688 8,700 5,983
OL=E=ItNet S4l]
Zd 16,0003 =340~ 12& 6,528 3,300 3,228
O et &IIes
3 20,0002 =340+ 12 8,160 5,400 2,760
WSAD &2 2 HEAM 220,130 180,000 40,130
< 90,000 90,000 0
= 130, 130 90,000 40,130
201 er23| 40,130 0 40,130
2 s5=34l 40,130 0 40,130
ORI uSEH=ZH I AMEIE
40,130,000& 13 40,130 0 40,130
KT ollg2ke 815,331 356,979 458,352
£ 400,000 0 400,000
< 3,651 3,651 0
= 411,680 353,328 58,352
NSAELME 2 293,515 239,363 54,152
< 651 651 0
= 292,864 238,712 54,152
201 ger=3| 12,000 0 12,000
2 35224l 12,000 0 12,000
OHASE THHHY &l ==2ld]
120,000 = 100CH 12,000 0 12,000
301 LEIE NS 22,700 2,200 20,500
11 BARHIXES 0 2,200 22,200
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A oIt
33 MW - Mol ol & S7sE Hat
Rl KFEIHE ol2tel EER=E)
SA -3 SRA(SAH) - NIRALY - Off &K & A HusZ
Ous & 2984 4| 24
38 02 0 2,200 22,200
14 JIE2 43 22,700 0 22,700
OXSYME IS 7Y
100,000 227 22,700 0 22,700
302 OIF=L T2 A S 123,552 89,100 34,452
02 2t = HES2a=3 123,552 89,100 34,452
OXtsg e Mool & =28s XA
& 9,000&#30E+41.62 110 A 123,552 89,100 34,452
307 2It01 A 20,263 33,083 212,800
< 651 651 0
= 19,612 32,412 A 12,800
02 2IZHBYAIHE A 10,780 25,780 15,000
OXIGXsgMHe 1= 2
34 02 0 15,000 15,000
12 QI2FQIRIE = H| 2,200 0 2,200
OXIGXSLHE oOFM WF
2,200,000 13 2,200 0 2,200
K+CH XHoH 01l 2 CH 24 480,200 76,000 404,200
= 400,000 0 400,000
[ 3,000 3,000 0
= 77,200 73,000 4,200
201 el 14,200 10,000 4,200
< 3,000 3,000 0
= 11,200 7,000 4,200
01 At2teltl 14,200 10,000 4,200
ONcEerE It doARa =&
350,000 * 1224 4,200 0 4,200
401 AlEHIYL S THYI 466,000 66,000 400,000
£ 400,000 0 400,000
= 66,000 66,000 0
01 AlZHI 466,000 66,000 400,000
OMHUE HE S0 A8
400,000,000 %19 2= 400,000 0 400,000
£ 400,000 0 400,000
otd HHl 6,043,944 4,973,973 1,069,971
= 104,500 104,500 0
< 1,271,200 177,000 1,094,200
= 4,668,244 4,692,473 N24,229
Aot 2el 4,319,000 4,369,000 250,000
[ 30,000 30,000 0
= 4,289,000 4,339,000 50,000
A5HE AIEE (Eé ) 1,400,000 1,600,000 A200,000
401 AIEHIYL 20| 1,400,000 1,600,000 £200,000
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A oIt
3 ot FH|
chel: AstE el EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
01 AlZHI 1,400,000 1,600,000 £200,000
Otl= S4AGHE FHIAIS (M EALY)
ZE 945,945.9%1%1,480m 1,400,000 1,600,000 200,000
AGHE S| (HEALY) 2,919,000 2,769,000 150,000
< 30,000 30,000 0
o 2,889,000 2,739,000 150,000
401 AlZBIL S CHY] 2,919,000 2,769,000 150,000
< 30,000 30,000 0
s 2,889,000 2,739,000 150,000
02 2teld| 150,000 0 150,000
OAGHe ZHIANY 22l
150,000,000& 13 150,000 0 150,000
X2z otd 2el 1,620,444 500,473 1,119,971
< 1,241,200 147,000 1,094,200
= 379,244 363,473 25,771
ot Jld M FHl 1,620,444 500,473 1,119,971
< 1,241,200 147,000 1,094,200
o 379,244 363,473 25,771
101 QIAHI 0 9,229 29,229
04 JI2tHI2E2 U SES 0 9,229 A9,229
Odta AldE 22l JI2EM22 X 2124
328 03 0 9,229 A9,229
401 AlEBIL S THYI 1,594,200 465,000 1,129,200
< 1,241,200 147,000 1,094,200
= 353,000 318,000 35,000
01 AlZHI 1,594,200 465,000 1,129,200
OXlgotd FXl2elAte
& 40,0002 %4,900m 196,000 136,000 60,000
< 98,000 68,000 30,000
o 98,000 68,000 30,000
OXIgotd ENE Z4 L FSHHAY
ZE 26,337.8%+4,298m 113,200 79,000 34,200
< 113,200 79,000 34,200
OXLotd(Ssd, 3l2d) ot & A
HEgd H14s) 1,000,000,000& *13] 1,000,000 0 1,000,000
[ 1,000,000 0 1,000,000
OttE Al E(=2) =8 FH
10,0002 %500m 5,000 0 5,000
OZNE Sl At E2ZA
30,000,000 13 30,000 0 30,000
< 30,000 0 30,000
WA HS(ALRITH) & ot 2e] 25t 271,776 233,176 38,600
= 2,500 2,500 0
[ 101,098 74,258 26,840
= 168,178 156,418 11,760
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A oIt
M WHSEHUS(AEIME) 2 otdze] 235
SRl AT THS EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
A2 THE TS 183,620 166,820 16,800
= 2,500 2,500 0
& 71,290 66,250 5,040
s 109,830 98,070 11,760
AT THS 45,540 28,740 16,800
[ 5,040 0 5,040
= 40,500 28,740 11,760
201 er23 | 42,540 25,740 16,800
< 5,040 0 5,040
= 37,500 25,740 11,760
01 At2teltl 30,000 13,200 16,800
OCHEFAAHZ LY S E 2SAY
80,0002 *2107H 2 16,800 16,800
< 5,040 5,040
o 11,760 11,760
o|EAEN XY 70,000 50,000 20,000
[ 20,000 0 20,000
= 50,000 50,000 0
SIEAEUXA 70,000 50,000 20,000
< 20,000 0 20,000
= 50,000 50,000 0
401 AlEBIYL S THYI 40,000 20,000 20,000
< 20,000 0 20,000
= 20,000 20,000 0
01 Al&HI 40,000 20,000 20,000
OHH SSAYHAF 22 (LHBIE HI15
3) 20,000,000& 18] 20,000 0 20,000
< 20,000 0 20,000
Molit= & OIXHE! 2 10,796 8,9% 1,800
< 8,800 7,000 1,800
= 1,99 1,9% 0
Mol += & 0l 22 10,7% 8,9% 1,800
< 8,800 7,000 1,800
s 1,99 1,99 0
301 LEIEE S 1,800 0 1,800
[ 1,800 0 1,800
11 SAREIXES 1,800 0 1,800
Ons &4 &H 24 (48d M193)
50,0008 362 1,800 0 1,800
< 1,800 0 1,800
Mtord 2te| 7,483,925 6,862,853 621,072
s 1,462,000 1,000,000 462,000
< 1,160,000 1,160,000 0
= 4,861,925 4,702,853 189,072
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A oIt
M THH M 2
el CCIVEEZHMINE 22 (SH9 H2)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
CvEe2hde 24 1,163,338 1,003, 126 160,212
CCIVSE2tHIE 242t 1,163,338 1,003, 126 160,212
201 er23| 1,161,618 1,001,406 160,212
2 5234l 1,135,868 975,656 160,212
Ol3223 % HAl 692,602 532,390 160,212
OSEZMUE StR=
Z & 66,0002 x8R2 A+ 529,848 396,000 133,848
OSE2MEE &IIR=
& 13,0002 #8221 2+03 104,364 78,000 26,364
KIS SHH A 2 1,256,000 794,000 462,000
= 462,000 0 462,000
[ 60,000 60,000 0
T 734,000 734,000 0
HHY SXI2F (XHA) 1,034,000 634,000 400,000
£ 400,000 0 400,000
= 634,000 634,000 0
401 AIEHIYL 20| 1,034,000 634,000 400,000
s 400,000 0 400,000
z 634,000 634,000 0
01 Al&HI 1,034,000 634,000 400,000
A4S EAIDIE XNISECCTVEXIALY
400,000,000& 12 400,000 0 400,000
= 400,000 0 400,000
g dX2F(EX) 222,000 160,000 62,000
= 62,000 0 62,000
[ 60,000 60,000 0
= 100,000 100,000 0
401 AlEBIL LY 222,000 160,000 62,000
s 62,000 0 62,000
< 60,000 60,000 0
s 100,000 100,000 0
01 Al£ZHI 222,000 160,000 62,000
OAMLXILY SHAS I8 CCTV AR ELEXI(H
g H16S) 62,000,000& 13 62,000 0 62,000
s 62,000 0 62,000
SCHIHGH ol 248,320 249,460 21,140
SCHIHoH oflgh 22l 244,920 244,960 240
201 Ler23 | 127,470 120,840 6,630
02 S5=24g4l 29,370 22,740 6,630
OAIAE SX2teldl
Z& 1,067,000 +3 3,201 6,402 13,201
O22RE A AIBE
34 1,650,0002+3 4,950 9,900 24,950
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SA: ZoIorA It
3 Meord 2|
chel: SOHIHOH oI EER=E)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
OS2RE MY 2teldl
38 1,073,000&+32 3,219 6,438 A3,219
OSUIMH Biet HASH 282
4,500,000 42 18,000 0 18,000
202 O4tl 14,200 12,120 2,080
05 SR WS04l 11,200 9,120 2,080
OZeIZEX n=E0|
& 80,0002 +70H+23] 11,200 9,120 2,080
207 A IHEH] 19,250 22,000 N2,750
01 H1ESH| 19,250 22,000 A2,750
OREdEH 3& 19,250,000& 12 19,250 22,000 A2,750
405 KHoHF S| 84,000 90,000 26,000
01 MM =SF SHI 84,000 9,000 26,000
OotMEA SetaAc| ALY 2=
& 84,000,000 %13l 84,000 90,000 6,000
EXIZ0l 29 3,400 4,500 A1,100
201 2Bt ] 3,000 4,100 A1,100
01 AFR2telHl 3,000 4,100 A1,100
Olget=2Hl] 3,000 4,100 21,100
OE=Z= M= 38 02 0 1,100 A1,100
AH2LZHI(Z LIk D) 71,740 70,600 1,140
=&l 62,140 61,000 1,140
SUMHaHoIZE J1=234I 15,260 14,120 1,140
101 el 3,800 2,660 1,140
02 JIEtx 2= 1,900 1,520 380
OZelZ=A w=H| 220,000 54 1,100 880 220
OZelZ=A nF0i|
80,0002 x5 *23] 800 640 160
03 SRH(RINAHA) 222+ 1,900 1,140 760
OZelZ=A =] 220,000 53 1,100 660 440
OZeIZ=EX n=E0|
80,0002 x5 *23] 800 480 320
Heas(zelotdt) 79,471 0 79,471
RSP 79,471 0 79,471
RSN 79,471 0 79,471
802 gtet=D|Et 79,471 0 79,471
02 Al - CHIEXSEHES 79,471 0 79,471
Q20239 A2 ANZ2ERS
23,586,000 13 23,586 0 23,586
Q20238 DE2EX AE0IEHEEX &R
At SR 2 Ol 885,000& 12 885 0 885
o201 001257 SEF=EAF & OV
XA Heizod g OlXt
1,208,000 12 1,208 0 1,208
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2A:
T ZH -
o e

=aak

SN - BE - SRA(SIH) - NIRAY - B2 0 & ol & o HimEE]
O2022 OIRI0IS 5T SHEHR S&%
HI XIAtE Zaater 2 0|kt
511,000&*13] 511 51
02023 Moliw=Jla &R I Okt
49,949,000& *13l 49,949 49,949
02023 ALHM SN HEEHZ0F Sl
TEH&on ol Q| Xt 3,332,000& 13 3,332 3,332

_143_




H & 0l & AHS B Ml A

0248 =g 2 3| LBta &Ml 2024-09-09 15:24:17

FA AL2WS W
3o A=Y
el ZetAgdy XA (SH9 H2)
SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS
A4S 58,895,925 56,475,835 3,420,090
= 3,808,700 2,508,700 1,300,000
[as 547,000 547,000 0
Il 40,000 40,000 0
= 1,500,000 1,500,000 0
T 5,931,518 4,830,660 1,100,858
= 47,068,707 46,049,475 1,019,232
ALHFYES 2,962,253 2,397,996 564,257
< 584,858 360,000 224,858
i 2,377,3% 2,037,996 339,39
Ehlpal=io b PN 136,457 116,200 20,257
< 4,858 0 4,858
z 131,599 116,200 15,399
C2USE ZAKE 20,257 0 20,257
T 4,858 0 4,858
= 15,399 0 15,39
101 21=21b 18,316 0 18,316
LS 4,417 0 4,417
= 13,899 0 13,899
M IRINZ22RSE+ 18,316 0 18,316
OEZ2USETA A2
88,7302 #4721 x4 16,683 0 16,683
& 4,417 0 4,417
i 12,266 0 12,266
OCZUSEAIFY JUHESE =
16,218, 0002 *10.064% 1,633 0 1,633
201 Zer=2 Y| 1,941 0 1,941
5 441 0 a4
= 1,500 0 1,500
01 At 2teltl 1,941 0 1,941
OusZAN =357Y 485,250 x4 1,941 0 1,941
< 441 0 441
i 1,500 0 1,500
222 3 2,825,7% 2,281,796 544,000
< 580,000 360,000 220,000
z 2,245,7% 1,921,796 324,000
s el 2,825,796 2,281,796 544,000
T 580,000 360,000 220,000
= 2,245,7%6 1,921,796 324,000
201 Zer= Y| 918,000 615,000 303,000
R =23l 918,000 615,000 303,000
Ola32= % XAl 918,000 615,000 303,000
OSH Jt2s MJIe=
33 12,6002 2,500+ 122 378,000 375,000 3,000
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2A: Aduns
M ALEHTR2Y
Chel: D283 JH| EER=E)
M- - SA(3) - MRAY - BES Ol &koy N3 A Hwsz2
08H Bots ®IIe3
AE 4,50024%10,000F« 122 540,000 240,000 300,000
202 Ot 2,000 1,000 1,000
01 2UH0A] 2,000 1,000 1,000
OJt2Sd2 =& NI
2A 20,0002 %101x100 2,000 1,000 1,000
401 Al HI L L0 1,905,7% 1,665,796 240,000
(= 580,000 360,000 220,000
= 1,325,796 1,305,796 20,000
01 Al&HI 1,900,000 1,660,000 240,000
O[AIZHI] 1,900,000 1,660,000 240,000
ONSH AKX ZRIZS HXBA
4,000,000 %303 120,000 0 120,000
[ 120,000 0 120,000
OJIZS(E& HYE) FNE> 2372
AE 1,000,000 %5004 2 50,000 30,000 20,000
OAEH AKXl JI2S F2AXY AX(8E
A H23S) 2,500,000 #40%= 100,000 0 100,000
(= 100,000 0 100,000
C2AILRAL 9,831,005 8,933,997 897,008
S 1,500,000 1,500,000 0
< 860,000 250,000 610,000
2 7,471,005 7,183,997 287,008
X2 6,405,985 5,708,977 697,008
= 800,000 800,000 0
< 610,000 0 610,000
= 4,995,985 4,908,977 87,008
TR 2L 124,212 117,204 7,008
201 LBt2Y| 69,212 62,204 7,008
2 22294| 69,212 62,204 7,008
O[AIZZHISXIHI] 69,212 62,204 7,008
OZZESE XY RFU(HSY)
A 1,53724%4,000 £ 6,148 3,074 3,074
OEZ2E4+E XE KAHI(1EER)
250,000 %43 1,000 0 1,000
OE2E+E U RFU(IEEH)
97824%3,000 £ 2,934 0 2,934
C2AH| 6,136,073 5,446,073 690,000
= 800,000 800,000 0
[ 610,000 0 610,000
= 4,726,073 4,646,073 80,000
401 A& HI 2L 2 OHH| 6,056,073 5,366,073 690,000
= 800,000 800,000 0
< 610,000 0 610,000
= 4,646,073 4,566,073 80,000
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2A:

X XH -
o=

A8 wS
S22 A4 2L

&el: 2RIt EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
01 Al&HI 5,965,198 5,265,198 690,000
O[AI£HI] 5,697,698 5,067,698 640,000
OUsSH YT EHLHIA
& 996,250 +800m 797,000 297,000 500,000
= 500,000 0 500,000
i 297,000 297,000 0
0&Z 22 AtMIAel
& 200,000 5004 100,000 80,000 20,000
OULSMIRSR(ZA Lol=Xal2 &
2l ZHISAH 2,000, 0002 60m 120,000 120,000
< 60,000 0 60,000
z 60,000 0 60,000
Ol XE2 E=(48d M23)
5,000&*10,000m 50,000 0 50,000
< 50,000 0 50,000
AsSit nsS2el o 2,022,680 1,822,680 200,000
< 250,000 250,000 0
= 1,772,680 1,572,680 200,000
B2 IHEAS 1,522,680 1,322,680 200,000
401 AIEHIZL 20| 1,522,680 1,322,680 200,000
01 Al&HI 1,522,680 1,322,680 200,000
O[AIZHI] 1,500,000 1,300,000 200,000
OMNE Z2&E35H HdEIHESAHSL)
38 1,666,666,6662*0.6km 1,000,000 800,000 200,000
SHIYH L3t 20,309,010 19,939,010 370,000
= 2,410,000 2,360,000 50,000
= 3,119,300 2,859,300 260,000
i 14,779,710 14,719,710 60,000
b=FH| 2l 90,000 60,000 30,000
SHOHCHE 2r=FH| = Al2e 90,000 60,000 30,000
201 Let2dd] 90,000 60,000 30,000
2 33234l 90,000 60,000 30,000
Ostolithz &&E A=+, 2 JIIA
8= & 160,000 #5000 & 80,000 50,000 30,000
go1er ZH| 975,000 975,000 0
< 877,500 877,500 0
= 97,500 97,500 0
38 e XF LI HIAISE (HEALY) 562,500 562,500 0
< 506,250 506,250 0
= 56,250 56,250 0
401 AIEHIL 20| 562,500 562,500 0
< 506,250 506,250 0
= 56,250 56,250 0
01 Al&ZHI 532,360 530,500 1,860




A HEDE
M =PI 23
(= == bl eSda | EER=E)
SA-ZE - SA(FAH) - NISAY - BES Ofl kel N3 A Hlunsz
O[AIZHI] 532,360 530,500 1,860
O3 AR+ LIISEHIAY
28 532,360,0002 *1JH 2 532,360 530,500 1,860
s 479,110 477,450 1,660
[ 53,250 53,050 200
03 AIE 2 CHHI 140 2,000 A 1,860
O[N] 140 2,000 1,860
O3F oL XIF LI|eHEHIAIY 2Ol
28 500,000,000&*0.028% 140 2,000 A 1,860
& 140 1,800 1,660
= 0 200 2200
Sl DBt Ed 14,219,010 14,169,010 50,000
= 2,050,000 2,000,000 50,000
& 50,000 50,000 0
= 12,119,010 12,119,010 0
Y7 B ALY 4,350,000 4,300,000 50,000
= 2,050,000 2,000,000 50,000
i 2,300,000 2,300,000 0
401 Al&HIZ20HY| 4,350,000 4,300,000 50,000
= 2,050,000 2,000,000 50,000
= 2,300,000 2,300,000 0
01 Al&HI 4,320,000 4,270,000 50,000
O [Al&dI] 2,020,000 1,970,000 50,000
O=YXF Hi=IH& ALY
Z3& 2,020,000,000& *1IH A 2,020,000 1,970,000 50,000
= 2,020,000 1,970,000 50,000
FelAEE RAE> 4,247,500 4,007,500 240,000
= 200,000 200,000 0
= 2,171,800 1,911,800 260,000
= 1,875,700 1,895,700 220,000
212 SIIBFAIEZEIALY 1,375,000 1,135,000 240,000
[ 1,375,000 1,135,000 240,000
401 AIEHIYL20HY 1,375,000 1,135,000 240,000
= 1,375,000 1,135,000 240,000
01 Al&HI 1,375,000 1,135,000 240,000
O[AIZHI] 240,000 0 240,000
O0IH 2H0|L=Z AXISAH
50,000,000 104 2 50,000 50,000
= 50,000 50,000
ONZH 22| =2 FHISA
30,000,000 104 2 30,000 30,000
s 30,000 30,000
ONSH HZEL == SEHIA
30,000,000 100 & 30,000 0 30,000
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A AZDED
e
ool SelAEE RA2S (el mel)
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N Hws2
< 30,000 0 30,000
00IS ES2| BH4E FHIBA
40,000, 00024 +174 2 40,000 40,000
= 40,000 40,000
ORAS =2l 42 FHIZA
30,000,000 1H 30,000 30,000
= 30,000 30,000
OSIAIG AEiR| B2 HHIZA
30,000,000 *1H 30,000 30,000
= 30,000 30,000
OStATl Sai2) B2 FHIZA
30,000,000 *1H 30,000 0 30,000
= 30,000 0 30,000
2T ZCH MoK AT FHlA 150,000 150,000 0
= 75,000 75,000 0
= 7,500 0 7,500
2 67,500 75,000 A7,500
401 Al&EI L2 HE] 150,000 150,000 0
2 75,000 75,000 0
= 7,500 0 7,500
= 67,500 75,000 AT7,500
01 Al&t| 150,000 150,000 0
Ol[AI&HI] 150,000 150,000 0
02T ZCH MHRIBHAX FHIA
2 150,000,0002*1)H 4 150,000 150,000 0
= 75,000 75,000 0
= 7,500 0 7,500
2 67,500 75,000 A7,500
ST SN HHRIBHAX ZHI A 150,000 150,000 0
= 75,000 75,000 0
= 7,500 0 7,500
2 67,500 75,000 AT7,500
401 Al&HI L2 CHE] 150,000 150,000 0
2 75,000 75,000 0
= 7,500 0 7,500
2 67,500 75,000 AT7,500
01 Al&t] 150,000 150,000 0
O[AI&HI] 150,000 150,000 0
O SAH THOHRIB T X FHIAS
2 150,000,0002*1)H 4 150,000 150,000 0
2 75,000 75,000 0
= 7,500 0 7,500
2 67,500 75,000 A7,500
23 2F2H MHSIBNAX oA 100,000 00,000 0
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M AZWSH
3 Uy 23
Rl =2lAEE RREs EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
= 50,000 50,000 0
< 5,000 0 5,000
i 45,000 50,000 25,000
401 AlEHIYL S THYI 100,000 100,000 0
= 50,000 50,000 0
< 5,000 0 5,000
= 45,000 50,000 5,000
01 Al&HI 100,000 100,000 0
O[Al=HI] 100,000 100,000 0
O=% ZE2H MollIgX =Xl ZHIAIL
ZZ& 100,000,000 %100 &~ 100,000 100,000 0
= 50,000 50,000 0
< 5,000 0 5,000
= 45,000 50,000 25,000
TXEHS H201E At 567,500 517,500 50,000
FClAIE2 AIEXIE 550,000 500,000 50,000
403 THXI M SAH=01 ™ 550,000 500,000 50,000
02 S 2SS0t et =& 2 EF A I 550,000 500,000 50,000
O20l=& EXSA
50,000,000 * 1042 50,000 0 50,000
nSAHF Ho 15,988,582 14,486,235 1,502,347
= 1,398,700 148,700 1,250,000
= 547,000 547,000 0
pJ 40,000 40,000 0
< 828,329 822,329 6,000
= 13,174,553 12,928,206 246,347
WSHY =Y 1,572,672 1,530,672 42,000
< 123,000 123,000 0
s 1,449,672 1,407,672 42,000
ASASSEA X2 252,000 210,000 42,000
301 LEIEN S 252,000 210,000 42,000
14 JIEt2d = 252,000 210,000 42,000
OXSIHSE B Al K&
ZE 28,0002 *9,000CH 252,000 210,000 42,000
2AE X 10,440,219 10,248,560 191,659
= 148,700 148,700 0
= 547,000 547,000 0
Jl 40,000 40,000 0
< 506, 129 500, 129 6,000
= 9,198,390 9,012,731 185,659
MHE X2 2,650,723 2,467,963 182,760
< 351,629 351,629 0
= 2,299,094 2,116,334 182,760




FA AELS
. NSHME A
&t S=AIEXE EER=E)
SA - B SLA(S) - HRAY - BES ol ko R RS2
307 lztol & 2,650,723 2,467,963 182,760
[ 351,629 351,629 0
= 2,299,094 2,116,334 182,760
09 2+ AHAELS 2,650,723 2,467,963 182,760
OsHEHA THEXIAS(012ALY)
23 2,650,723,000& x13] 2,650,723 2,467,963 182,760
S 351,629 351,629 0
ia 2,299,094 2,116,334 182,760
HU2AY K& 1,517,778 1,738,879 A221,101
201 =3 104,183 64,183 40,000
01 At22t2ltl 58,094 18,094 40,000
OZ2dd g = HM& 25
& 1,000,000 +30CH 30,000 10,000 20,000
Olger+=2tl] 20,000 0 20,000
OR=HA AN HE 2= M
1003 %45+25,000& 10,000 0 10,000
OZUHASZE 2 M85 Wi
100,000 *1009H A 10,000 0 10,000
207 ARl 57,000 35,000 22,000
01 A1E4H| 57,000 35,000 22,000
OFsHA Al HE 23t
22,000,000& 12} 22,000 0 22,000
307 @120l & 1,256,59% 1,489,696 1233,101
09 2FHHEXS 1,256,595 1,489,696 233,101
OFRZHA AN HE 4243
2 & 171,899,000& %12 171,899 405,000 233,101
308 XXM SO0IH 100,000 150,000 50,000
18 SIS0t 4 A A A 100,000 150,000 ~50,000
o222 Hid &1
Z& 10,000,000 = 10CH 100,000 150,000 50,000
CEEAl WA KA 20,000 0 20,000
=S 6,000 0 6,000
ia 14,000 0 14,000
307 @I2t01 & 20,000 0 20,000
S 6,000 0 6,000
T 14,000 0 14,000
02 LB AANHEE 20,000 0 20,000
OL==Al X 1,000,000 +20CH 20,000 0 20,000
[ 6,000 0 6,000
i 14,000 0 14,000
1002 Al 2 At 390,000 300,000 90,000
= 100,000 100,000 0
[ 30,000 30,000 0
i 260,000 170,000 90,000
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M A4DSh
M nsdHE e
Rl SAIEXIE EER=E)
SA - BB CR(B) - AIRAY - BES Ofl ato 9| e C[ImE==l
301 LetENEZ 390,000 300,000 90,000
= 100,000 100,000 0
= 30,000 30,000 0
= 260,000 170,000 90,000
14 J|Et2 43 390,000 300,000 90,000
O1002 Al 0120 [HE 2a=3
30,000,000 *3H 2 90,000 0 90,000
HISXMEAl 2 408,100 288,100 120,000
& 84,000 84,000 0
= 324,100 204,100 120,000
307 QI2+01 ™ 400,000 280,000 120,000
= 84,000 84,000 0
= 316,000 196,000 120,000
09 S+HEXZ 400,000 280,000 120,000
CHAIOIERZ ¥ JIAEeS
200,000 600 120,000 0 120,000
t=sns sZd 1,414,756 1,404,756 10,000
HAHDIE 22t 547,356 1,237,35% A690,000
201 22 251,276 245,276 6,000
02 E324Hl 37,100 31,100 6,000
O [B323 £ WAl 21,600 15,600 6,000
OHAHDIE MII22
Z& 1,000,0002* 1291 = 12,000 6,000 6,000
206 =4l 13,600 9,600 4,000
01 M=l 13,600 9,600 4,000
OyAEE 7Y 23 50,0002 «88H 4,400 2,400 2,000
FUEE 2L 2 & 200,000 +343] 6,800 4,800 2,000
401 AIEHIZL 2018 0 700,000 A700,000
01 Al&Hl 0 700,000 A700,000
O[EXIoHHl] 0 700,000 AT00,000
OZAZHHAHDIE FHIXI OHY
328 03 0 700,000 A700,000
snsSAIEE dxlztel 817,400 117,400 700,000
401 AIEHIZL 28I 806,300 106,300 700,000
01 Al 806,300 106,300 700,000
O[EXIoiHl] 700,000 0 700,000
OZAZHHAHDIE FHRA OHY
700,000,000 10 2~ 700,000 0 700,000
WSOHMAlL 2e| 2,560,935 1,302,247 1,258,688
= 1,250,000 0 1,250,000
= 199,200 199,200 0
= 1,111,735 1,108,047 8,683
WSOHEAlZS2e 1,310,935 1,302,247 8,683
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M AZWSH
33 WS O
Rl WEHMAIA 2 EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
[ 199,200 199,200 0
= 1,111,735 1,103,047 8,688
201 er23| 143,868 135, 180 8,688
2 s5=4g4l 132,888 124,200 8,688
OuSHESE MRS
ZE 54,0002 %1810 A+ 120 117,288 108,600 8,683
A0EEAE =4 1,250,000 0 1,250,000
= 1,250,000 0 1,250,000
201 er23 | 6,000 0 6,000
= 6,000 0 6,000
01 At22t2l] 6,000 0 6,000
OADIETAl £F 8 SHAAIY MM &t
A 34 ¢ 300,000 20 6,000 0 6,000
= 6,000 0 6,000
401 AlZBIL S CHY] 894,000 0 894,000
= 894,000 0 894,000
01 Al&HI 891,500 0 891,500
OADIEZAl £2 46 ALY
891,500,000& 12 891,500 0 891,500
= 891,500 0 891,500
03 A2 2 0HYI 2,500 0 2,500
OADIEZAl £2 46 ALY
2,500,000,000& +0. 1% 2,500 0 2,500
= 2,500 0 2,500
403 AXIEHMSAH=0l 350,000 0 350,000
= 350,000 0 350,000
02 SI12S0ItH et =& 2 €A | 350,000 0 350,000
OADIEZAl 246 ALY (BISTE)
350,000,000 13 350,000 0 350,000
= 350,000 0 350,000
HRas(ALnsh) 86,478 0 86,478
SN 86,478 0 86,478
BEXE 86,478 0 86,478
802 grat=JIE 86,478 0 86,478
01 =Ex3etE=a 1 0 1
OJ1SUHl EIHE A 2H| XN
1,000&*13] 1 0 1
02 Al - EHIEEXESEHEZ 86,477 86,477
020224 0l™ A2 RIHOHL AL (2020~2022H )
&l 86,477,000& 18] 86,477 0 86,477
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A 2 o & A

243 =& 2 3| LUSIH MMl 2024-09-09 15:24:17
2A:

I‘I il-l

SAICIRHRI Bt
Al

ool SAINE 28

Al A

SA - HY - S9I(3) - HIRAY - BES o ar 7| 3 o HDS2

S AICIRHR Bt 50,044,455 48,669,466 1,374,989

= 1,307,598 1,248,998 58,600

[ 16,562,000 16,562,000 0

£ 900,000 900,000 0

S 1,887,203 1,669,203 218,000

= 29,387,654 28,289,265 1,098,389

CADRY 28,256,456 27,400,506 855,950

[ 11,007,000 11,007,000 0

== 1,382,000 1,166,000 216,000

= 15,867,456 16,227,506 639,950

SAAHE =8 4,566,500 4,476,500 90,000

CAHE =8 206,500 116,500 90,000

207 ARl 132,000 42,000 90,000

01 H2E4H| 132,000 42,000 90,000
OgY ZALHE(ECXS 452HHI]) 2

(H3) 70,000,000& *12] 70,000 0 70,000
ON%SZI SN B 2F)

20,000,000 13l 20,000 0 20,000

CAB2EH 2,521,625 2,005,625 516,000

= 216,000 0 216,000

= 2,305,625 2,005,625 300,000

CAB2EY 774,400 568,400 216,000

T 216,000 0 216,000

Ea 568,400 568,400 0

401 AIZHIX S0HH 766,000 550,000 216,000

LS 216,000 0 216,000

s 560,000 550,000 0

01 A28l 766,000 560,000 216,000

OIAIEHI] 766,000 560,000 216,000

OE0IsH =8 S2NLAL

216,000,000& *13] 216,000 0 216,000

= 216,000 0 216,000

Qe YO0ISH A (MEH (TEALY) 1,650,000 1,350,000 300,000

401 A2 HIRL 201 1,650,000 1,350,000 300,000

01 Al&HI 1,650,000 1,350,000 300,000

OgYy €30I83 gAY

3 1,500,000 «1,000m 1,500,000 1,200,000 300,000

SADIEAE &F 20,861,181 20,618,381 242,800

= 11,007,000 11,007,000 0

& 1,166,000 1,166,000 0

s 8,688, 181 8,445,381 242,800

SAAEEZ 22| 384,700 379,900 4,800

201 Let=d] 14,700 9,900 4,800

2 s5=4g4l 14,700 9,900 4,800
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SAM EAICIAR
F: TADNY
&2l SADIBIAIE &F

SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
Olzza2 2 Al 14,700 9,900 4,800
OZANEE ®)| L +223
21 800,000 12042 9,600 4,800 4,800
SAAEE X2 57,081 49,081 8,000
201 Yer2 o] 20,000 12,000 8,000
2 222 20,000 12,000 8,000
OlBZa2 2 Al 20,000 12,000 8,000
OUE S4B SFMEH 2323
2% 1,666,606 12042 20,000 12,000 8,000
SAAIES BHI(RBAI) 1,885,000 1,685,000 200,000
= 300,000 300,000 0
2 1,585,000 1,385,000 200,000
401 A&l = THY| 1,885,000 1,685,000 200,000
= 300,000 300,000 0
2 1,585,000 1,385,000 200,000
01 A& 1,885,000 1,685,000 200,000
OlAlZH] 1,885,000 1,685,000 200,000
0gAS S2XT B SEY )
J3 200, 0002 4800 160,000 80,000 80,000
OYAE 2| JWUAZ HXBAI
217 320,000,008+ 172 320,000 200,000 120,000
A58 TAHY QIFAIY 2,800,000 2,770,000 30,000
401 A&HIL S THY| 2,798,000 2,763,000 30,000
02 22l 30,000 0 30,000
O4s 0IPE BUE AYTAF S22l
30,000,0008!#1] 30,000 0 30,000
sis2=nes 2 307, 150 300,000 7,150
si=2ize2sl iz K 307, 150 300,000 7,150
201 Yer2 | 302, 150 295,000 7,150
01 ArR2t2IH| 41,150 34,000 7,150
oleg+g] 7,150 0 7,150
ONIOA BIIRIR EHASY
450, 00021472 3,150 0 3,150
outats ZXPIR AV ALY
100,000 52024523] 4,000 0 4,000
PIEEEE 1,579,898 1,577,898 2,000
=2 1,237,508 1,237,508 0
= 163,910 161,910 2,000
2 178,39 178,390 0
EA=XAS 1,579,898 1,577,898 2,000
2 1,237,508 1,237,598 0
= 163,910 61,910 2,000
2 178,390 178,390 0
FHIAD| T Ol A KIEIAFY 2,000 0 2,000

_154_




2A:
X XH -
o e

=aak

SAICI ARt
Xt

JI=YEEH

FASXAMNE

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
< 2,000 0 2,000
301 Et2E = 2,000 0 2,000
= 2,000 0 2,000
02 AISIEZEE 63 (FAAS, RYTHR) 2,000 0 2,000
O&MIA| TIoHAH OIAHH] XI&
1,000,000& x2g 2,000 0 2,000
s 2,000 2,000
FHEZMHE 3,233,473 3,022,465 211,008
= 70,000 11,400 58,600
T 226,293 226,293 0
= 2,937,180 2,784,772 152,408
FoEFEE XY 1,220,589 1,119,589 101,000
= 43,000 0 43,000
L= 162,873 162,873 0
i 1,014,716 956,716 58,000
SSFe 2 533,489 503,489 30,000
= 120,873 120,873 0
= 412,616 382,616 30,000
401 AIEHIZL 28I 40,000 10,000 30,000
01 AlIZHI 40,000 10,000 30,000
Oartl S8 HNEH
3,000,000&+10= 30,000 0 30,000
402 QI2EHE01 & 442,909 442,909 0
= 120,873 120,873 0
= 322,036 322,036 0
01 QIZEXHE2 AR 2 (KM THE ) 142,523 180,000 AN37,477
OAl SsF EX&
BE 42,523,000 x 1042 42,523 80,000 N37,477
02 QI THEAIEEE(0IETHE) 300,386 262,909 37,477
Oaml S 2413
28 18,491,2303 %1304 & 240,386 202,909 37,477
= 60,873 60,873 0
i 179,513 142,036 37,477
BIEEHIAI 655,500 584,500 71,000
= 43,000 0 43,000
= 42,000 42,000 0
= 570,500 542,500 28,000
308 AXIHMSO0I & 56,000 0 56,000
= 28,000 0 28,000
= 28,000 0 28,000
13 S| 2SS E AR PEA I 56,000 0 56,000
OBIZ A A 80,0002 x700= 56,000 0 56,000
= 28,000 0 28,000
= 28,000 0 28,000
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SA: ZAICIAH Bt
I Z=HS2ANM

o2l FREFEERY (SH9 H2)
SN - B S2A(BH) - HRAY - BES 0 &y ol B o HIRS
401 AlZHIYL 20 415,000 400,000 15,000
= 15,000 0 15,000
o 400,000 400,000 0
01 Al 415,000 400,000 15,000
OHHNE BIZHHIALY
15,000,000 *13] 15,000 0 15,000
= 15,000 0 15,000
MASEHIA 102,720 74,220 28,500
= 27,000 11,400 15,600
[ 3,420 3,420 0
= 72,300 59,400 12,900
ge=8 2Y 45,420 36,420 9,000
401 AIEBIL20HY] 33,000 24,000 9,000
01 Al 33,000 24,000 9,000
O[AIZHI] 33,000 24,000 9,000
OEE=d AMEESH|
Z& 6,600,000&*50H A 33,000 24,000 9,000
SEFAHE FHMNEAL (sEEDIHFII) 19,500 0 19,500
= 15,600 0 15,600
i 3,900 0 3,900
307 2I2t01™ 19,500 0 19,500
= 15,600 0 15,600
o 3,900 0 3,900
02 CIZHALAIH E X 19,500 0 19,500
OsEFHLAES FHMHLXIA
6,500,000& 3= 19,500 0 19,500
= 15,600 0 15,600
= 3,900 0 3,900
OI23S0IEAIE A 1,896, 164 1,816,656 79,508
< 60,000 60,000 0
i 1,836, 164 1,756,656 79,508
DISSS0IEAE B 1,472,656 1,132,656 340,000
401 AIEHIL20HY 1,468,600 1,128,600 340,000
01 AlZHI 1,465,000 1,125,000 340,000
O[AIZHI] 924,000 824,000 100,000
Oont==S0I2AI4 EH]
Z& 10,000,000 *40= 400,000 300,000 100,000
Oggs ws3e| 2SI MAE o232 W
SEHUIBA 10,000,000&*1& 10,000 0 10,000
OZgs delbel EAs0Sal2 ZHIEAM
15,000,000&*1& 15,000 0 15,000
Oz g s2its | B=3A
20,000,000&*1& 20,000 0 20,000
OdSE BH0IEsI2 B3 A
15,000,000&*15 15,000 0 15,000
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SM: CAICIKIQID
Hu: FHAMNA
o9l D22 S0IBAILAY (cie) 29
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
OSzIe HHOZE2 AL R
20,000,000%4+15 20,000 0 20,000
OMEH 2202| LBOIZ 242 BHIZA
20,000,0002/+15 20,000 0 20,000
ONZEH GIE0IZ5I2 NSEXIBA
20,000,0002/+15 20,000 0 20,000
OSEY SIYOISEIZ T4 B2TA
20,000,000%4+15 20,000 0 20,000
02 NE0HE B2 BLAF
20,000,0002/+15 20,000 0 20,000
OZNE 4H0125I2F NISEXIBAF
20,000,0002/+15 20,000 0 20,000
OMEY B2 FRF0ISED ZHIZA
20,000,000%4+15 20,000 0 20,000
OSHAe AANDIE R&2E BLZA
20,000,0002/+15 20,000 0 20,000
O0I2e Mgzl =508 |82 FHITA
20,000,000/+15 20,000 0 20,000
| E2 012 x4 223,508 484,000 £260,492
401 AIEBI L 2THE] 223,508 484,000 £260,492
01 Al&HI 223,508 484,000 260,492
OlAI&HI] 223,508 484,000 260,492
0522l 0H2EIZ TR =Xl
A% 385,962.521x320m 123,508 254,000 A 130,492
OS2l 01232 MUHXl &Il
243 70,000,000%/+13] 70,000 200,000 130,000
A=HZL 14,000 12,000 2,000
AZH A3 14,000 2,000 2,000
201 Q2| 2,000 10,000 2,000
01 AFR 22| 2,000 10,000 2,000
Oleg+g] 12,000 10,000 2,000
OPEHSAE AN Ha2T
2% 100,000 +4%+73] 2,800 2,000 800
OHMBSAAE! SIN Aalpg
2% 100,000/ +4% +83] 3,200 2,000 1,200
B A EIHL ALY 13, 153,204 13,058,204 95,000
2 5,555,000 5,555,000 0
= 115,000 115,000 0
2 7,483,204 7,388,204 95,000
SHATIXIZE HY| 6,081, 168 6.081, 168 0
2 4,247,000 4,247,000 0
2 1,834,168 1,834, 168 0
2N I ZME HESH 82,148 82,148 0
2 572,000 572,000 0
2 250, 148 250, 148 0
207 SR 105,000 0 105,000
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S£AM: SAICIRHRI Dt
3 LS MOENE ALY
ol SHATXISEE EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
s 63,000 0 63,000
i 42,000 0 42,000
01 H1ESHI 105,000 0 105,000
OZANE J|I=dE NESHAE NFHES
3t 90,000,000 *1IH 2 90,000 0 90,000
= 63,000 0 63,000
= 27,000 0 27,000
OZAE JI=dE NESHAE SHAA
OilHI A= =&HI 15,000,000 *17H 2 15,000 0 15,000
401 Al&BIL STy 717,148 822,148 105,000
as 509,000 572,000 63,000
= 208, 148 250, 148 242,000
01 Al£ZHI 712,000 817,000 105,000
OZAE J|I=dE HESEAY
& 712,000,000 %10 & 712,000 817,000 105,000
= 509,000 572,000 63,000
= 203,000 245,000 242,000
AP SEEH 100,000 95,000 5,000
HAZEAUIAIY FX2e] 85,000 80,000 5,000
201 LEH2 | 45,000 40,000 5,000
01 At22t2lt] 5,000 0 5,000
Ogtga)| g2 elSx M
5,000 +1,000% 5,000 0 5,000
SEOSUSIIAE 20,000 10,000 10,000
NS edatate 20,000 10,000 10,000
307 2I2t01 20,000 10,000 10,000
05 2IZtRAEZ 20,000 10,000 10,000
OXIH A2 3A |22/l
ZE 20,000,000 %10 2~ 20,000 10,000 10,000
=gl TetE| 2,760,433 2,690,433 70,000
=88 =8 s g 91,000 21,000 70,000
401 AlZBIL S THYI 91,000 21,000 70,000
01 AlZHI 70,000 0 70,000
Osgd U=4 Ms2 A
70,000,000 * 1042 70,000 0 70,000
FOARNS HE01AH JHAZALS 1,591,603 1,591,603 0
= 1,078,000 1,078,000 0
[ 115,000 115,000 0
= 398,603 398,603 0
8% NFATF SHE FAXNAUSHHNEALY 534,000 463,000 71,000
= 350,000 350,000 0
< 31,000 31,000 0
s 153,000 82,000 71,000
401 AlZBIL S THYI 534,000 463,000 71,000




2A:
X XH -
o e

=aak

M- - SA(3) - MRAY - BES (1;| Palgely | & A Hlns
=z 350,000 350,000 0
(= 31,000 31,000 0
= 153,000 82,000 71,000
01 Al&HI 525,000 454,000 71,000
Oats NEXT SHE F AR MEAH
IHEALY 3 525,000,000 %10 & 525,000 454,000 71,000
z 350,000 350,000 0
(= 31,000 31,000 0
= 144,000 73,000 71,000
01 OIEXT? SOHE FUX T MENH HEAY 387,000 458,000 AT71,000
z 309,000 309,000 0
[= 45,000 45,000 0
= 33,000 104,000 AT71,000
401 AlEHI2 20 387,000 458,000 AT71,000
z2 309,000 309,000 0
[ 45,000 45,000 0
= 33,000 104,000 AT71,000
01 Al&H| 387,000 458,000 AT71,000
O0I DIEXT SOHE FAXFP MHE0A
IHEAY 2 387,000,000 %13 387,000 458,000 AT71,000
z2 309,000 309,000 0
[ 45,000 45,000 0
2 33,000 104,000 AT71,000
XSS ALY 2,590,000 2,590,000 0
z2 230,000 230,000 0
= 2,360,000 2,360,000 0
AS0IE OI22HSD| ASHL A (HEALY) 205,000 205,000 0
401 AlEHIL 2] 205,000 205,000 0
01 Al&HI 203,524 205,000 N1,476
O[AI&HI] 203,524 205,000 N1,476
OAE0IS DISOHED| THEMLAIY
AE 203,524,000 104 £ 203,524 205,000 N1,476
03 Al 20HYI 1,476 0 1,476
OAE0IS DI2LHED| AISHLAY AlER
Chl 205,000,000 %0.72% 1,476 0 1,476
SE32F Y| 10,000 0 10,000
SE32 HRESH L A 10,000 0 10,000
401 AlEHIL 20| 10,000 0 10,000
01 Al&ZHI 10,000 0 10,000
OsZEZ2t WREHIWAM) I L AIAHE
> 10,000,000 %174 A 10,000 0 10,000
THRE = (S AICIXOID}) 1,839,031 1,628,000 211,031
PSS 211,031 0 211,031
SEXE 211,031 0 211,031
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2A:

S AICI AR 1t

HH: WRES(ZAICIXRID)
thel: B8XE EER=E)
A -3 - A4A(3H) - MRAY - BES Oil FoH J| M oA Hpnsz
802 BHEF2D|E} 211,031 211,031
01 2DExIsz 178,759 178,759
020234 HIZAHNT HZE=XE OlAMH] XIKAFS
2HIERZ g2 2 0l
200,950 %13 201 201
O HEBN SHAISEXAAY 2H|I2
=2 0|kt 150,670 %13 151 151
Q202 HEAKAN SFAISERIAAL(01") =
HExZ gig= L oKt
49,899, 22024 %13 49,900 49,900
Q2023 =HZ0! XAAIY 2H|IBEZ gt
2 L 0IX 128,497,990 13| 128,498 128,498
Q2023 KN SHAISERAAIY 2H|I2
E=N0pY 8,430 *13] 9 9
02 Al - CHIEZZ28E2 32,072 P,272
O2001d 29|20 AHIRE XAAY g2
2 0Kt 912,000 *13 912 912
ONBEE ANR ZESZEH BT RAAY &
HERSE= 77,0002 %13) 77 77
O2023E T HIMAHM HZEXE OIAH] XISIAL
o CHIBEZ gid=2 2 0|k
200,950 %13 201 201
O HEBN SHAISEXAAY THIE
=y =TI} 45,7702 %13 46 46
Q202 HERAN SFAISERIAAMD(01E) &
HEXZ gig=2 2 Ol
14,969, 1902+ 13 14,970 14,970
020238 =HZ0! XA THIBEZ Bt
2 % 0IX 16,062,500 %13 16,063 16,063
O3 HEHBN SHAISE XA THIE
== 0|k 2,53024%13] 3 3
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H & 0l & AHS B Ml A

0248 =g 2 3| LBta &Ml 2024-09-09 15:24:17

SN - BE - SRA(SIH) - NIRAY - B2 0 & ol & o
OIS AR 1t 1,008,955 1,008,955 0
Xgolsl 24 XA 968,975 968,975 0
ol3|2gl|g=s 351,622 351,622 0
o3 2HXI& 225,242 225,242 0
201 L2 | 114,844 114,844 0
01 At 22|l 54,820 54,820 0

023 28 Qs MH
1,000,000 +83! 8,000 8,000
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H & 0l & AHS B Ml A

0248 =g 2 3| LBta &Ml 2024-09-09 15:24:17

g &9, 75
Belr SHAZ AL D= EER=E)
SN - B S2A(BH) - HRAY - BES 0 &y ol B o HIRS
SR e 16,296,450 12,553,632 3,742,818
= 3,183,546 558,548 2,629,998
z 488,870 488,870 0
2l 2,100,972 1,876,186 224,786
< 824,458 777,834 46,624
i 9,693,604 8,852,194 841,410
g9, 15 10,615,049 7,470,240 3,144,809
= 2,809,647 175,647 2,634,000
= 348,000 348,000 0
2l 788,974 589,974 199,000
< 242,59 236,749 5,850
= 6,425,829 6,119,870 305,959
SAHOZAIE D= 4,662,903 2,004,404 2,658,499
= 2,634,000 0 2,634,000
z 348,000 348,000 0
= 96,000 9,000 0
= 1,584,903 1,560,404 24,49
22012 AIEEH 743,500 735,500 8,000
401 AIEHIZL 20| 743,500 735,500 8,000
01 Al&ZHI 743,500 735,500 8,000
O[AIZHI] 63,500 55,500 8,000
OF2A Y ASEAXA AOHEAHD &
RSl d&d 7,000,0002 %200 & 14,000 6,000 8,000
SAHYES 364,073 347,574 16,499
101 1A 98,818 103,719 A4,901
M IRtHMZZ2HS e 98,818 103,719 24,901
O2ATZ4 FO0EA M= o12t| 17,035 31,562 ~14,527
oJll== 3 84,0003 #262+121+6E 13,104 25,896 A12,792
O4UEE JI2RE=
& 13,104,0002%12% 1,673 3,108 A 1,535
OgZESFIHI Z& 200,000 +12/+1H 200 400 A200
OFAdx QA AIREZX J[2H 22| 9,626 9,626
oJlzEs 78,8803 x262 x121x42 8,204 8,204
O4UiEE DI
2,050,880 121+ 129%+42 985 0 985
oxg&d+E 50,0002 +1Q1+43 200 0 200
OItE 4t 78,830%121+3! 237 0 237
201 Let2a| 223,770 210,770 13,000
01 Al 2telHl 65,516 58,516 7,000
O2AdAx A0t3AEN S22 MH
1,000,000& +73] 7,000 0 7,000
2 =523l 168,254 152,254 6,000
O[xtedEil] 27,863 21,863 6,000
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S 22
M YA A5
o BAAZ AL DB A=s (CHol: &S1)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlwsz2
ORAHFIY RFU L SF| 19,263 13,263 6,000
03YR
B8 1,5983*132.58 4 50+ 12& 12,712 6,712 6,000
202 04dl 12,400 4,000 8,400
01 =LHO4 b 12,400 4,000 8,400
OB=EHIYAI BHHRFE (|
ZE 20,0002 x20F 15 6,000 4,000 2,000
O3EEHYM &3l = (bl
20,0002 x5 «83|*8& 6,400 0 6,400
S3HES Je2|2L A 2,634,000 0 2,634,000
= 2,634,000 0 2,634,000
401 AIEHIZL20HHI 2,634,000 0 2,634,000
= 2,634,000 0 2,634,000
01 Al&HI 2,634,000 0 2,634,000
OEd4 Jeig|24d
2,322,000,000& * 170 2 2,322,000 0 2,322,000
= 2,322,000 0 2,322,000
OatsBAHXA Jele|2ed
312,000,000 *17H 2 312,000 0 312,000
= 312,000 0 312,000
Aoz MHIARH 3,267,256 2,845,456 421,800
| 204,638 5,638 199,000
& 19,228 13,378 5,850
= 3,043,390 2,826,440 216,950
g8zl 28 XA 843,300 640,000 203,300
201 2| 3,300 0 3,300
01 At=R2teld| 3,300 0 3,300
OXSEES39 2|2 0I2XF SHET XTAH|
3,300,000 *13| 3,300 0 3,300
307 QIZt01A 840,000 640,000 200,000
02 QIZHBAAIEER 840,000 640,000 200,000
OXEs3220 12 2
Z& 70,000,000& *12IH B x 104 2 840,000 640,000 200,000
FUX S=4 2012 K& 199,000 0 199,000
| 199,000 0 199,000
307 QIZt01 A 199,000 0 199,000
| 199,000 0 199,000
02 QIZHBAAIHE R 199,000 0 199,000
OFAX 824 29712 X
199,000,000 * 171 2 199,000 0 199,000
| 199,000 0 199,000
FHAX =220 2erolgd X 19,500 0 19,500
& 5,850 0 5,850
[ 13,650 0 13,650




A 2L
g

g &9, 75
Helr BHAZAMHIARE EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
307 e12+0l1d 19,500 0 19,500
< 5,850 0 5,850
z 13,650 0 13,650
02 LB HAHE X 19,500 0 19,500
OF X Ss227|2 2otelz! ol X
& 3,250,000 «1Q1+6# 19,500 0 19,500
= 5,850 0 5,850
i 13,650 0 13,650
LY oY 1,014,381 1,020,381 26,000
= 175,647 175,647 0
Jl 27,558 27,558 0
L= 83,372 83,372 0
z 727,804 733,804 26,000
gALS 480,980 486,980 26,000
101 el 193,428 158,907 34,521
04 JI2HMI= 193,428 158,907 34,521
Oogza & £ 191,428 156,907 34,521
ogsAs 2=
ZE 84,0002%23.752+921x93 161,595 127,074 34,521
206 =4l 189,642 230,163 40,521
01 M=Hl 189,642 230,163 40,521
O=&7M 25,397 30,000 4,603
osd 38 1,030, 70031000 2 10,397 15,000 4,603
OYAL=E 5,035 40,953 135,918
oz 5,035 22,181 A17,146
oFle= & 1,508%+20.051 £ x1102] 3,525 5,274 A1,749
03w d& 1,5373+8.929 4 x1102 1,510 16,907 15,397
osH 0 18,772 A18,772
oxEE = 38 0 0 15,980 15,980
oXHEE R 38 0 0 2,792 N2, TR
LELHEE oyl A 14,560 14,560 0
201 et ] 1,920 2,800 880
2 s3234l 1,920 2,800 880
O[AN&ZHISXIdl] 1,920 2,800 880
OJILIM 2AI ==&b]
ZE 96,0008 2000 2 1,920 2,800 1880
405 Rhaks S| 2,640 1,760 880
01 MM =ZF SHI 2,640 1,760 880
O%XIILMe 7
& 880,0009*3M & 2,640 1,760 880
Hgas 24 1,670,509 1,599,999 70,510
2l 556,778 556,778 0
= 43,999 43,99 0
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A BAM
g ¢y, F5
ol HYEE 2E (SH9 H2)
SA - HE - SRA(BIH) - ARAY - BAS 0 & ol 8 o tmE==T
= 1,089,732 999,222 70,510
B SA 525,740 451,130 74,610
307 2I2to1 522,020 447,410 74,610
0128 & /=] 522,020 447,410 74,610
OQIZR0L} HYHE AZ(RE22) 7Y
11,0002 %2,0002! 22,000 0 22,000
OQIERAL} LTS AB(R2E) 7L
11,0002 *3,0002! 33,000 0 33,000
OCIZ=RAUL HEES o ESHI
19,610&+1,0002! 19,610 0 19,610
aZd MZESAE 12,500 30,000 217,500
< 9,000 9,000 0
= 3,500 21,000 A17,500
307 2IZtold 12,500 30,000 A17,500
[ 9,000 9,000 0
= 3,500 21,000 A17,500
0122 & 3= 12,500 30,000 A17,500
OUdEN HPES 457
Z& 100,000 %1252! 12,500 30,000 217,500
< 9,000 9,000 0
= 3,500 21,000 217,500
HYES I ALY 13,400 0 13,400
307 2IZto1 ™ 13,400 0 13,400
0122 & /=] 13,400 0 13,400
O sHal R (F Lot 2 Z2EI2I2E
e3) 100,000 %1341 13,400 0 13,400
A2 S8 3,710,447 3,569,445 141,002
= 378,899 382,901 24,002
= 67,378 67,378 0
) 808,852 783,066 25,786
< 531,712 490,938 40,774
= 1,923,606 1,845,162 78,444
s L 299,011 305, 170 26,159
Jl 116,971 116,971 0
[ 18,115 18,115 0
= 163,925 170,084 26,159
PR e SR 54,928 58,928 24,000
201 Ler23| 14,700 16,240 21,540
01 At2teltl 14,700 16,240 21,540
Ofet==2H]] 14,700 16,240 21,540
ONZ4l 2D OtelXl 29 =9 7Y
34 02 0 1,540 21,540
202 044l 0 2,520 A2,520
01 =LHoi 0 2,520 22,520
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2N BAA
M Y S
ciel: ysER CERED
SA-ZE - SA(FAH) - NISAY - BES Oi &F2H N3 A Hws2
OSgolatetats| 2AS2 2% 0|
2T 08 0 2,520 A2,520
301 YBHBHD 37,060 34,000 3,060
ITENNTEE] 0 4,000 4,000
OYRY ALN 2SS0 S0 EHAX
24 25 09l 0 4,000 4,000
14 JIErE AR 37,060 30,000 7,060
OFZOI 2| Z208 QAKX Pat
2T 9,652 +400 103] 37,060 30,000 7,060
307 212+01H 0 3,000 3,000
NEEEIEET! 0 3,000 3,000
OALMBATAIY 2ADE 7
2T 0 0 3,000 3,000
KIS ZA SXIAHIA 166, 150 166, 150 0
p] 83,075 83,075 0
< 16,615 16,615 0
= 66,460 66,460 0
201 YBr2 Y| 83,650 71,150 12,500
ol 41,825 35,575 6,250
< 8,365 7.115 1,250
2 33,460 28,460 5,000
01 AkR2telH] 58,300 45,800 12,500
O3oAIY S=X 2 A2 M=
21,0002 #4,320% 4,320 2,320 2,000
ol 2,160 1,160 1,000
= 432 232 200
= 1,728 928 800
O3 HYEXT X L SX24
2 148,800 +847H 12,500 2,000 10,500
p] 6,250 1,000 5,250
< 1,250 200 1,050
2 5,000 800 4,200
301 YBHPHD 5,500 18,000 12,500
ol 2,750 9,000 A8,250
< 550 1,800 A1,250
2 2,200 7,200 5,000
11 SHAFAHI X RI2 1,000 7,000 6,000
OSSTHYDS ¥ SAUSFTLS B
~g 2 100,008 *43] 400 4,000 3,600
ol 200 2,000 21,800
= 40 400 A360
= 160 1,600 A1,440
OBSAIY BT B4t
23,0002 100223 600 3,000 A2,400
p] 300 1,500 A1,200
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SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
Od-gaas fyna AE(2)
160, 00024 491 +43] 2,400 0 2,400
p 1,200 0 1,200
= 240 0 240
2 960 0 960
olot HASTALY 23,900 19, 180 4,720
p 1,950 9,500 2,360
= 2,390 1,918 472
2 9,560 7,672 1,888
201 Yer2e| 6,000 5,000 1,000
| 3,000 2,500 500
= 600 500 100
2 2,400 2,000 400
01 AfR 22l 6.000 5,000 1,000
Oftoler AAFFT208 2 2B 79
Y 9| 3F)
A% 5,0002+83]+100Z 4,000 3,000 1,000
| 2,000 1,500 500
= 400 300 100
2 1,600 1,200 400
301 YerEFI 9,380 5,660 3,720
| 4,690 2,830 1,860
= 938 566 372
2 3,752 2,264 1,488
TENNTEE 9,380 5.660 3,720
OBteler 40l JIMAS 5l T2
2AZ(12) AT 250,002 204 24931 4,500 1,500 3,000
b 2,250 750 1,500
= 450 150 300
2 1,800 600 1,200
Osteler 40l JIMAS 5l T2
LAE(53) 60,0002 +20H 4:463] 720 0 720
| 360 0 360
< 72 0 72
2 288 0 288
SIAEl B4 THEA 21,910 21,910 0
| 0,955 10,955 0
< 2,191 2,191 0
2 8,764 8,764 0
201 Yer2 | 5,787 2,950 2,837
b 2,898 1,475 1,418
= 579 2% 284
2 2,315 1,180 1,135
01 Al 22l 4,070 2,950 1,120
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F: AL S
SHRr NGAS SEHLSEAY (SH9 H2)
S - BE - B9I(3H) - NRAY - BES il v ol H o CImE=E
Oo[get+=84l] 3,320 2,200 1,120
OXIGAISIZSHTHEAE 23 ARES +
& 28 162,0002 %102 1,620 500 1,120
] 810 250 560
[ 162 50 12
o 648 200 448
03 A2 G| 1,717 0 1,717
OXI%Ale &4 W& 223 29
17,1702 +50H +23] 1,717 0 1,717
J| 858 0 858
< 172 0 172
= 687 0 687
202 Odd] 400 800 A400
J| 200 400 A200
== 40 80 A40
= 160 320 A160
01 2l 400 800 2400
OXN<SAISISA THEAIY F=& Ol
2 20,0003 x4H+53] 400 800 A400
J| 200 400 A200
= 40 80 240
o 160 320 A160
206 M=4l 3,483 5,200 A1,717
J| 1,742 2,600 A858
= 348 520 A172
o 1,393 2,080 AB87
01 HZ 8l 3,483 5,200 A1T17
Oogaiegns 22 (LSAE 2 15)
Z2E 11,3202 *15+25Y 283 2,000 NWavs
7l 142 1,000 A858
==} 8 200 A1T72
o 113 800 687
301 L2 EZ 11,270 11,990 AT20
7l 5,635 5,99 A360
==} 1,127 1,199 NAT2
o 4,508 4,7% N288
11 HAIAHIXIAZ 11,270 11,990 AT20
OMg2sua 2A=Z(53)
Z & 60,0002 *3F*43] 720 1,440 AT20
] 360 720 A360
T 72 144 AT2
= 288 576 N288
DHILEAH O AIS 17,060 20,000 2,940
J| 8,530 10,000 A1,470
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= 1,706 2,000 1294
2 6,824 8,000 A1,176
=] 7,800 0,300 £2,500
p 3,900 5,150 A1,250
< 780 1,030 £250
2 3,120 4,120 A1,000
01 AL 22| 7,800 10,300 £2,500
ODHrY AN SSYH 2 (CIHI0IA
CIRES 2% 52,00024%1000! 5,200 6,000 £800
p 2,600 3,000 2400
= 520 600 A80
2 2,080 2,400 A320
OZHHY AN MR S AMHEBN S
=gl A% 02 0 300 £300
p 0 150 A150
= 0 ) A0
2 0 120 A120
O2tr AN 223 M
2% 0% 0 1,400 A1,400
p 0 700 ATO0
= 0 140 A140
2 0 560 7560
301 YL BHZ 5,760 6,200 A0
p 2,880 3,100 £220
= 576 620 A4
2 2,304 2,480 A8
14 JIEH2 A3 4,560 5,000 A0
ONIAEBI L AVBURLT 22 Y
AT 48,5102+ 4,560 5,000 A0
p 2,280 2,500 £220
= 456 500 A4
2 1,824 2,000 A8
2o 2,192,535 2,004,672 97,863
2 346,389 346,389 0
2 67,378 67,378 0
P 121,212 %,426 25,786
= a2, 152 294,768 27,384
2 1,335,404 1,290,711 44,69
Al loT JIBF O{241 A2 212 A 141,451 38, 111 3,340
= 53,378 53,378 0
= 10,676 10,676 0
2 77,397 74,057 3,340
101 21218 69,750 58,198 11,562
= 17,528 13,422 4,106
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A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
= 3,506 2,685 821
2 48,716 42,001 6.625
04 IRIH2E IS 69,750 58,198 11,552
OAl loTOI8F 01241 AAB2IAIY JI2HHI2E
Tt el AF 2,200,0002 %101+ 128 26,400 21,300 5,100
= 13,200 10,680 2,550
= 2,640 2,130 510
z 10,560 8,520 2,040
OAl loTI8F 01241 AAB2IAIY JI2HHIZE
T Q1| (ZHIEIIRER)
3 2,200,008 101122 26,400 25,560 840
OAl loTJIBt 0241 AL22IA JIAH2R
VLT
2E 2,200,008 *12%+ 128 3,168 2,586 612
z 1,584 1,278 306
= 317 256 61
2 1,267 1,022 245
OAl 1oTIIE 0241 AA22IAY JI2HHI2R
SR 2,500,000 *1¢! 2,500 0 2,500
z 1,250 0 1,250
= 250 0 250
z 1,000 0 1,000
OAl 1oTOIgH 1241 AAB2IAIY JIHHI2E
-EEIEEIESITISE)
2,500, 00024 10! 2,500 0 2,500
201 LEre | 69,701 77,913 18,212
= 34,850 38,956 ~4,106
< 6.970 7.791 A821
= 27,881 31,166 13,285
01 Al222|H] 68,851 77,063 18,212
OAl 1oToI8h 01241 AAB2IAIY DINZHE
28 7 ZE 4,002 107262 2,568 5.500 12,932
= 1,284 2,750 A 1,466
= 257 550 1293
= 1,027 2,200 1,173
OAleHY NSE < 2123 M
25 o 0 3,600 3,600
= 0 1,800 A 1,800
= 0 360 A360
2 0 1,440 21,440
OAE28 340t M 25 oo 0 1,680 A 1,680
= 0 840 AB40
= 0 168 A 168
z 0 672 NB72
2 BT 2| 850 850 0
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Oxtgr 7=l
3E 1,508+49.01L+1CH+62 470 850 2380
= 235 425 A190
[ a7 85 AR
= 188 340 A152
OHE PCAIE= 38,0002 «2CH+53 380 0 380
as 190 0 190
[ 3B 0 3B
T 152 0 152
LEEAMHIAXIR 23,400 27,780 24,380
201 Ler23| 1,000 5,740 24,740
01 At2teltl 1,000 5,740 A4,740
Ofet==2H]] 1,000 3,580 22,580
og=dLAcIAg &t 225 7Y
33 03 0 1,980 A 1,980

Z& 1,000&+1,0000H 1,000 1,600 2600

34 02 0 2,160 2,160

202 044l 3,360 960 2,400

01 =LA LI 3,360 960 2,400
Og2AZ2elAIY =& 0dd]

2 & 10,0002 x4H 84 3,360 960 2,400

206 M=4l 1,800 3,600 1,800

01 M=4l 1,800 3,600 21,800

OMItSEX =22 23 M=l

Z 3 900,000 #22] 1,800 3,600 21,800

301 LeEN= 240 480 2240

11 SEAAHIXIRES 240 480 N240

OMIIS A AE2 A=Y 240 480 AN240

oJl= 2 & 80,0002 23] 160 320 A160

o= Z & 40,0008 #22] 80 160 A80

LU L Al=H| XA (HEALY) 37,200 38,980 1,780

== 27,900 29,235 A~1,335

[ia 9,300 9,745 A445

307 212t01™ 37,200 38,980 1,780

S 27,900 29,235 A1,335

fia 9,300 9,745 N445

01 2= # /=4 37,200 38,980 A1,780
OHA(HMel - 21B)Alstl X

Z & 930,000 *40¢! 37,200 38,980 1,780

S 27,900 29,235 1,335

T 9,300 9,745 A445

YRR Al=Hl It K& 50,000 0 50,000
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SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
[ 15,000 0 15,000
= 35,000 0 35,000
307 2Itold 50,000 0 50,000
< 15,000 0 15,000
= 35,000 0 35,000
0122 & 3= 50,000 0 50,000
H (M - els)AlEll X
500,000 *100¢! 50,000 0 50,000
< 15,000 0 15,000
o 35,000 0 35,000
e HYRR A=t X 7,500 12,640 25,140
[ 2,250 3,792 N1,542
= 5,250 8,848 23,598
307 2Ito1d 7,500 12,640 25,140
< 2,250 3,792 N1,542
= 5,250 8,848 23,598
01 22 & 3= 7,500 12,640 25,140
Odgd 4R Alstl X
Zd 750,000&%102! 7,500 12,640 A5,140
< 2,250 3,792 N1,542
= 5,250 8,848 23,598
oo QA 4 OZH| XA 1,200 1,200 0
2l 600 600 0
< 300 180 120
= 300 420 A120
307 2I2t01 ™ 1,200 1,200 0
) 600 600 0
< 300 180 120
= 300 420 2120
0122 & 3= 1,200 1,200 0
OFAHEANR olZH| XA
3 1,200,000&4%1H 1,200 1,200 0
) 600 600
< 300 180 120
= 300 420 2120
0l=0t & HF L0440t o/=H| X 1,000 1,847 NB47
) 500 923 2423
< 250 462 N212
= 250 462 2212
307 2I2t01 1,000 1,847 847
2l 500 923 AV )
[ 250 462 2212
= 250 462 2212
0122 & 3= 1,000 1,847 847
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SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
ODI=0t & HdH 040t 2/=H| X2
Z& 1,000,000&*12! 1,000 1,847 NB47
2l 500 923 N423
[ 250 462 2212
= 250 462 N212
Sdd HESAL E 20| N2 768 1,536 AT768
) 384 768 N34
[ 192 384 aglez
i 192 334 AR
307 2Ito1H 768 1,536 AT768
pJ 334 768 N34
S 192 384 A2
= 192 334 AR
0122 & 3=l 768 1,536 AT768
Od&ENd AN L BEFI| X2
Z& 25,6008 *30¢! 768 1,536 AT768
pJ 384 768 N384
S 192 384 A192
i 192 33 AR
SHGOALOIA A 2 Eotatel 264 526 N262
pJ 132 263 2131
< 66 0 66
i 66 263 A197
307 2IZto1 ™ 264 526 N262
) 132 263 2131
< 66 0 66
= 66 263 A197
0122 & 3= 264 526 N262
OUXEUALOIE A & Etot2tel
dE 264,000& %12 264 526 A262
) 132 263 2131
< 66 0 66
= 66 263 A197
HEEDNEHF 400 400
308 XXM SOIA 400 400
13 SI[2SOHe & EAS A 400 400
OBREZNEHE A
400,000& 12 400 0 400
SXEHALRA 107,370 129,770 N22,400
201 er23| 5,860 6,260 2400
01 At2teltl 5,860 6,260 2400
Olger==2Hl] 4,900 5,300 2400
O=EMTH NEANY EEE HA
3 5,000& 1205 600 1,000 2400
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SA - HY - S9I(3) - HIRAY - BES o ar 7| 3 o HDS2
301 EtE NS 68,760 74,760 26,000
02 A2 EH 2GS (FHAAHS, XNLWE) 61,520 65,520 24,000
Odt=xeldl X
Z & 500,0003+924 46,000 50,000 4,000
11 #AIAHIXIZ = 7,240 9,240 A2,000
Odus 44 &H|I2d 38 0 0 2,000 22,000
307 212+01& 32,750 48,750 16,000
0122 & 2=H| 32,750 48,750 16,000
OBUE, HF0F AA2e| o4F & 22F
- 38 500,0008*105+22] 10,000 20,000 10,000
Oge MMAT(=SI 8) 2E N
Z& 20,0003 #401x175& 14,000 20,000 26,000
TE SSttEAcld AHE 25,000 0 25,000
401 AIZHIX 20HH 25,000 0 25,000
01 AlZ2H| 25,000 0 25,000
OPI2= A& AIHI] 25,000 0 25,000
oARIIEEY = 25,000,000 13l 25,000 0 25,000
AE(UH) RS A2HE XA 3,000 1,950 1,050
= 900 585 315
= 2,100 1,365 735
307 elztol & 3,000 1,950 1,050
T 900 585 315
[Ea 2,100 1,366 735
012z & a=H| 3,000 1,950 1,050
OdlE(ob) 22 AZHE X2
Zd 120,0003 %2521 3,000 1,950 1,050
= 900 585 315
[Ea 2,100 1,365 735
Ne==01 &o|SHIKIH 1,200 5,000 A3,800
307 glztol & 1,200 5,000 A3,800
019z & 3=H| 1,200 5,000 /3,800
OXE =8l etk 2l=8| X2
& 600,0008x2¢! 1,200 5,000 A3,800
gal At A 2te] X3 AL 12,607 18,009 A5,402
Il 6,303 9,005 A2,702
= 3,182 2,701 451
i 3,182 6.303 A3, 151
307 elztol & 12,607 18,009 A5,402
) 6,303 9,005 A2,702
S 3,152 2,701 451
i 3,182 6,303 A3, 151
0192 & 3=l 12,607 18,009 Nb,402
Ogal AtdAZd 2] X3
Z& 126,0703 %1002 12,607 18,009 N5,402
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pJ 6,303 9,005 N2,702
< 3,152 2,701 451
i 3,152 6,303 A3, 151
HOH=D| HZ2el At 62,852 0 62,852
pJ 29,426 0 29,426
< 14,713 0 14,713
= 18,713 0 18,713
101 QIAHI 46,692 0 46,692
) 23,346 0 23,346
< 11,673 0 11,673
= 11,673 0 11,673
02 JIEtA 2= 46,692 0 46,692
OMOH=D| AZ&2IAL o= oI AHH|(H8
H H255) 2,244,000 6 2 +32! 40,392 0 40,392
) 20,19 0 20,196
< 10,098 0 10,098
= 10,098 0 10,098
O#H=D| A2 At o3 AEE (8
H H255) 350,000 +6IH 2 #3¢! 6,300 0 6,300
) 3,150 0 3,150
= 1,575 0 1,575
= 1,575 0 1,575
201 fer=3| 9,360 0 9,360
) 2,680 0 2,680
< 1,340 0 1,340
= 5,340 0 5,340
01 AtR2t2l] 8,880 0 8,880
O & 223 WA (H48E M255)
1,500,000 %13 1,500 0 1,500
) 750 0 750
< 375 0 375
= 375 0 375
OEL=E8 25 72 (88d N25SE)
2,100,000 %13 2,100 0 2,100
) 1,050 0 1,050
< 525 0 525
= 525 0 525
OYRF MREE 7L (HEHE H2BE)
640,000 23] 1,280 0 1,280
2l 640 0 640
< 320 0 320
= 320 0 320
OMO=D| AZ2el MY 2ESE 7Y
100, 0002 *407H 4,000 0 4,000
2 352484l 480 0 480
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OAIE SUE SHH(Z88X NBS)
40,0002 6 2 +2CH 480 0 480
2l 240 0 240
[ 120 0 120
= 120 0 120
202 Ot 6,800 0 6,800
) 3,400 0 3,400
[ 1,700 0 1,700
T 1,700 0 1,700
01 =LHoi 6,800 0 6,800
OMOH=D| A22te|ArY 13 oH|(Hed
H255) 50,0002 %343 %401 6,800 0 6,800
2l 3,400 0 3,400
(= 1,700 0 1,700
s 1,700 0 1,700
XIOHOIE & 2l 522,367 461,367 61,000
2l 235,430 235,430 0
< 108,79 93,099 15,700
s 178,138 132,838 45,300
XIHXIZ2teld] XA (HEAY) 163,359 137,359 26,000
[ 94,483 89,283 5,200
= 68,876 48,076 20,800
308 XXM SOl 163,359 137,359 26,000
< 94,483 89,283 5,200
= 68,876 48,076 20,800
18 SIS0t HAS A 163,359 137,359 26,000
OXIHXI 222l FIHKI
48,7803 5332 26,000 0 26,000
< 5,200 0 5,200
o 20,800 0 20,800
XIDHOrAIMIE 2 293,068 293,068 0
pJ 234,454 234,454 0
= 58,614 58,614 0
101 QI24H| 41,659 59,512 A17,853
Il 33,327 47,609 N14,282
= 8,332 11,903 23,571
M IRIMZZ2HS e 41,659 59,512 A 17,853
OXIOHtHIES JIZFRIZ22N JlEs
d&d 1,610,550 %221x10 32,21 50,064 A17,853
Jl 25,769 40,051 A14,282
= 6,442 10,013 A3,571
201 LEH2 | 98,549 82,09% 16,453
2l 78,839 65,677 13,162
fia 19,710 16,419 3,291
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01 AFS2t2ltl 76,633 64,540 12,093
OXEE Atz 235 7
30,000& 250 7,500 7,500
| 6,000 6,000
= 1,500 1,500
OXIDHerAl0tES S8 A
250,000 27 A~ 500 500
| 400 400
i 100 100
OXIHRI2DHEAMY B2 258 7
2,000&*2,046 .54 4,093 0 4,093
| 3,274 0 3,274
= 819 0 819
03 @At2EH] 15,860 11,500 4,360
Ol XIoHeta0tE =20 29
2,000,000 *20H 2 4,000 4,000
| 3,200 3,200
= 800 800
OXIO IXZstna 2
30,0002+ 122 360 0 360
| 2838 0 2838
i 72 0 72
202 04t 7,440 11,040 A3,600
| 5,952 8,832 22,880
i 1,488 2,208 AT20
01 3LHO LI 7,440 11,040 23,600
OXIOHStAHIH ME01E SEH0I
ZE 20,0003 x 9B 4L +7E 5,040 8,640 23,600
| 4,032 6,912 A2,880
i 1,008 1,728 AT20
301 E2E = 49,628 44,628 5,000
| 39,702 35,702 4,000
= 9,926 8,926 1,000
11 HAFRHIXIE 3 15,800 10,800 5,000
OZz 08 2AE(432) 10,400 7,200 3,200
oJl= Z & 80,0003 901 2+103! 7,200 4,800 2,400
| 5,760 3,840 1,920
ik 1,440 960 480
O=1t Z & 40,0002 81 2+103] 3,200 2,400 800
| 2,560 1,920 640
= 640 480 160
Onzd MK} 2taldl
ZE 3,000&%120Q1%113] 3,960 2,160 1,800
| 3,168 1,728 1,440
= 792 432 360
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s XI0HoIE & 2t EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
XIoHXIZ2teld] XA (BT RIR) 35,000 0 35,000

< 10,500 0 10,500
= 24,500 0 24,500
307 2I2t01H 35,000 0 35,000
< 10,500 0 10,500
= 24,500 0 24,500
0122 & 3= 35,000 0 35,000
OXIiXIZ2eldl R
179,4873 %1952 35,000 0 35,000
< 10,500 0 10,500
s 24,500 0 24,500
oAz 376,702 388,404 A11,702
= 32,510 36,512 24,002
) 175,323 175,323 0
< 50,663 52,973 12,310
= 118,206 123,5% 25,390
BAALSRIME 1A 37,036 0 37,036
Jl 18,516 0 18,516
< 5,558 0 5,558
= 12,962 0 12,962
101 QI24H| 37,036 0 37,036
2l 18,516 0 18,516
[ 5,558 0 5,558
= 12,962 0 12,962
M IIRIMZZRS 2 37,036 0 37,036
OZUHLZXHEH JI2HHl 213 Q14|
2,274,080& 12!+ 122 27,289 0 27,289
) 13,643 0 13,643
[ 4,094 0 4,094
T 9,552 0 9,552
OZUHAZXHH JI2HH 13 ATHEE DI
=] 27,280,000 *121%12% 3,274 0 3,274
2l 1,637 0 1,637
[ 492 0 492
= 1,145 0 1,145
OZUAHAZXHH JI2HH o1 =3
20,0002 #1160 1,200 0 1,200
Jl 600 0 600
< 180 0 180
= 420 0 420
OZUAHAZXIHH JI2HH 1= EXZ
,435,00024 %121 2,435 0 2,435
Jl 1,217 0 1,217
< 366 0 366
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o 852 0 852
OFMNAHLEXHE JI2HH 218 HAE S|
] 1,364,000& *121%23] 2,728 0 2,728
J| 1,364 0 1,364
= 409 0 409
i 955 0 955
OFMNALEXHE JI2tH o1& It 2
50,0002 12! 50 0 50
J| 25 0 25
= 8 0 8
i 17 0 17
OHAMAANZRA MEH BxUE 55
| 60,000&*12! 60 0 60
J| 0 0 0
= 9 0 9
i 21 0 21
IIZEFLHLENNH 29 51,100 51,100 0
J| 25,550 25,550 0
< 7,665 7,665 0
= 17,885 17,885 0
201 LEr2Z ] 35,140 33,580 1,560
J| 17,570 16,790 780
< 5,271 5,037 234
i 12,299 11,753 546
01 ArR22eltl 22,880 21,580 1,300
OFNHZ SHEsite HAYXZ
650,000 x2 1,300 0 1,300
J| 650 0 650
(o= 195 0 195
i 455 0 455
02 2324l 6,260 6,000 260
Ol==23 ¢ HAl 3,660 3,400 260
OFAAL=RIHE SHOIX FAIE==H|
Z3 2,100,000&+13] 2,100 1,840 260
J| 1,050 920 130
< 315 276 9
i 735 644 91
03 &At2ZH] 6,000 6,000 0
O&EAAZ & IS A 29
28 478,0003*13] 478 2,000 1,522
J| 239 1,000 AT61
L= 72 300 N228
i 167 700 b33
O0tSAHZ A T2 )3 29 =]
ZE 21,2882+2001%133] 5,522 4,000 1,522
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A BAM
3 A2 &
ol a2 EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
pJ 2,761 2,000 761
< 828 600 228
o 1,933 1,400 533
307 2Ito1d 840 2,400 21,560
pJ 420 1,200 AT80
< 126 360 N2
= 294 840 £546
0122 & /=] 840 2,400 21,560
OAtdiZtel Akt K@ &2 e
& 5,250 25«02 840 2,400 21,560
2l 420 1,200 AT780
< 126 360 N2
= 294 840 ~546
I HE =4l K 14,000 19,000 25,000
= 7,000 9,500 22,500
< 2,100 2,850 AT
= 4,900 6,650 21,750
307 2I2to1d 14,000 19,000 25,000
= 7,000 9,500 22,500
< 2,100 2,850 AT50
z 4,900 6,650 21,750
0122 & 3= 14,000 19,000 25,000
OFMEEX} xIzHl X
d&d 3,500,000 *42! 14,000 19,000 25,000
= 7,000 9,500 22,500
< 2,100 2,850 AT50
= 4,900 6,650 21,750
SEHLALYSIAY 22 109,772 109,772 0
) 54,886 54,886 0
< 16,466 16,466 0
= 38,420 38,420 0
201 er2 3| 77,772 69,572 8,200
2l 33,886 34,786 4,100
[ 11,666 10,436 1,230
= 27,220 24,350 2,870
01 At2teltl 59,472 51,572 7,900
Olget=gdl] 7,900 0 7,900
OMIPZEZFoM0IE 2LIHYE 25 7
3,900 1,000 3,900 0 3,900
Jl 1,950 0 1,950
< 585 0 585
= 1,365 0 1,365
OMPZEZF0IS EEEF 72
4,000 %1,000& 4,000 0 4,000
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A BAM
3 A2 &
ol a2 EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
pJ 2,000 0 2,000
< 600 0 600
o 1,400 0 1,400
03 A2 I 18,300 18,000 300
Oddlegz 4ol =28 =29g
15,0002 x20H 300 0 300
pJ 150 0 150
< 45 0 45
s 105 0 105
405 THHFSHI 16,400 24,600 28,200
pJ 8,200 12,300 24,100
< 2,460 3,690 21,230
= 5,740 8,610 ~2,870
01 Tt =S F=H 16,400 24,600 28,200
Ooduady 247 7
Z& 8,200,000 *2CH 16,400 24,600 28,200
pJ 8,200 12,300 24,100
< 2,460 3,690 21,230
i 5,740 8,610 ~2,870
SRALSTNEE THAZAIY 1= X 74,072 111,108 N37,036
pJ 37,036 55,552 A18,516
< 1,111 16,669 ~5,558
i 25,925 33,887 212,962
101 QIAHI 74,072 111,108 ~37,036
) 37,036 55,552 A18,516
< 1,111 16,669 15,558
= 25,925 38,887 N 12,962
M IRIMZZ2NSE S 74,072 111,108 A37,036
OFAALEXIME KFHIZA Q14|
3 2,274,0833 201+ 128 54,578 81,867 N27,289
) 27,289 40,932 13,643
< 8,183 12,285 4,097
= 19,101 28,650 29,549
OXANEAIY 21 AUHEE JIARES
ZH 27,283,333 221 %12% 6,548 9,822 N3,274
) 3,274 4,911 21,637
< 982 1,473 2491
= 2,29 3,438 A1,146
OXFUIEALR 013 =& 0it|
& 20,0003 #201%60! 2,400 3,600 21,200
2l 1,200 1,800 2600
< 360 540 180
= 840 1,260 2420
OXF ALY o1s Xz
Z& 2,435,000 *22! 4,870 7,305 22,435
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A BAM
3 A2 &
ol a2 EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
pJ 2,435 3,652 n1,217
< 730 1,09 2365
i 1,705 2,558 2853
ORI ALY 21 HEF I
ZH 1,364,0002%201%23] 5,456 8,184 22,728
pJ 2,728 4,092 A1,364
< 818 1,227 2409
= 1,910 2,865 2955
OXFaHUIZALY 013 Jt2 Fe
Z & 50,000 #22! 100 150 A0
| 50 75 VAVZS)
< 15 2 ~7
= 35 53 A18
OXANEAIY 2018 Eus S=Y|
Z & 60,0008 #22! 120 180 260
2l 60 0 A30
= 18 27 A9
= 42 63 A21
=8l OIS SFA XA 31,887 38,589 26,702
= 25,510 27,012 A1,502
(= 1,913 3,473 21,560
= 4,464 8,104 A3,640
308 XXM SOIA 31,887 38,589 26,702
= 25,510 27,012 A1,502
< 1,913 3,473 21,560
i 4,464 8,104 23,640
13 SI[2SOHe & EAS A 31,887 38,589 26,702
O NEZ yelaEtl X
Z& 318,870& 100 31,887 33,589 26,702
= 25,510 27,012 A1,502
< 1,913 3,473 21,560
= 4,464 8,104 23,640
HY2AAH(BHL) 1,556,308 1,513,947 42,361
= 73,492 73,492 0
2l 503, 146 503,146 0
< 50, 147 50,147 0
= 929,523 887,162 42,361
elAREH| (L) 1,304,878 1,272,117 32,761
z 73,492 73,492 0
2l 503, 146 503, 146 0
(= 50, 147 50, 147 0
s 678,093 645,332 32,761
el 24| 389,838 357,077 32,761
101 QI24H| 3,630 310,869 32,761
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M BAL

M WRS(EHD)

&l BAHNE (Ch9: &91)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ

X
020233 BHAIQ!
o 2W|2x2 &

2,040,0002 *13] 2,040 0 2,040
02023 SHAIQITIGHARA TIGHAH 12X & At
o 22X 0l
20,0002 *13] 20 0 20
ONBA T SAL ZHALIAIY 24| FHE
o 238,000&*13 238 0 238
ONBAE HAL ZH2LIAIY 24| 01X
AoH 20,0002 13| 20 0 20
O2023E OI0I= X S0l XXM BEAY
=H| Yaxod 2,048,000 %13 2,048 0 2,048
02020 2022 (4K 5L IZERAUR})
2NEXZ YR
35,696,000 *13] 35.6% 0 35.6%
O2023 2IHLFSAIY 2 DExZ T
Zhok 66,711,00024%13] 66,711 0 66,711
02023 2IHLZSAIY 2DBXZ 01X
EIPLEL 73,0002 *13] 73 0 73

020238 DZLHY RE2AZI|2 HLES Al
écl-“:” 27)e X2 XISH X}OH
32,825,000 12 32,825 0 32,825
020238 R2LHY RIE2A2I2 HLES Al
S| S NEXF O Kr2raH ol

156,000 *12 156 0 156

J|
=H| Ol Kt 141,000& %12 141 0 141
=

O THERIZ 2t5012 Al 282

ZJ S XHoH 5,847,00024 *13] 5,847 0 5,847
O2022 THEHXIZ 2t5012 ALY 2NBX2

O] XpetAH o4 58,0002 *13] 58 0 58
02023 B2LHI HelYAXI2Hl =24 0IX

g Al ol 3,0002*13] 3 0 3
O2022E 2HIY HAHAIY JIZ2EES &

BH XtoH 44,0002 %13] 44 0 44
O202d BAHASEHAASAAIY J12 T&

Rtok 5,698,0002 *13] 5,698 0 5,698
O202d BAHASEAYSEAIY 12 0%

g Al ol 5,00024%13] 5 0 5
O2023E 2HIY HAH ALY JIZ2EES &

BH XtoH 1,104,000 *13] 1,104 0 1,104
02023 2HIY HAHOAIY JIZEES 0

XhetAH oK 8,000 %13 8 0 8
02028 BAHASEHAYSEAIY J12 T#

Jou 3,611,000 #13] 3,611 0 3,611
O3 BAHAASBAHLSEAIY JI12 01X

Al Ol 11,0002 %13 11 0 11
02023 XIHALSIHAEAL 2HIBXS 0K

gAY O 47200024 %13 472 0 472
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5,000 *1
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2A:
X XH -
(=

=aak

A -3 - A4A(3H) - MRAY - BES Oil FoH J| & o Hpnsz
Q20228 Al HAHLZXIHE KHHOILAL
o OlANA NSRRI 0| KLAyoH
17,0002 *13] 17 17
2 Al - THIE X263t 136,511 136,511
020238 BAXA 22IXI2 AMHIA STHAIY
CH| BRIk 1,935,000 *13] 1,935 1,935
020238 BRI A Z22IXI2 AMHIA STHAIY
CH| Of KpetayoH 29,0004+ 13 29 29
02020 HEAEEAH)| 82X THIEX
2 oK 10,0004 *13] 10 10
Q202 NSAREA)| B2 THIBX
2 0| KpetAHoH 1,0002%13] 1 1
020238 R AIOKA=Z 29 X AFY SHIE
T2 O KperayoH 4,0002*13] 4 4
02023 THIHEHMION MAHH| XY SHIEXZ
Z| 84 &k ol 1,219,000 %13] 1,219 1,219
02023 THIFEHAIQN MAHH| X THIEXS
O] Kt AH oK 5,0002 %13 5 5
02023 sHAIZH0| L2 FE 29X THIE
T2 FEHEoH 1,207,000 13| 1,207 1,207
02023 BHAIZH0| U2 e 29X THIE
E2 0| Krerayon 9,000 13 9 g
ONBEET BAHA ZHBLIALY TH| RS
oH 72,0002 %13 72 72
OBEE EAHA ZHRALIAIS TH| O] XHe
aoH 4,0002 %13 4 4
02023 001X L Al XIXH EXAY
CH| B RHoH 614,002+ 13 614 614
02023 001X & A0l XXM EXAY
CH| Ol Xretayon 5,0002 %13 5 5
02028 2OHHLEEAIY THIEEZ2 &8
KtoH 677,0002 * 13 677 677
02023 2L EAY THIEX2 0l
hAH Ol 3,00024+13] 3 3
02028 HMEHHLEEXRAIY CHIBXZS
Z1 84 &k oH 203,000 %13 223 223
0208 HEHHEEEXAIY CHIEXZ
O] KptAH oK 3,00024*13 3 3
02023 DZLHI AEIZI|2 HSEE Al
SiH| THIPXZ2 &S ArH
9,865,000 *13] 9,865 9,865
02023 DZLHY KIEQIZI|2 HSEES Al
SiH| TH|EXZ2 0| KrerAqoH
47,0002+ 13| a7 47
02023 P2LH9 2| AAXI2H| 4| Ol K
S A4 OH 1,000 %13 1 1
O2BE FHoHX|o 2y M2 X2AAY
SH| OfKrerayon 20,0004 %13 20 20
Q202 DHIY HAH A SHIEZZ &
34 KhoH 10,0004 %13 10 10
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SN BAL
M YRES(BAL)
telr 2HX=E EER=E)
SA - ZE - SA(FAH) - AISA - Ofl kel | & A Hlns
002 BAASEALSIAIY TH| &3
ot 1,140,00021%13) 1,140 1,140
02 BAASEALSAY EH| 01X
it Al Ol 1,002 %13 1 1
02023 DHIY HBAHOAIY EHIBES &
3 Xk ol 221,0002*13] 221 221
020238 PHHY BAH ALY SHIBEZ 0l
JUEIZELT 2,0002*15] 2 2
OB BAASEAYSTAIY TH| &3
Zhol 723,0002+13] 723 723
O3 BAASBALSHAY T4l 01X
it Al Ol 3,00021%13] 3 3
O022d g2ALBRIAY THIEXS &3
ol 655,00021%13) 655 655
02024 B2 AABRIAIY THIEXS 01X
it Al Ol 8,002/ %13 8 8
O023E S AlL10TI|8F (24l ALBRIAIY &
Bl g Xiok 162,002 *13] 162 162
O023EE AlLI0TII8F (24 AL BRIAIY &
Bl OIRerA4oH 13,00021%13) 13 13
02023 QZFHAHES L2SEAAY CHIE
ES= PO 1,002 %13 1 1
020234 THItL BRI EH| ZRrol
287,00021%13) 287 287
02023 Tt B X Zel THIBES 0l Xte
AyoH 6,000 %13 6 6
02022 ADAIMOL A222] XA S| &
3 Xk ol 40,39,00024*13] 40,3% 40,3%
02022 ADAIMOL A222| XA EH| Of
JUEIZELT: 278,000 *13] 278 278
002 HASE JIHA ZHMER XY EH|
BRI MR 3,154,00021%13) 3,154 3,154
0202 HASE JINA ZHES N2 S|
e =g pAEIE LT 23,00021%13) 23 23
02023 AFDAIMOF A22t2| XY EH| Ol XHe
Ao 86,0002 13| 86 8
02023 AIDAIMOF HARR| 2oIRE2 I}
XA TH| X e &roH
3,547,00021%13) 3,547 3,547
O0BE HAS JIIHAZHES X EH| &
3 Xk ol 755,002 *13] 755 755
020238 MAS JINAZHES X 4| 0
JUEIZNLT 51,0002 13 51 51
02023 ABAIMOL 2012E2 EIIXY T
Ol Xr2ta o4 18,00021%13) 18 18
002 EAIHUS AtZZTe| AHIA XA
o TH| MaEo 18,775,00024*13] 18,775 18,775
0202 BLIIESL AE x| AHIA XIRIAL
o TH| OIXHeH 90,0002 13| 0 0
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2A: BAHA
. NWRES(2AHL)
telr 2HX=E EER=E)
SN - B GRABIH) - HSAY - 0l Ao ol E o timE=FT
02023 S4DIEY R dt=Xe| AdlA XI&A
A TH| HeEoH 3,194,000 13| 3,1% 3,1%
02023 SADIELE M=x2| MUlA X2 A
& TH| OlXHeHe 26,0002 *13] 26 26
02023 HAEAR O|2H| SH| O Ktgtagol
3,000& 13l 3 3
Q20233 A& HHZAL Y 2| XNE &
HI &g &kol 15,0003 %13 15 15
020288 EELXEHE THI O KreayoH
2,000& 13| 2 2
02023 SBMEXL|J 202 XJAMNE &
HIEX2 HERH 1,958,000 & 13| 1,958 1,958
02023 SSMEXLJ 20z XJAME &
HIExZ3 L0t 4,000& 13 4 4
02023 CHAE SS9 JIME IIE 5
KA U & EH&HoH
539,000 *13] 539 539
02084 % UhS0l |0t2E F2H| XA
U S Ao 3,200,000 *13] 3,200 3,200
0202348 Chs0l |0t2E 72H| XA
SHIOIXt 4,0003 13 4 4
02023 L& Xt OI2H|I KA EHIEXE2
Z|5H K}OH 16,308,000& 13| 16,308 16,308
02023 2&txt ClZHIXE THIExZ OlXt
S A OH 42,000&*13] 42 42
020238 NEUYLY gEsS dA &l &
ZhoK 81,0002*13] 81 81
020238 NEUHEEY SHS A XNF &
HIEX2 0 KjehAdol 2,000& 13| 2 2
020234 FHAANES HZELAIY THIEEZ
SRS B 697,000 & *13] 697 697
O2023¢ HAANES HZdE SHIExZ Okt
S AH OH 10,0003 %13 10 10
02023 XIOHRHAIMIE 29| XI& SHIE=X
= O Kty ol 3,000& 13| 3 3
Q20224 Al EAAZSXHE ClEss &
HIEX2 RN 20,522,000& *13] 20,522 20,522
Q2022 Al EAlAZSXNEY elgsts &
HIE X2 O KpetAd oK 5,00024 13 5 5
O2022d J|=FMALA=ENNEH 2F SHIE
A= TR 659,000& x13] 659 659
o204 J|=FAAA=XNEH 28 SHIE
3 O|Atgados 3,000& 13| 3 3
Q20224 Al SEFMNHLSEAMY SHIE
X2 YR 2,451,000 13| 2,451 2,451
02022'-4 ANZ SEZENUALSEAY EHIE
= O Athayos 4,000&*13] 4 4
02022'—4 HAAEET 124 XJAE EHIE
= Ol XHe 4ol 1,000& 13| 1 1
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0243 =& 2 3 LEtSIH &l

H & 0l & AHS B Ml A

2024-09-09 15:24:17

2A: sIIE4H
M & QHE\Yd
ool sEI|s)IE2Y (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
sJ|s=4H 13,505,493 13,294,556 210,937
= 861,650 861,650 0
[ 35,000 35,000 0
| 12,361 12,361 0
[ 1,642,333 1,641,253 1,080
CH 1,700,000 1,700,000 0
= 9,254,149 9,044,292 209,857
sE 8=y 7,607,046 7,410,471 196,575
= 309,150 309, 150 0
s 20,000 20,000 0
== 614,044 612,964 1,080
CH 1,700,000 1,700,000 0
[ias 4,963,852 4,768,357 195,495
sEJ|=0/8t2Y 768,926 752,406 16,520
At 312,19 304,275 7,920
201 L2 266,483 258,563 7,920
01 AlR2telHl %B,762 87,842 7,920
orgxg] 24,312 16,392 7,920
OHAL =81 2>2FH| &yl Yt
2 & 660,000 x4 53] 13,200 5,280 7,920
sENCAMY EE 13,560 11,560 2,000
201 =3 10,560 8,560 2,000
01 A2t 10,560 8,560 2,000
Ot~ 2,000 0 2,000
Osgoltha & M=
200, 0002 * 1004 2,000 0 2,000
soags 2 302,056 295,456 6,600
201 LBt 50,000 43,400 6,600
01 AF2-2t2ltl 25,800 19,200 6,600
Olgt==8Hl] 25,800 19,200 6,600
OSAEER M
ZE 1,000 %1502+ 111 2+ 1200 2 19,800 13,200 6,600
=3t=Hl 1,014,523 983,523 31,000
=ot=M HS HAl 1,004,323 973,323 31,000
201 LBt 260,595 229,59 31,000
01 AlR2telHl 18,600 15,600 3,000
OnAZAN Xt
500, 0003 *2CH*30H S 3,000 0 3,000
02 324l 28,99 25,995 3,000
O [AM&EHIRXIY] ] 10,000 7,000 3,000
O=a=Mg EHl
2E 2702 +37,037m 10,000 7,000 3,000
03 #Ar2 I 213,000 188,000 25,000
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A sII=4dH
M =Z& oEsd
&t =3=A (CH9: &S1)
SA - B BR(S) - HRAY - BAS o v o H o HmS2
O=3=HM 2SEAHE 2 & HAE
Z& 180,000,000& *13] 180,000 155,000 25,000
sYd=2oESy 1,822,030 1,825,024 A2,99
= 40,850 40,850 0
< 480,725 480,725 0
= 1,300,455 1,303,449 22,99
F=su=E 38,400 34,400 4,000
201 L2 19,000 15,000 4,000
01 At22te|bl 19,000 15,000 4,000
Olger+=3tl] 16,000 12,000 4,000
OZ=ws Wi M=
23 10,000 %6002 +25 12,000 8,000 4,000
206 M=H| 10,500 5,000 5,500
01 MZH| 10,500 5,000 5,500
O&0UIXlIs 2% M=
25,0003 x20Z 1100 A 5,500 0 5,500
301 LEIEEZ 5,300 10,800 A5,500
11 SEAIAHIXIR S 5,300 10,800 5,500
Ogsus IMN =& 4,600 6,900 22,300
oJl= 23 150,000 x2H*103] 3,000 4,500 21,500
o=t 2 & 80,0002 x2H*103] 1,600 2,400 2800
OMolisgel Agus F4 24
Z2F 0 0 1,200 A1,200
Ogsus 4 B4 (HE3 220 Es)
Z& 70,0003 x2Z 53] 700 2,700 /2,000
H2Izu=s 33,620 3,620 23,000
301 LENZF 32,120 35,120 /3,000
11 #AIAHIXIR S 9,620 12,620 23,000
OE=2E d2us &4 B4
33 0 0 3,000 23,000
sHEHSUe AENs 13,800 22,400 28,600
301 LEIEEZ 3,600 7,200 23,600
11 HAIRHIXIR S 3,600 7,200 A3,600
OsgEtsls 424
Z& 150,000 +2H * 123 3,600 7,200 A3,600
307 @120l & 5,000 10,000 5,000
05 BIZt2Er = 5,000 10,000 5,000
O=HEHZUE EnSHI(s)
23 2,500,000& 2 5,000 10,000 25,000
4 JEAsdisE 2E 53,910 49,304 4,606
401 AlZHIZ 20 42,756 33,150 4,606
01 Al&HI 42,756 38,150 4,606
ZEMSUUsE HYE HZAl 2E
32,9002 *140m’ 4,606 0 4,606
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M sgII=4dH
M =& Esd
ol SIAHN=EH (SH9 H2)
SA -3 - A(3) - MISA - B85 Off &K N3 Hws2
sIHuNs=s 1,081,548 933,099 148,449
= 259,800 259,800 0
< 80,940 80,940 0
= 740,808 592,359 148,449
SIHSUME 2 351,448 312,999 38,449
101 Q1244| 117,84 79,445 38,449
M IIZtHZ22SE 117,84 79,445 38,449
OsIIH LUAYE BX2A(DIAHA™YIR)
ZE 96,0002 <38 +26 + 123 89,85 59,904 29,952
OsdI| S828 =¥
ZE 144,0003+3F 7 3,024 2,880 144
OgES It
Z& 400,000 *3H+23] 2,400 1,600 800
Q42 Jjlasga
Z2E 95,280,000 *12% 11,434 7,535 3,89
OJIZtHZ22 Xt EAZ
Z& 95,280,000&+1/12& 7,940 5,366 2,574
O3 #&II=Xd S2E0|
ZE 20,0002 x3F 2+ 128 1,440 960 480
SI|1H LAY 2018 OIsH|
Z2E 200,000 3 23] 1,200 800 400
OsIIAH LAY JIZEMZ22 X S22
&Y| 2 200,0002 %3 600 400 200
SIAHSU SFAHL HE 120,500 10,500 110,000
401 AIEHIL20HY] 120,500 10,500 110,000
01 AIZHI 120,500 10,500 110,000
SIHSU SRALA AAEAH
110,000,000 *13] 110,000 0 110,000
SO |4 238,510 234,910 3,600
< 26,629 25,549 1,080
= 211,881 209,361 2,520
s20l st uws2d N 3,600 0 3,600
< 1,080 0 1,080
i 2,520 0 2,520
301 E2E = 3,600 0 3,600
e 1,080 0 1,080
= 2,520 0 2,520
11 HALAHIXIEZ 3,600 0 3,600
O==XN&A dHUR 10,000& 210 2,100 0 2,100
== 630 0 630
= 1,470 0 1,470
O4H 2HU= 37,5002 +40H 1,500 0 1,500
= 450 0 450
= 1,050 0 1,050
=2 Jl=oHe 5,701,857 5,706,425 4,568
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A SI|I=HEH
M = JlsoHe
Hel: NEE SHAME MU JIsEs (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
= 552,500 552,500 0
[ 15,000 15,000 0
| 12,361 12,361 0
S 1,028,289 1,028,289 0
s 4,093,707 4,098,275 A4,568
UEE sHME M4 D228 223,500 223,500 0
(= 56,100 56,100 0
s 167,400 167,400 0
UstaE S AHEHS WE - YHE 2E AR 50,000 50,000 0
= 12,500 12,500 0
[ia 37,500 37,500 0
201 Lt 20,052 20,052 0
= 5,013 5,013 0
= 15,039 15,039 0
01 AF2-2t2ltl 18,552 17,052 1,500
Olger+=3t]] 9,052 7,552 1,500
OUZYN 28 ¥ AHIIE 7Y
2E 250,000& +55+63] 7,500 6,000 1,500
(= 1,875 1,500 375
s 5,625 4,500 1,125
02 2324l 1,500 3,000 A 1,500
Oxte ==l
Z & 150,000 «1CH~100H 1,500 3,000 A 1,500
= 375 750 A375
i 1,125 2,250 A1,125
NHE3s A 754,673 759,241 AN4,568
z 15,000 15,000 0
= 15,000 15,000 0
= 724,673 729,241 N4,568
ODMESH2dE =24 531,994 536,562 N4,568
101 @124H| 19,350 23,918 A4,568
04 JIRHNZ2Z2XSE+ 19,350 23,918 A4,568
OJIZMZ2 Xt 2124H|
ZE 84,000« 1H+26+72 15,288 19,656 A4,368
OgERII==E 243 0™ 0 200 2200
HWRES(sII=HH) 18,930 0 18,930
BEXE 18,930 0 18,930
sty B8NS 18,930 0 18,930
802 BtetsJIEt 18,930 0 18,930
01 2 NEXIeHE= 3 0 3
o023 Rtk MRS SESE Y otdd
A AZAR X 2| AR Bhgd
2,302 13! 3 3
02 Al - EHIE=SEtet= 18,927 18,927
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2 S |IEHE
Mo YRBS(SAIISME)
o9l 28NS EER-E)
SA - B SA(3) - MRAY - BES 0l Ary p/IE- - HimE=ET
020234 P30 MARE TS o oM
A AZOIT X CTH HAKH By
2,3502%13] 3 3
020238 REOIMS A AS AlY
67,6302 13| 678 678
OB H& WM DINS B2 AS
12,4202 13 13 13
OA23 B HahE Mty RE2=Fe X
AN THEXZ g3
6,264, 12021 %13] 6,265 6,265
O23 Tt sHa S AAHHS KIE 2
HE 29 X2 CHIEX2 g2
2,517,000 13 2,517 2,517
O3 ADBH HEAZ MAD|BIEA
TH BXE2 g3 6,313,0002*15] 6,313 6,313
OB SEXNAL0F THIEZS B3
Ol Xt 457 630213 458 458
0084 QHSHE0F THIRZS B3 o
Ol Xt 2,133, 160213 2,134 2,134
OB SUAANE 20t THEES v
2 2 OXt 444, 1402 13 445 445
020234 XASEHES AD|E S A&E
o2 2 0IXt 99, 14021%13] 100 100
OB HHE HHASAUSH THIEX2
Ee= 202413 1 1

- 197 -




H & 0l & AHS B Ml A

0248 =g 2 3| LBta &Ml 2024-09-09 15:24:17

AR A
s ala2te|
et AIE2S (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
SAEA 15,484,246 15,356,586 127,660
s A2 134,246 56,586 77,660
DIEa= AIE2E 134,246 56,586 77,660
ZEY FHIA XA 77,660 0 77,660
402 RIZEAHZ01H 77,660 0 77,660
02 BIENEASEZ(0IETHR) 77,660 0 77,660
OHSH=EXS XA (ZES)
57,490,000& * 14 2 57,490 0 57,490
OZELYFHIA XML (BEH)
20,170,000 » 100 2 20,170 0 20,170
LES(=TAID) 15,350,000 15,300,000 50,000
WEHAHXIE 15,350,000 15,300,000 50,000
A=t BIEXE HES 8,350,000 8,300,000 50,000
701 JIEtSI HSHES 8,350,000 8,300,000 50,000
03 BIILSLESIAN=EES 3,350,000 3,300,000 50,000
O&==AlE H2hloi=-tl
50,000,000 13 50,000 0 50,000
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20243 =4 2 2

H £ 0l & AF & S

2024-09-09 15:24:17

e[ A A

Al A

2A: HEJ IR
HI: 242X
Rl HEAEIIgXE EER=E)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
EJIgRac 11,687,970 11,068,119 619,851
bl 500,000 500,000 0
(= 687,500 580,000 107,500
= 10,500,470 9,988,119 512,351
HEAC AT 1,131,944 1,111,944 20,000
[ 100,000 100,000 0
= 1,031,944 1,011,944 20,000
e Ae| X 1,131,944 1,111,944 20,000
(= 100,000 100,000 0
= 1,031,944 1,011,944 20,000
HEASDAXRAIL 222 831,944 861,944 20,000
201 LEt29Y| 10,000 0 10,000
01 Al22t2|H] 10,000 0 10,000
OUESSESSME AIHI Fak S
= 5,000,000 %13 5,000 0 5,000
OUE=E2eEH HUX S8 5442
5,000,000 %13 5,000 0 5,000
401 AlZHI L2 0H] 10,000 10,000
01 Al&HI 10,000 10,000
Oti2=g=ztdH WXl 28 213 43
Bl 10,000,000 %13 10,000 0 10,000
sty 1,445,939 1,379,606 66,333
[ 300,000 260,000 40,000
= 1,145,939 1,119,606 26,333
ARAEHX| 2+ 1,445,939 1,379,606 66,333
(= 300,000 260,000 40,000
= 1,145,939 1,119,606 26,333
HEAE 22|29 90,942 92,390 ~1,448
405 KHAHE SH| 60,702 62,150 ~1,448
01 AL SEFSH| 60,702 62,150 ~1,448
OUSIISRIACt ISR E MIKNSK F
A(ARFS) 3 60,552,000 *1CH 60,552 62,000 A1,448
EAT MSAE2I2e) 494,303 467,523 26,780
201 LBH29Y| 121,375 110,475 10,900
01 Al22t2|H| 17,960 14,060 3,900
OMEMABIE ZoI7E 50l 42
1,500,000 %13} 1,500 0 1,500
OHsSI=TE ZoI1E (Y| St&E4A &
2 1,200,000 «204 & 2,400 0 2,400
® I229Y| 103,415 9,415 7,000
OIANEEHIKSXIHI] 25,000 18,000 7,000
OUSEOESEMSE 22 RX 22/
Zd 7,000,000 %10 & 7,000 5,000 2,000
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2A:

B =PheePNFE =]

M sa2gae)
el At EXI2t EER=E)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
OMSAIZ CCTV KX E==4|
Z& 2,000,000 *3H 6,000 3,000 3,000
OUESAH MSAIL Ol8eH) & &8s F
Bl 2,000,000 %13 2,000 2,000
405 KHAHF SH 15,880 15,880
01 TR ESF SHI 15,880 15,880
Odstia=s=d Z37E s Iietes 2
& 500,000 #49H 2 2,000 0 2,000
Odza=ng 3072E 25 SHIIH
EEAL= gl 2,840,000 %13 2,840 0 2,840
Otsias=d 27& s X XE
o EWE EXE 7Y
150,000 %364 2 5,400 0 5,400
Odsias=d Z3d s otEy &
A= 2 2,800,000& %12 2,800 0 2,800
Odzlasng & 2|8 AZE =
2 SA PY 2,000,000 %13 2,000 0 2,000
Odzia=nd 302 25 =323
- 28,0002 *30H 840 0 840
=4t NSHF2H 17,002 16,001 1,001
201 L2 7,002 6,001 1,001
02 3224l 5,301 4,300 1,001
Ol2323 ¥ HAll 2,301 1,300 1,001
OSYFEX SIIRE=S &5
Z& 1,8008+1,2788 2,301 1,300 1,001
=4t MSsAIE 22 140,000 100,000 40,000
< 140,000 100,000 40,000
401 AIEBIL20HY 140,000 100,000 40,000
< 140,000 100,000 40,000
01 Al&HI 140,000 100,000 40,000
OUSH=E3Y =Yg DS wHSAH
40,000,000 %12 40,000 0 40,000
[ 40,000 0 40,000
USAHAIEES 5,695,598 5,118,129 577,469
< 137,500 70,000 67,500
= 5,558,098 5,048,129 509,969
HEAHEE DIEHAIZ E | 5,695,598 5,118,129 577,469
< 137,500 70,000 67,500
= 5,558,098 5,048,129 509,969
o S 2FY| 1,787,427 1,624,958 162,469
201 L= 9,215 93,246 2,969
02 S22l 52,065 49,09 2,969
Ol232= ¥ HAll 11,530 10,530 1,000
odAXE EE82
Z& 1,000,000&+5CH 5,000 4,000 1,000
Olxrg - detdl] 40,535 38,566 1,969
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A HSIEXA

M HSAHANEES

S2lr CHEAE JIBFAIE EH| (CHol: &S1)
S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
oxtegr R= & 1,9693+8,000L 15,752 13,783 1,969
206 M=l 150,250 142,250 8,000
01 M=l 150,250 142,250 8,000
OlE &= ANMHM F&
ZE 8,750&*1,000E *43] 35,000 30,000 5,000
O&k=22e| 288 +¢
Z& 500,000&*105 5,000 2,000 3,000
401 AIEHIZL 28I 1,398,300 1,246,800 151,500
01 AlIEHI 1,398,300 1,246,800 151,500
OUSAEE L waF HI|HEZ AL
Z & 3,000,000 *7 1 23] 42,000 28,000 14,000
OUSAE 15 WY B At
23 600,000,000 *13] 600,000 500,000 100,000
O2Z0ts 2IEH FHISA
150, 000& x250m’ 37,500 0 37,500
CHEattt Jt2 S22l 505,320 485,320 20,000
401 AIEHIZL 28I 295,000 275,000 20,000
01 AlIZHI 295,000 275,000 20,000
OIS AL 2REINA BE-SAIIZS
) 10,000, 0002 274 A 20,000 0 20,000
HEAE s S2te 318,920 278,920 40,000
401 Al&HIZ 20| 295,000 255,000 40,000
01 A&l 295,000 255,000 40,000
OUSLE 3|MAl AMSS BTA
Z & 5,000,000& * 1290 2 60,000 50,000 10,000
O&IIHHZB A RSB B3 At
Z & 30,000,000 *20H 2~ 60,000 30,000 30,000
CHE AL D222 212,133 209,133 3,000
206 M= 4l 3,000 0 3,000
01 M=l 3,000 0 3,000
Osdgds 2HS M 7
10,0002 *150J4+23] 3,000 0 3,000
CHEate S22l 686,442 684,442 2,000
206 M=4l 2,000 0 2,000
01 =4I 2,000 0 2,000
O==Altlg &8l ¢ 5,000 *400% 2,000 0 2,000
OQigae 8 XSG (IR E252 50,000 0 50,000
403 XX SHHSK=01H 50,000 0 50,000
02 B 2S0ICHEH A2 E L EF AL I 50,000 0 50,000
OtiSate ®e XISSHAIE (1X) E25 74|
50,000,000& *12] 50,000 0 50,000
CHEAHE ST 2 240,000 0 240,000
= 67,500 0 67,500
= 172,500 0 172,500
401 Al&HIZ 20| 240,000 0 240,000

- 201 -




2A:

X XH -
o=

B =PheePNFE =]
CHEAEAIZ &S

o2l =S AHEE J|BFAIEZ JH| (CHol: &S1)
SN - GA(SH) - NRAY - BES 0] a0t ol & o HlRE2
< 67,500 0 67,500
= 172,500 0 172,500
01 AlIEHI 240,000 0 240,000
OUSLHE WSS e EXIZ A
40,000,000 670 2~ 240,000 0 240,000
& 67,500 0 67,500
= 172,500 0 172,500
HEF=HZ =Xt2tel 60,000 0 60,000
401 AIEHIZ 2018 60,000 0 60,000
01 AlEHI 60,000 0 60,000
OUSFAHZ 0tAE ZMRI| A
2,500,000& *24a 60,000 0 60,000
JNLE Al XA 2,112,690 2,163,000 250,310
INSEAl EXEA A2 2,112,690 2,163,000 250,310
PN SA S 45K (2 SHEEXR) 2,112,690 2,163,000 50,310
307 212t01& 2,112,690 2,163,000 50,310
02 QIZHBAAIH E X 2,112,690 2,163,000 250,310
OHBANSK SLUXR SHE &2 L |
ElEONEE Z2& 739,690,000&*13] 739,690 770,000 230,310
OMNEZHI|XF FHUHEL ASAIA
Z& 1,373,000,000&+13! 1,373,000 1,393,000 220,000
JIHEANEAME & 2 FHASIHEFE 8435t 1,251,800 1,251,800 0
| 500,000 500,000 0
& 150,000 150,000 0
= 601,800 601,800 0
g IHASHEF=E 2EHAE= i3] JHE Jlgt @4 1,240,000 1,240,000 0
| 500,000 500,000 0
T 150,000 150,000 0
i 590,000 530,000 0
Yot DHIOF AXX 242 SFIAIL(ETAY) 1,000,000 1,000,000 0
| 500,000 500,000 0
L= 150,000 150,000 0
i 350,000 350,000 0
201 22 1,000,000 0 1,000,000
| 500,000 0 500,000
= 150,000 0 150,000
= 350,000 0 350,000
03 A2 G| 1,000,000 0 1,000,000
02024 F DEHIIOH AZ=x 2t SSHAY
1,000,000,000& *12] 1,000,000 0 1,000,000
| 500,000 0 500,000
= 150,000 0 150,000
= 350,000 0 350,000
308 RXIHMSOIH 0 1,000,000 21,000,000
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A HSIEXA

HH: QT ADNSAY ¥ B FHNSUZFEE 2H5)
Col ot FMNSUIFTH SEAZE (43 A Jlg 4 (ol 29
SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2
I 0 500,000 500,000
= 0 150,000 A 150,000
= 0 350,000 A350,000
13 2I|2S 0 1,000,000 1,000,000

- =

02024 & 2l

2% 0% 0 1,000,000 A1,000,000

| 0 500,000 500,000

= 0 160,000 150,000

2 0 350,000 350,000

S 2 o 2| (1202 TR 47,640 43,640 4,000

o= 2| 47,640 43,640 4,000

Dl NI Jl= A 23,260 20,060 3,200

202 it 6,400 3,200 3,200

NETEE 6,400 3,200 3,200

OJIXRAE SHSY SN

AT 20,0002 4014602 6,400 3,200 3,200

SIEENEIBIEET 6,040 5,240 800

202 o1t 2,400 1,600 800

NETEE 2,400 1,600 800

Oloil] 2,400 1,600 800

OJIUEA RAH2Y S

AT 20,0002 +3% +402 2,400 1,600 800

Hess 2,359 0 2,359

EpE 2,359 0 2,359

EpNES 2,359 0 2,359

802 Brek30IE 2,359 0 2,359

2 Al - CHIZEZHES 2,359 0 2,359
020234 AUHE 2TAY THIEES B

=N 2,358,71021%13] 2,359 0 2,359
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